
IEEE Transactions on Parallel and Distributed Systems, 3(1):25-44, Jan. 1992.

� ���������
	���
��������

���������������! "�#�%$&�'���)(+*-,#��,#.���/0,�1+ 32%4356��.6�7�)���%.8���:9;$6�����
$+16<&(+���)(6�=.��=2�$6.�1&���'<&(6�:.�>?56��.@�7�)���A.����:��<&(
,#��,#.8��/B,#.6(+1+ "�)���'����43<+2������7.�<6<6�)�72��)(C2�$6��.�16��$D��<�EF�)G�1+4H(84H�%2���<+2�IDJLK8M)N+,D1+ 32%4H�%2������O43<P2����7�7.�<6<6�)�72%43.�<
<6��2%9Q.���R0$&�TS��
���)�7��<P2% 3/VU&����<W(+�)�X43��<6�)(W��<&(ZYT.��:43,#5+ 3��,#��<+2��)(\[B]^2%/P5+4H���T �E�(6��<&�7��*-$&�T _ HI`�'����$+432��)�7*
2�16����a+9:$6�����b�c�%��2Q.�>�56��.@�7�)���%.����O4H�O d43<6�)(e165f.�<g.�<6�B�X4H(+�B.�>h�c56��.@�7�)���%.���*-,#��,i.���/c43<P2����7�7.�<6<6�)�72%43.�<
<6��2%9Q.���Rj��<&(k�W�A��2#.�>
,#��,#.8��/l,i.@(+1+ 3�)�C d43<6�)(m165n.�<k2�$6�`.�2�$6���g�X4H(+��ao4p�0�A$6.!9;<q4"<mrs43��16���lt8[
uQ$6�=,#��,#.���/�$+43�����'����$+/#�7.�<&�X4H�%2��o.�>�56�%43S���2��B������$6�)�Qvia� 3.@���! �,i��,#.��%43�)�?woxya6��<&(i�
�%$&�����)(#�� 3.�U&�! 
,#��,#.8��/
xy[�z�{&��,#5+ 3�)��.�>&�%1&��$C�'����$+432��)�72�16���)��|%�T 32�$6.�16��$c5&.P���}4"U+ 3/c9Q432�$6.�162�2�$6�~�7.�,i5+ "��2��~,i��,#.���/
$+43����������$+/&�=43<&�� 31&(+�02�$6���;<+43S������X432%/W.�>:�� d _43<6.�4H�e�?�)(6���
,g����$+43<6��J3t)M�NXa�2�$6�f�Q�Q���o162�2����A�&/W,D1+ "2A4"*
56��.6�7�)���%.��cJLM�N�a+2�$6�
�;�b���� 32������7.8,#56162����
J3tT�)NXa@�'<&(02�$6�B�%�~���:�oK#,g����$+43<6�gJLK6t7N�[

� <6�0.�>:2�$6�g,f���%.��c56��.�U+ 3��,f�#�����%.@��4H��2��)(W9Q432�$q2�$6�)�%�0������$+432��)�72�16���)��4H�D2�$6�0�X 3.�9��� 3.�U&�T ~,i��,#.���/
�����7�)�����62�$+1&�?2�$6�B�7����43��<P2:,g��<&������,#��<+2Q.�>� 3.6���T h,#��,#.8��/f��<&(g56�%43S���2��
������$6�)�o4H�QS�����/C4",i5&.���27��<P2T[
�\.6���T h,#��,i.���/i4p�;����<6�����! d 3/01&�%�)(e2�.f�%2�.����B�7.@(+�D��<&(056�%43S���2���(6�'2��D�T 32�$6.�16��$��%$&�����)(0(6��27�#����<0U&�
2���,#5Z.������A4d 3/0�%2�.����)(c43<g ".6���T h,i��,#.���/#���O43<WJL�TN�[���<`�%.8,#�b�A��<&�%��a+9~�B�7.�1+ H(0���T/#2�$&�'2� 3.@���! �,i��,#.���/
�T _ 3.�9��Q�X43<6�� 3�
�7.�5P/g������$+43<6�&[ouQ$6�b(+�)��4H�X43.�<0.8<f9:$&�'2?9Q4_ _ hU&�B�%2�.8���)(c43<g 3.@���T �,#��,i.���/#��<&(C>�.��o$6.�9
 3.�<6�&a���<&(�.8<W9:$&��2c9Q4_ d Q����,f�T43<�43<l�� 3.�U&�! ?,#��,#.���/V4H�B��<+2%43���7 3/j(+.�<6�f��2
�7.�,i5+4d 3��*-2%43,#��[ � <q2�$6�
.�2�$6����$&��<&(\a+������$+43<6�=43<c432���1&�%1&�T &�%��<&�%�o4H���:��16<6*-2%43,#�Q56��.@�7�)����[���2�4H����162�.�,g��2%4H��43<D$&����(+9:������*-U&�8�%�)(
������$+43<6�W,#�)��$&��<+4H�%,f�#��<&(j���'<lUZ�g���%�)�)�T &¡-�7¢i4"<k�A.�,#�i4"<&�A2���<&�7�)�c43<£�A.�>�2%9:������*��8���X4H�%2��)(W����$6��,#�)��[
uQ$6�D1&�%�#.'>� ".6���T ?,#��,i.���/g4H�B<6.�2;43<&�7.�,#5&��2A4"U+ 3�g9Q432�$�2�$&��2=.�>~56�A4"S���2��#������$6�)��[ � <¤2�$6�C�7.8<P2��7����/�a
2�$6��/0����<¤�7.8,#5+ 3��,#��<P2;�)����$0.82�$6���)[?¥;.�9~��S8���)a84"<V2�$+4H�Q5&��5Z���)a69Q�B���)�%2��A4p�72;.�16���%�7 3S��)�;2�.#�#�%2�1&(+/g.�>
������$+43<6�f.�>?�%$&�����)(gS!���%4H��U+ 3�)��[

uQ$6�c56���)�%��<&�7�
.'>¦,D1+ 32%435+ 3��56�A4"S���2��D������$6�)��43<P2���.@(+1&�7�)�;2�$6�c9~�7 _ 3*-R+<6.!9;<¤������$6���7.�$6������<&�7�
56��.�U+ 3��,
J_§)NX[¦¥=����(+9:�����:U&���%�)(i56��.�2�.6�7.� H�o2�.��A.� 3S���2�$6�b������$6�B�7.�$6������<&�7�B56��.�U+ 3��,������=9Q�7 _ �16<&(+���7�%2�.+.@(C43<`�
�%$&�����)(+*-U61&�:��<+S�43��.8<6,#��<P2c|���[¨�Z[3a\J3t�§�a&©�©6aZK�©+a&K+§)N-�7[?¥:.�9Q��S����Q2�$6�)�%�D�%.� 3162%43.�<&�=����<6<6.�2:UZ�D�7{@2���<&(+�)(
2�.�2�$6�0(6��<&�7��*-$&�T _ :,D1+ "2A4"56��.@�7�)���A.����#�X43<&�7�02�$6��/�,f��R��g1&�%�g.�>:2�$6�#43<&�%27��<P27��<6��.�1&�cU6��.P��(6���8�%2���<&(
E��%<6.+.�5+/@Ii,#�)��$&��<+4H�%,f�;56��.�S�4H(+�)(VU+/02�$6���%$&�'���)(+*-U61&��[Bª�.'>�2%9:������*������X4H�%2��)(�J3t)«¬a&©�M6a&©@§Pa&K�K6aZK��6aZ­P«TN
��<&(V(84"���)�72�.���/+*-U&���%�)(�J3t�a6­6a\§Pa&K��+a6­Zt�N�����$6��,i�)��������1&�%1&�! d 3/���(+S�.6����2��)(i43<¤�%1&��$¤�'<0��<PS843��.�<6,#��<+2)[

t



��<02�$+4p��5&��5&���)a¬9~�=56��.�5Z.P�%�
�D�%.�>-2%9:������*������}4p�A2��)(#������$6�
�7.�$6������<&�7�
����$6��,#�B9:$+4H��$0.�S������7.�,#�)�Q�%.8,#�
.�>\2�$6�Q43<6�7����43��<&��43�!�Q.�>\56����S84".81&�~�'5656��.P����$6�)��UP/D1&�X43<6�D�
�7.�,DU+43<&��2%43.�<#.'>s�B�7.8,#5+4_ "��*-2A4",i�B,f����R843<6�
.�>#���7>-������<&�7�)�`�'<&( �q$&����(+9:������*-U&�8�%�)(n 3.@���! 
43<&�7.�$6������<&�7�k(+��2��)�72A4".8< ����$6��,#��[��W�q�T H�%.k��43S��q�
5&���A>�.���,f��<&�7�0��S!�! "1&�'2%43.�<m.�>�.�16�#56��.�5&.P�A�)(j����$6��,i��[j��<mª��)�72%43.�<m©6ao9~�g��43S��02�$6�0<6.82���2%43.�<j1&�%�)(
2�$6��.816��$6.�162=2�$6�
5&��5Z���)[Bª��)�72A4".8< Ki����S843��9��:56����S�43.�1&�B�%.'>�2%9:������*������X4H�%2��)(0��5656��.+����$6�)�;2�.#��<+>-.�����43<6�
������$6���7.�$6������<&�7��[o��<eª��)�72%43.�<f­ZaP�B�7.�,#5+ 3��2��B(+�)���7�%43562%43.�<0.'>�.�16�Q��5656��.P����$D4H���'4"S8��<�[�] �7.������)�72�<6�)���
56��.+.�>?.�>?.�16�=56��.�5Z.P�%�)(�����$6��,#�c4H�=��43S���<��7 p�A��9:$6�����`JL©��)N���<&(�4p�=.8,D432�2��)(V$6������[cª��)�72%43.�<WM#�'4"S8�)�B�
G81&��<P2A4"27��2%43S��f�7.�,i5&���%4H�%.�<�.�>:.�16�
����$6��,#�#9�4"2�$W56����S84".81&�
��5656��.+����$6�)��[gª��)�72%43.�< �g56��.!S84H(+�)�
�%.8,#�
�7.�<&�� 31&(843<6�0����,f����R@��[

� ���	�0�i���h������


����.�������,g�
9;�%432�2���<j>-.��f�A$&�����)(+*-,#��,#.8��/l,D1+ 32%4356��.6�7�)���%.��7�#,f�T/q1&�%�`�7{65+ _4H��4"2V5&�����T _ 3�7 
�7.�<&�%2���1&�727�
.��g,f�T/lUZ�¤�7.�<+S���<+2%43.�<&�T b�A�)G�16��<+2%4H�T B56��.������',f�D2����'<&�X>�.8��,#�)(�43<P2�.l�)G81+43S!�T 3��<+205&�����T _ 3�7 
.�<6�)�iUP/
�V���)�%2���1&�72�16�%43<6�W�7.�,#5+4_ 3���#.����V56����56��.@�7�)���A.��c d43R��`���'���T>-�����%�0JL©�­6a�K���N�a��?rO� J K)NQ.��D�?u:��]b� J ©)NX[
uQ$6�B5&���7�T _ "�7 _4H�%, 4H�:�7.�<&�%2��7�T43<6�)(gUP/f(6�'2��D(+��5&��<&(+��<&�7�)��
��������}¢��A�@�T &¢��T ��7�)a��� &¡����}¢8�%�@�T &¢��T ��7�)a���<&(
���+¡ ���+¡��}¢��A�@�) Z¢��) ����TJL©�K�NX[¦����2! D��<&(" $#�UZ�B���)��(g.�5Z������2%43.�<&�;��<&(&% �'<&(&%'#&U&�c9:�%432��B.�5Z������2%43.�<&�~4"<
�c56��.����7��,`[( b4H�:(+�*)&<6�)(g2�.DU&�=�&.�9:*�(+��5Z��<&(+��<P2:.8<+%n4_>�2�$6�=,#��,#.���/c 3.6����2%43.�<09:�%432�2���<fU+/,%m,f�T/
U&�D���)�8(gUP/& +[-% 4p�=(+�*)&<6�)(V2�.#UZ�C�'<P2%43*�(+��5Z��<&(+��<P2B.�<. c4_>?2�$6�
,i��,#.���/i 3.@����2A4".8<`���)��(eUP/& c,f�T/
U&�i H��2����c9:�%432�2���<qUP//%c["%�4H�c(+�*)&<6�)(q2�.`UZ�f.�162�56162�*�(+��5&��<&(+��<+2D.�<0% # 4d>=2�$6�#,#��,#.8��/V ".6����2%43.�<
9:�%432�2���<0UP/&% # ,f�T/gU&�= H��2����=.�S�����9:�A4"2�2���<fU+/"%
[

1B��2��=(+��5&��<&(+��<&�7�B���7 p�'2%43.�<&�%$+435��',#.�<6�
�%2��'2���,#��<+2��\43<f�=56��.�������,�����<DU&�;������56$+4H���T _ 3/#����56���)�A��<P2��)(
U+/`�D H��UZ�7 "�)(�(84"���)�72��)(V,�1+ 32%43���7��56$W���T _ "�)( ¢���¡��`¢8�%�@�T &¢��T ��7�!28�3�F��4P[�u�$6��<6.6(+�)�;.�>?2�$6�
�8����56$¤�'���
�%2��'2���,#��<+2��O4"<02�$6��56��.8������,���<&(V|65�798:5<;=8?>8��4H�o43<02�$6�
���7���%��2o4_>?��<&(g.�<+ 3/#4_>-5<;:4H��>T*�(+��5&��<&(+��<+2=.�<
5 7 [

��<g5&�����! d 3�7 h56��.�������,g��a�����43<`�%�)G816��<+2%4H�T �56��.������',f��a�,#.P�A2?.�>�2�$6�=�7{@�)�7162A4".8<02%43,#�:4H�Q�%5Z��<P2o43<g 3.P.�5&��[
�W�B(84H�%2%43<6��1+4H�%$`UZ��2%9~����<A@��T�?����B�BC�D�7��EFaGFH�DIJBKB�BC�D�7��EFa+��<&("FL�DIM�)�N�=E*ELBO�$�7��E�[	@��)�*����B�BC�D�F��E~������ ".+.�5&�
9Q432�$e4"<+2�����* 432����7��2%43.�<¤(+�7 H�T/0�)G81&�T ¦2�.#2�$6�B�7{6�)�7162%43.�<�2%43,#�
.�>�2�$6�c9:$6.� 3�B 3.+.�5`UZ.@(+/�|-4�[¨��[pa+432�������2%43.�<

©



������<6<6.�2;U&����43<`16<+2%4_ \432�������2%43.�<����jt')&<+4H�%$6�)�7��['FH�$ILBKB' 3.P.�5&�;�����; ".+.�5&�Q9�4"2�$02�$6�
(+�7 H�)/g�)G81&�T �2�.#«
|-4�[¨��[3a\�T _ �432�������2A4".8<&�:.�>~� FL�DILB�B6 3.+.�5W����<`UZ���7{6�)�7162��)(W�7.8,#5+ 3��2��7 3/043<W5&�����! d 3�7 -��[�FL�DIM�)�N�=E*Eo ".+.�5&�
J3t�t7NZ$&�)S8���B(+�7 H�T/#UZ��2}9Q����<f«B�'<&(D2�$6�:�7{6�)�7162%43.�<g2%43,#�:.�>\2�$6�Q 3.P.85#U&.6(+/f����1&�%�)(CUP/c43<P2�����* 432�������2%43.�<
(+��5&��<&(+��<&�7�)��[MFH�DIJBKB6��<&( FH�DIM�T�3� E?E� 3.+.�5&�;9Q4_ d ?�T H�%.#UZ�����T _ 3�)(g�<���N��B�Bd�$B BC�D�7��EF[

�W�������%16,#�V2�$&��2f� 5&�����T _ 3�7 
56��.����7��,�4H�f�7.8,#5&.P�A�)(j.�>��W�A��2f.�>������
	���
qJL©�MTN�9;$+4p��$£�'���`�7432�$6���
5&�����! d 3�7 : 3.+.�5&�c.����A���%4H�T :������43.�<&�cU&��2%9Q����<l2�$6��,`[¤z¦{@�)�7162A4".8<j.�>b��<�432����7��2%43.�<j.�>��V5&�����T _ 3�7 Q 3.P.�5
�7.�<&�%2A4"2�162��)�
��<V43<&�%2��'<&�7�#.�>~2�$6�#��5&.6��$�.�>~2%/+5&�D5&�����T _ 3�7 ? 3.+.�5�[D]��%���%4H�T ?�����'4".8<`4H�c�0�%5&�)��4H�T :2%/P5Z�
.�>?��5Z.@��$�9:$+4H��$�$&���Q.8<+ "/V.�<6�B43<&�%27��<&�7��[:�X<+4"2A4p�! d 3/�a�9Q�������%16,#�
2�$&��2:.�<+ 3/`.8<6�B 3��S��7 �.�>?<6�)�%2��)(A1=.
 3.P.85&�=4H�=2�.0U&�D�7{6�)�7162��)(W�7.�<&�716������<P2A "/q|-4�[¨��[pa\.�<+ 3/ (84���������<+2=432�������2%43.�<&�=.'>��g5&�����! d 3�7 � 3.+.�5l����<�U&�
�7{6�)�7162��)(V43<W5&�����! d 3�7 Q.�<�,�1+ 32%435+ 3�g56��.@�7�)���%.����7�7[
�X<lª��)�72A4".8<W­&[¨­&a\9Q�D9Q4_ _ �(84H���71&����2�$6�#�����%�D9:$6�����
2�$6�B5&���7�T _ "�7 �56��.��8����,�,f�T/f$&�TS��B<6�)�A2��)(g5&�����T _ 3�7 _4H�%,`[

]B����<
�7{&��,#5+ 3��aP�7.8<&�X4H(+����2�$6�Q56��.������', �%���8,#��<P2��%$6.�9:<cU&�7 3.�9
[���2�$&���s2%9~.;��5&.6��$&��a8.�<6�:�7.�<&�X4H�%2%43<6�
.�>&2�$6��1=.�]B�7��.P���Z 3.P.�5��\��<&(c2�$6�o.�2�$6�����7.�<&�X4H�%2%43<6�
.'>&2�$6�~�%���A4p�! ��7.@(+�:�T>-2�����2�$6��1=.�]B�7��.P���Z 3.P.�5g|-4�[¨��[pa
5�� «c��<&(D2�$6�=�%���%4H�T & 3.+.�5��Z��[�uQ$6�M1=.�]b�7��.P���s 3.P.85#$&����2%9Q.B(+��5&��<&(+��<&�7�)�:
:�;�&.�9k(+��5&��<&(+��<&�7��>��
����1&�%�)(gU+/g2�$6�
(+��5&��<&(+��<&�7/VU&��2%9Q����<��B|�� 8��Z��|-43<.5����~��<&(���|��68��Z��|-43<.5��T�?��<&(0���&.!9 (+��5Z��<&(+��<&�7�
>��B����1&�%�)(eUP/g2�$6�
(+��5Z��<&(+��<&�7/¤UZ��2%9~����<���|�� 8��Z�?|-43< 5����Q��<&(���|����kt�8��Z�?|-43<.5��T�7[

1=.�]B�7��.P�����! t�8#" �
1=.$�� t�8#" �

5 � 
 ��|��68��&�%�'&(&)&

5���
 &)&(&*�+�B|�� 8��Z�-,���|��.�jt�8��Z�/&(&)&
zo�!1 1=.

z?�M1 1=.�]B�7��.P���
5���«
1=.��0 t�8#"�1

52� 5�,2�B|���8Tt��
z?�M1 1=.

K



� �k� ���#������
������#���	�:
�
�� 
 ��� �;�
�T���s
Q���
��
��;
�
�� 
?��
��Q� �;��
	�

��<nJ_§�N�a��?��<&�X43�����'<&(¤r¬�)��162��%43���
(+�*)&<6�)( ���D��������� E:�:4P�����g¡������ �?�=4+�)�%�) Z¡ � �#¡�4P�g�D��BC�+�f�%�)¡��+�7 &�7¢
�� /�V�%�?��¢"��E
¡�4P�g�D��BC�+� 2�� �)�T ����g¡�4P�,BC��¡-� EF¡ EF¡��8�}� � �H¡�4�¡�4P��E:���D� ��¢�¢��%� E?E�[��V.P�%2;.�>?2�$6�
56����S�43.�1&�
���)�%�)�'����$W(+.�<6�D.�<���<+>-.�����43<6�¤���8��$6�#�7.�$6������<&�7�g�����%16,#�)(��%$&�'���)(V���)�%.�16���7�)�B�A1&��$W���B�g�%$&�����)(VU61&�
J3t�§�a6©�©+aPK8©6aPK+§TN&.��Q��(843���)�72�.���/`J¨­6a¬§PaPK��¬a�­&t�NX[¦u�$6�)�%�b�A$&�����)(i���)�%.�16���7�)�o������a+$6.�9Q��S����)aP��$+43<&(+����<&�7�
2�.�9:����(6�=�����T H��U+4_ _432}/�[D]��%$&�'���)(+*-U61&�;4H�
����2�16����2��)(V���B�%.+.�<W���=2�$6�D<P16,DUZ���
.�>?56��.6�7�)���%.8���B�%$&���%43<6�
432B�7{¬�7���)(6�B�A.�,#�D2�$6���)�%$6.' p(�|}�7����2��T43<+ 3/`U&�7 3.�9�t)«�«i56��.6�7�)���%.��7�7��[!1;43���)�72�.��%43�)�=�7432�$6���
����.!9  d43<6�)���A "/
9Q432�$n2�$6�0<P16,DUZ���#.�>B56��.@�7�)���%.���Y!���8��$6�g5&�T43���VJ_§�a?K��+a�­&t7N:.��Ta�4_>
2�$6�0��<&�7.@(843<6��4H�#,#.8���f�7�0��4"��<+2)a
2�$6�B56��.82�.@�7.' p�����7 3/f.�<0U6��.P��(6�����%27��J ­�N\2�$&��2:�%$6.�1+ H(0UZ���TS�.�4H(+�)(i43<`�#�����! p�'U+ "�c,D1+ "2A4"56��.@�7�)���A.��)[	�W�
�����i2�$6�����7>-.����f�%�)�'����$+43<6�e>�.��D�T 32�����<&��2A4"S8�)�B2�$&��2
(+.V<6.�2��8���%16,#�f�'<P/��%$&�����)(����)�%.�16�7�7�#U6162
�� 3.�U&�! 
,#��,#.8��/¤��<&(V2�$&�'2b(+.0<6.�2=1&�%�#U6��.P��(6�����%2T[ � 16�D��5656��.P�8��$�a\��<V43<&�%2���<&�7�#.'>~�WE��%�7 _>�* 43<+S!�T _4H(6��2%43.�<&I
������$6���7.�$6������<&�7������$6��,#��a+4H�;U&���%�)(g.�<`�%.'>�2%9:�����B�����X4H�%27�:��<&(i 3.@���! ¦�7.�$6������<&�7�#��$6�)��R6��[

uQ$6�Q�X43,#5+ 3�)�%2¦�A.�>�2%9:������*��8���X4H�%2��)(=������$6�?�7.�$6������<&�7�~����$6��,#�O4H�\2�.�(84H���T _ 3.�9 ���8��$+43<6�=.�>¬�A$&�����)(=���)��(ZYT9:�%432��
(6��2���>�.��;2�$6�B��<P2A4"���
56��.��8����, J¨­+«)NX[?uQ$+4H�Q4H�=�����7.�,#5+ _4H�%$6�)(VU+/`�#�7.�,#5+4_ 3��*-2%43,#�D,f����R843<6�#.�>~�%$&�'���)(
S!�'�%4H��U+ 3�)�g2�$&��20�����09:�%432��'U+ "�W���C<6.�<6*�������$6�)��U+ 3��[ u�$6�`,#�)��$&��<+4H�%, 4p�0�}4",i5+ "��U6162i43<6�7����43��<P2e4"<
2�$6�0�%��<&�%�g2�$&��2B��S�����/W���7>-������<&�7�f2�.`<6.�<6*�������$6�)��U+ 3�`(6��2���4H�
2�.0U&�g>-.���9:����(+�)(V2�.V�� 3.�U&�T ~,i��,#.���/
��S���<�2�$6.�16�8$02�$6�#��(6(+���)���%�)(V(6��2��g�7.�1+ H(VU&�����8��$6�)��U+ 3�f(+16�A4"<6�g5&����27�:.�>�2�$6�D56��.��8����,�9:$6�����B432:4H�
���)��(+*-.8<+ "/0.8�������7�)���%�)(e�7{¬�� 31&�X43S��7 3/VUP/0�#�X43<6�� 3�D56��.6�7�)���%.��)[

us.:.�S������7.�,#��2�$+4p�s5&���A>�.���,f��<&�7�?5Z��<&�T 32%/�a����74p(+��<+U&��16,�JLK8�)N856��.�5&.+�%�)(
�:����$6��,#�o2�$&��2h�! d 3.�9�����$&�'<6��*
43<6�`.�>:2�$6�#������$6�)��U+4_ _432}/�.�>�(6��2��6[D¥:�C4p(+��<+2%4C)&�)(q2�$6�#�7.�<&(8432%43.�<&�c<6�)�7�)�����'��/�2�.`����1&�%�f���8��$6�D43<&�7.�*
$6������<&�7��[:r¬��.�,�2�$6.+�%�
�7.�<&(8432%43.�<&��aZ$6���%$6.�9Q�)(02�$&��2:�T _ ¦�� 3.�U&�! h,#��,#.���/f���7>-������<&�7�)�=����<`UZ�
��.8162��)(
2�$6��.816��$�56�%43S!��2��g������$6�)�b43<&�X4H(+�+1=.�]; _ � 3.P.�5&�c��<&(��%���%4H�T ?�����'4".8<&��[#�o162
������$+43<6�e4p��56��.�$+43U+432��)( 4"<6*
�X4H(+�c 3.P.�5&��9Q432�$043<+2�����* 432�������2A4".8<¤(+��5&��<&(+��<&��43���D|31=.�]B�7��.P���� 3.+.�5&�7��[o��<���(6(8432%43.�<�a\������$6�)�;2�$&��2Q,f�T/
5&.82���<P2A4p�! d 3/`�7.�<+2��T43<0�%2��T 3�B�7.�5+43�)�Q.�>¦(6�'2��
�����:�&1&�%$6�)(0�'2?2�$6�BUZ.�16<&(6���%43�)�Q.�>s ".+.�5&��[O]: 32�$6.�16�8$f2�$+4H�
����$6��,#�B����56���)�A��<P2��o��<g.�UPS843.�1&�Q56��.8�����)���O.!S8���?<6.#�%$&�����)(g(6��2��c������$+4"<6�g��2~�T _ �a+432:�%2%4_ _ ¦�%1 �������¦>���.8,
2%9Q.#43<6�7����43��<&��43�)��[#rs43���%2)a����8��$+43<6�0.�>?���)�8(+*-.�<+ 3/ �A$&�����)(VS!���A4p�'U+ "�)�c��<&(VS!���A4p�'U+ "�)��2�$&��2B�����c�7{¬�� 316*
�X43S��7 3/`�����7�)���A�)(0U+/f.�<+ 3/0.�<6�B56��.@�7�)���A.��Q43<&�X4H(+� 1=.�]b�7��.P���O 3.P.�5&��4H��(84H���! d 3.�9Q�)(\[:ª��)�7.8<&(\a62�$6�
U+ _43<&(
43<PS��T _4H(6��2%43.�<&�g��2B2�$6�#UZ.�16<&(6���%43�)�D.�>o 3.P.�5&���&1&�%$q.�162c,f��<+/¤������$6�f��<+2��%43�)��2�$&��2
$6.' p(�1656*-2�.�*�(6�'2��

­



�7.�5+43�)�;.�>O(6�'2��6[

uQ$6�	)&���%2�43<6�7����43��<&�7/#.'> ���74H(+��<PU&�'16, � �?����$6��,#�Q9:���s5&����2%4H�T _ 3/D����,#�)(843�)(c43<#2�$6�:����$6��,#�)��56��.85&.P�%�)(
U+/f���7]�1+ _4�����JL©@§FN\��<&(g�\����J ©�MTN�[o�~����$6�)��U+4_ d432%/#.�>�S����%4H��U+ 3�)�o4H�Q(+��2�����,D43<6�)(g.�<f�'<#��5&.6��$gU+/#��5&.6��$
U&���X4H��[O�->¦��S!���%4H��U+ 3�=4H�o5&.�2���<P2%4H�T _ 3/g���7>�������<&�7�)(#U+/#,#.����:2�$&��<#.8<6��56��.6�7�)���%.8��43<`�B��43S���<g��5&.6��$���<&(
��2= 3�)���%2B.8<6�#.�>~2�$6�)�%�D���7>�������<&�7�)�=4H�
�g9:�A4"2���a�2�$6�DS!�'�%4H��U+ 3�#4H�B,g����R��)(����=<6.�<6*����8��$6�)��U+ 3�i>�.8��2�$&�'2
��5&.6��$�[ � 2�$6����9Q4H�%��a8432o4H�?,g����R��)(D���o������$6�)�'U+ "��[o]; "2�$6.�16��$#2�$+4H�Q����$6��,#�B����562�16���)�¦ ".6���T _432%43�)�Q9Q432�$+43<
��<0��5Z.@��$0S�����/#9Q�7 _ �a+432��%2%4_ _ h�%1 �������O>���.�,�5&���%>-.���,f�'<&�7�B5&��<&�T 32%43�)�=(+16�B2�.
2�$6�
���8��$6�=�&1&�%$6�)�;��2Q2�$6�
��<&(0.'>¦��5Z.@��$&��[

ª�16U&�%�)G816��<P2A "/V�?$6��.�<6�
�'<&( ���74H(+��<PU&��16, J �+a6t)«�N656��.�5Z.P�%�)(D2�$6��� � EF¡�� EF�$Bd�*�)¡�� �)�M�  &�D��BO� ¢���¡����� 
����$6��,#�
9:$+4H��$k4H�0��< 43,#56��.�S��)(jS8�����X43.�<k.'> ���74p(+��<+U&��16, � �0����$6��,i��[ rs43��16���W©W�%$6.�9��i2�$6�V2}9Q.W5Z.P���X43U+ 3�
�7.�<&(8432%43.�<&��>-.��
�0�%2��T 3�#�����7�)���iJLK��TN�.�<W9;$+4p��$W2�$6�743�c���7>�������<&�7�#,f����R843<6�¤����$6��,#�c4H�BU&���A�)(\[D��<q2�$6�
)&���%2#�7.�<&(8432%43.�<�aQ�`���8��$6�0��<+2���/V4H�c 3.P��(+�)(qU+/l�V9:�%432��gUP/�56��.@�7�)���%.��/�B�'<&(WUZ�)�7.�,#�)�#�%27�T 3�f9:$6��<
��<6.�2�$6����56��.6�7�)���%.8� �i4p���%16�)�B�D9:�%432��c2�.#2�$6�D����,#�B,i��,#.���/g 3.6����2%43.�<�[:uQ$6�D�7.������)�72�<6�)�����7�%432����A4p�i.�>
������$6�f�7.�$6������<&�7�i9~.81+ p( U&�#S843.� H��2��)( 4d>Q56��.6�7�)���%.�� �Q9Q�����#�%2%4_ _ ��T _ 3.�9~�)( 2�.`�����7�)���=9:$&�'2=4p��<6.�9y�
�%2��! "�0�7.�5+/V4"<�432��
���8��$6��[�ª�43,D4_ H���% 3/j�`�%27�T 3�������7�)���=4H�c5&.P���}4"U+ 3�09:$6��<q2�$6�0������$6�#��<P2���/V4p�� 3.P��(+�)(
U+/ �e���)��(�,D4H���
�'<&(WUZ�)�7.�,#�)�c.�U&�%.� 3��2��iUP/W�09;�%432��#>-��.�, �'<6.�2�$6���
56��.@�7�)���A.��)[g��<q2�$6�743�#����$6��,i��a
�)����$k���)�8(j���7>-������<&�7�V4H�g,f����R��)(n��2f�7.�,i5+4d 3��*-2%43,#�q���#�7432�$6�����D�����8� �$�}�%�*��¢q|�2�$6�V���7>-������<&�7�`,f�T/
5&.82���<P2A4p�! d 3/0�����7�)���Q�D�%2��T 3�B�7.�5+/D43<f2�$6�B������$6����.��!�*���:4+�:�}�%�*��¢c|�.�<0�B$+432)a+432o4H�o��1&������<+2����)(D2�$&��2Q2�$6�
������$6�D��<P2���/g4p�=1656*-2�.�*�(6��2�����[=�:.82%4H�7��2�$&��2b�}4"<&�7�i2�$6�)�%�D���7>-������<&�7�D,f����R843<6�P���'����(+.�<6�#��2B�7.�,#5+4_ 3��*
2%43,#��a6��S8����/f���7>�������<&�7�c2�.f�#�A$&�����)(gS!�'�%4H��U+ 3��2�$&��2:�7.�1+ H(`UZ�
,f�8(+�
�T>�2����~2�$6�
S!�'�%4H��U+ 3�
9:���Q9:�A4"2�2���<
U+/l2%9Q.W(84 ��������<+2#56��.6�7�)���%.8���D�%$6.�1+ H(jUZ�`,f����R��)(l�8� �D���������D�%�%�?��¢VU+/W2�$6�`�7.�,#5+4_ 3����|}�7.�<&(8432%43.�<
t���[ ª�43,D4_ H���% 3/�a=��S�����/q���7>�������<&�7�`2�.l�q�%$&�����)(qS!���%4H��U+ 3��2�$&��2g�7.�1+ H(kUZ�`,f�8(+�¤�T>-2����#2�$6�0S����%4H��U+ 3�
9:���Q���)�8(0U+/0.�<6�D56��.@�7�)���%.�����<&(V2�$6��<V9:�%432�2���<VUP/`�'<6.�2�$6���=56��.@�7�)���%.��B�%$6.�1+ H(��T H�%.fUZ�
,f�'��R��)(`�8�
�D���������$�}�%�?�8¢#|}�7.8<&(84"2A4".8< ©@��[?r6��.�,�2�$6�
��UZ.�S��B2%9~.#�7.�<&(8432%43.�<&��aZ4"2�4p�;�)���%/02�.f�%���B2�$&��2;,#.P�%2:���)��(
���7>-������<&�7�)�B2�.��%$&�'���)(VS!���%4H��U+ 3�)��9Q4_ d QU&�#,g����R��)(V��� �D���������D�%�%�?��¢iUP/02�$6�f�7.�,#5+4_ 3���)[c��<l��(6(8432%43.�<
2�.c2�$6����UZ.!S8���7.�,#5+4_ 3��*-2%43,#��(+��2��)�72%43.�<�����$6��,#�;>-.��~�%27�T 3�������7�)���%�)��a@� �:4 �8  2�� � �H¡¬4H�Q�����%.6��4H��2��)(D9Q432�$
�)����$09Q.���(C4"<02�$6�
������$6��[��X2��Q,f�T43<05616��5Z.P�%�=4H�Q2�.#�T _ 3.�9 ������$+43<6�#.�> �D���������$�}�%�*��¢B���7>-������<&�7�)�Q2�$&�'2
.6���716�?,#.����:2�$&��<D.�<&�7��(+16�A4"<6�#��<C4"<&�A2���<&�7�:.�>h��<D��5Z.@��$�[?uQ$6����$&��<6���;U+4"27��.�>�2�$6�:��<+2%43�������8��$6���'���
�%��2Q��2�2�$6�:UZ����43<6<+4"<6�i.�>��)����$#��5Z.@��$D43<&�%2���<&�7��[O] �*��� 4P�:�%�}�*��¢�4p�O�7{@�)�7162��)(f����1&�A1&�T �a�43�����)�%5&�)�72%43S��=.�>

M



2�$6�
��$&��<6���BU+432)[o�->?� ��������� �$�%�}�*��¢�4H�Q4H���%16�)(V��<&(g2�$6�����=4H�:�i�7.�5P/g.�>h2�$6�
�7.������)�%5Z.�<&(843<6�f,i��,#.���/
U+ 3.@��RV43<W2�$6�#������$6�#9Q432�$�2�$6�#��$&�'<6���DU+4"2D�%��2)a\2�$6�#������$6�#�7.�<+2���.� _ 3���
$&���=<6.g4H(+�)�e.�>?9:$6��2�$6���c2�$6�
�7.�5+/D9��8�s ".+��(+�)(f�!>�2����o2�$6�Q H���%2o9:�%432��:.'>�2�$6�=,#��,#.���/
U+ 3.@��R#.���<6.82)[�uQ$6�����7>-.����:2�$6�=�7.�<P2���.� _ 3���~$&�8�
2�.D2���R8�b�D�7.�<&�%����S!��2%43S��D��5656��.P�8��$0��<&(g2�$6�=���)G816�)�%2Q4H�:�%����S84H�7�)(0U+/f2�$6���� 3.�U&�! h,#��,#.���/�[¦¥;.�9Q��S����)a
432c4p�C5&.P���}4"U+ 3�02�$&�'2
2�$6�0�7.�5+/W9:���=43<&(+���)(q 3.P�8(+�)(l�T>-2����c2�$6�# H���A2�9;�%432����'<&(�4H�D1656*-2�.8*�(6��2���[`uQ$6�
�7{62�����<6��.�1&� �D�����8� ���%�?�8¢c4p�c(+16�#2�.02�$6�C d43,D432��'2%43.�<W.�>:2�$6�#�7.�,#5+4_ 3��*-2%43,#�`��<&�! "/6�X4H��[#����<+/`,#.8���
���)��(V���)G816�)�%2��=2�$&��<�<6�)�7�)��������/V9Q4_ _ ?U&�f(843���)�72��)( 2�.f2�$6���' ".8U&�T ?,#��,#.���/�|����)���T _ ?2�$&��2=,#.P�A2����)�8(6�
>-��.�, �%$&�����)(qS����%4H��U+ 3�)�g�����g,f����R��)(j�8� �D�����8� �$�}�%�*��¢���[juQ$6�����7>�.����f2�$6�0<6��2%9Q.���R�2����T���i9Q4_ _ �U&�
16<&(+1+ 3/043<&�7���)���A�)(`��<&(e2�$6�
�����T H��U+4_ _432}/V.�>�2�$6�
����$6��,#�=4H�Q43<¤G816�)�%2%43.�<�[

] ����$6��,#��2�$&��2D4H�gS�����/k�X43,D4_ p�'�02�.j�?$6��.�<6�j��<&( ���74H(+��<PU&�'16, � �g9:���c43<&(+��5&��<&(+��<+2% 3/ 56��.85&.P�%�)(
U+/m�?/P2���.�<k��20�T �[�J3t)©TN�[ uQ$+4H�0����$6��,i�¤1&�A�)�#2�$6�W���',#�¤�7.�,i5+4d 3��*-2%43,#�q��<&�T 3/@�}4p�g2�. (+��2��)�72`�A2��T 3�
�����7�)���A�)�:��<&(\a+2�$6�����7>-.�����a+�%1 �������O>���.8, 2�$6�b���',#�b�����T H��U+4_ d432%/g56��.�U+ 3��,`[o��<V�?/P2���.�< � �OS������X43.�<�a62�$6�����
4H�=<6.`��$&�'<6���
U+432)[B�X<&�%2��)��(\aZ43<+2�����* 43<&�%27��<&�7�c ".6���T _432%43�)�D���������'562�16���)(VUP/`���'���7>�1+ _ 3/�,#.�S�43<6�`����.�16<&(
43<PS��T _4H(6��2%43.�<m43<&�%2���1&�72%43.�<&�0�%.W2�$&�'2f������$6�`��<+2��%43�)�D 3.P�8(+�)(k(+16�%43<6�j2�$6���716������<+2D43<&�%2���<&�7�W�����0<6.82
<6���)(8 3�)���X 3/V43<PS��T _4p(6�'2��)(\[

uQ$6�:����$6��,#�Q2�$&��2�9Q�~56��.�5&.P�A�?43<D2�$6�Q<6�7{62?�%�)�72%43.�<D$&����,f��<+/
�X43,D4_ H���%432%43�)�o9Q432�$D2�$6�B�)�T�6E:�K�8 ,�*�� &¡-�N��B
�7���\�3�$���:4B56��.85&.P�%�)(i��2�2�$6�:����,#�;2%43,#��aP��<&(�43<&(+��5&��<&(+��<+2% H/�a¬UP/g�?$6��.�<6�D��<&( ���74H(+��<PU&��16, JL�TN�[��W�
9Q4_ _ ¦U6�A4"�7�&/`�7.8,#5&�����B2�$6�)�A�
2%9Q.C����$6��,#�)�;��2:2�$6�B��<&(e.�>?ª��)�72%43.�<�­&[LK¬[

r6.8�?�7.�,#5+ 3��2���<6�)���O5616��5&.P�A�)��a+9~�Q,#��<+2%43.�<gª�,D432�$ � �'�� &�=¡�� ���L� ¢��T &¡�� � �)������$6��,#�
JLK�KTN69:$+4H��$D4H��,#.8���
���)�����)(g2�.�9��'��(6��2�$6�
���8��$+43<6�#.�>�S!�'�%4H��U+ 3�)�Q43<¤�7�A4"2A4p���! ¦�%�)�72%43.�<&��[ouh��U+ 3�gtb�A$6.!9=�~�i�%16,#,f����/#.�>�2�$6�
�%.�>-2%9:������*������}4p�A2��)(f���8��$6�
�7.�$6������<&�7�C����$6��,#�)�;(84p���71&���%�)(e43<`2�$+4H�=�%�)�72%43.�<�[

� � ��� � 
Z� ��� ���	� ��
��Q	 
��:
 
�� 
o� 
��~� �:�D
 � 
�
 
��
� �

�
��� ���������������

�W�:56��.�5&.P�A����<#�7{62���<&�X43.�<g.�>�2�$6�:56����S843.�1&��,i��2�$6.@(6�o2�$&�'2�$&����>-.�����.P�! &2�.
����562�16���;,#.����:5Z.P���X43U+4_ _43*
2%43�)�O>�.8�?2�$6�B������$+4"<6�#��<&(i����2���<+2%43.�<i43<f2�$6�B������$6�)�o.�>h�%$&�����)(iS!���A4p�'U+ "�)��UP/c 3.P.8R�43<6�#,#.8����(+����5+ 3/��'2

�



43<P2�����*-��5&.6��$V 3.6���T _4"2A4"�)��[ � 16����5656��.P�8��$�a+ _43R��c2�$6.P�%�=43<`2�$6�B56����S�43.�1&�=�%�)�72%43.�<�a¬4H�QU&���%�)(e.�<`�7.�,#5+4_ 3��*
2%43,#�D��<&�T 3/@�}4p�B�'<&(\a643<W��(6(8432%43.�<�aZ.�<`$&���7(+9��'���
�%16565&.8��2:43<�2�$6��>�.���,�.�>~�7.�16<+2������:�'<&(02����iU+4"27�;4"<
2�$6�
������$6��[

uQ$6�BU&���}4p�;4H(+�)�C4H�:���O>�.' d 3.�9���[ �W�b�8���%.6��4p�'2��
�0E��� 3.@��R@I�|-4�[¨��[3a6�D�7.�16<P2������?9Q432�$0�)����$0�%$&������U+ 3�
(6��27�
�%2���1&�72�16���D|}�������T/�.8�������T H�����o.�>�43<P2������)�%2)[?u�$+4p�=�� 3.@��Ri4p��43<&�7����,#��<+2��)(`�'2~2�$6�
��<&(g.�>��)����$0��5&.6��$e4"<
9:$+4H��$f2�$6�:(6��27�B�%2���1&�72�16��� �����QU&�:,i.@(84C)&�)(e|}�B(+�)��4H�X43.�<02�$&��2�4H��27��R���<#��2?�7.�,#5+4_ 3��*-2%43,#����[	�W���! p�A.
�����A.@��4H��2��#�i2%43,#�)�%2��',#5�9Q432�$��)����$�9Q.���( |->-.���2�$6��2A4",i��UZ�743<6�`9Q�������%16,#�D2�$&��2=2�$6�DU+ 3.@��R¤�X4 � �D4H�
�)G81&�T �2�.
.�<6�B9Q.��7(Z��43<02�$6�B������$6��[ouQ$+4H�?2A4",i�)�%2���,#5i4H�:�%��2o2�.D2�$6��S��T 316�B.�>h2�$6�=���7 3��S!�'<P2��� 3.6��R ,�t
9:$6��<02�$6�=9Q.���(C4H�?165\(6��2��)(i43<02�$6�
������$6��[�] ���7>�������<&�7�B2�.��D������$6�B9~.8��(c4H�QS!�! d4H(�4d>s4"27�Q2%43,#�)�%2��',#5
4H�:�)G81&�T h2�.�.8�:�����)��2����~2�$&��<g432����8���%.6��4p�'2��)(0�� 3.@��R0S!�T 316��[

]B�#��<q�7{¬��,i5+ "��aO 3��2#1&�#�7.�<&�}4p(+���i2�$6�056��.����7��, �%���8,#��<P2g��<&(W2�$6�`�����%.6��4H��2��)(j(6��2��'*�(+��5&��<&(+��<&�7�
�����'56$W��43S���<�4"<jrs43��16���fK¬[fuQ$6�g.�162�56162�*�(+��5Z��<&(+��<&�7�&>��c4H�D����1&�%�)(�UP/�2�$6�f(+��5Z��<&(+��<&�7/lUZ��2%9~����<
�q|��s|������'<&(��q|��\|����D��<&(n2�$6�V�&.!9;*�(+��5&��<&(+��<&�7�)�.>�����<&( > 1 �'���W����1&�%�)(nUP/n2�$6�l(+��5Z��<&(+��<&��4"�)�
U&��2%9Q����<��l|���|�������<&(	�q| �\|�������<&(WUZ��2%9~����<��q|��s|����:��<&(	�l| �\|����:���)�A5&�)�72%43S��7 3/�[���<m�o$6��.�<6�¤��<&(
���74H(+��<PU&�'16, � �D����$6��,#��a\2�$6�#���7>-������<&�7�#2�.��������T/
� 43< 5-1c9Q4_ _ ~U&�i,f����R��)(���� �D�����8� �$�}�%�*��¢f�'<&(\a
2�$6�����7>-.�����a¬9Q4_ d �U&�#(843���)�72��)(e2�.#2�$6�c�� 3.�U&�T h,i��,#.���/�[QuQ$6�
�X432�1&��2A4".8<`9Q.�1+ H(0UZ�C�'U&.�162:2�$6������,i�=4"<
�?/+2���.�< � �:����$6��,#��[:�X<¤2�$+4p�=����$6��,#��aZ2�$6����UZ.�S��
���7>-������<&�7�D9Q.�1+ H(0UZ��56���)�7�)(+�)(`U+/`��<e4"<+S!�! d4H(6��2A4".8<
43<&�%2���1&�72A4".8<l��<&(�UZ�#��S���<+2�1&�T _ 3/ �A����S�4H�7�)(�U+/�2�$6�D�� 3.�U&�T ?,#��,i.���/�[DuQ$6�)�%�#�����D<6�)�7�)�����'��/�U&�)����1&�%�
9:$6��<�2�$6�����c4H�B�0�7.������)�%5&.�<&(843<6�09Q.���(�43<W2�$6�#������$6�
432=4H�=<6.�2=RP<6.�9:<�a��'2b�7.�,i5+4d 3��*-2%43,#��as9:$6��2�$6���
2�$+4H�=������$6�)(e9Q.���(C4p�=�%2��! "�D|�4�[ ��[3a69:�%432�2���<g4"<�w � � �<7����o.��:S!�! d4H( |-4�[¨��[3a69:�A4"2�2���<g43<¤w � � �<7�
���[

��<�.�16�
��5656��.P�8��$�a\9Q�#9Q.�1+ H(������%.6��4H��2��f�0�� 3.6��R�9Q432�$�2�$6�g�������T/
�j[
�X2��;43<+432%4H�T ~S��T 316�#4H�
«0�'<&(0432
4H�Q43<&�7����,i��<P2��)(VU+/¤tD��2Q2�$6�c��<&(0.�>��)����$`��5&.6��$W|�$6�����c5&�����T _ 3�7 � ".+.�5\��43<�9:$+4H��$`2�$6�cS!���%4H��U+ 3��� 4H�
,#.6(84C)&�)(j|�$6�����fw � � � 7�� ��<&(Ww � � � 7�
 ��[D]:>-2����B2�$6� )&���%2= 3.P.85�ah2�$6�C���8��$6�#U+ 3.6��R6�D�7.������)�A5&.�<&(843<6�`2�.
�q|��s|����&9Q.�1+ H(D$&�TS��:�=2%43,#�)�A2���,#5D.�>�t=|}«B|%�� ".6��R�S��T 316��� , t'����<&(i�T>�2����h2�$6�:�%�)�7.8<&(c 3.P.�5i2�$6�:������$6�
U+ 3.@��R6�
�7.������)�%5&.�<&(843<6�V2�.
�q|���|����?9Q.�1+ H(V$&�)S8�C�g2A4",i�)�%2���,#5�.�>:©V|�tg|}�� 3.6��R�S!�! "16���$, t���[J�£$6��<
2�$6�0�%2���2���,#��<P2�5�1D4H�
���)����$6�)(\ao��<&(�4_>�2�$6�����D4H�D�¤�7.8�����)�%5Z.�<&(843<6� ���8��$6�g9Q.���(V>-.����e���7>-������<&�7�f2�.
�q| �\|�����a)2�$6��<#2�$+4H�?������$6�:���7>-������<&�7�:9�4d _ �U&�;S!�T _4H(i4_>�2�$6�:2%43,#�)�%2��',#5c4p�o©6aP�7.8�����)�%5Z.�<&(843<6��2�.��l|���|�����a
��<&(�4"<+S!�! d4H(V.�2�$6����9Q4H�%��[

§



]B���g�%�)�7.�<&(e�7{¬��,i5+ "��a��7.8<&�X4H(+���B2�$6�
56��.8������, �A����,#��<+2���43S���<e43< rs43��16���
­&[Q]=�P�T43<�2�$6�
���7>�������<&�7�
2�.D�������T/ � 43<.5 � 9Q4_ _ hU&�B(843���)�72��)(g2�.D2�$6�=�� 3.�U&�T \,#��,#.���/D43<`�?$6��.8<6�C�'<&( ���74H(+��<+U&��16, � �:����$6��,#�
�X43<&�7�D2�$6�
�7.�,#5+4_ 3���B$&���Q2�.#,f��R��=2�$6�D�7.�<&�%����S���2%43S����8���%16,#562%43.�<02�$&��2:2�$6�BUZ.P.� 3�)��<��7{656���)���X43.�<��T|��
,f�T/`��S��T 31&��2��#2�.02���16��[#�o162=4_>;�� 3.6��R6�D��<&(V2%43,#�)�%2��',#5&�B�����#,g�T43<P2��!4"<6�)(¤4"<�2�$6�f����,i��9:�T/¤�8�;4"<
2�$6�c56����S�43.�1&�=�7{&��,#5+ 3��a\2�$6�c���7>-������<&�7�D2�.#2�$6�D�������T/�� 4"<Ww �
� � 7�� ����<�UZ������2A4p�3)&�)(`U+/02�$6�D������$6�)(
9Q.���(6�O4_>h2�$6��/0�����; 3.P��(+�)(i43<P2�.�2�$6�b������$6�=43<0�7432�$6����w � � � 7�
 43<02�$6�#¡�4P�T #�����%�=.��:w � � � 7�� 43<02�$6�#�DB E��
�����%��[

uQ$6�0��U&.�S��g2%9Q.0�7{¬��,i5+ "�)�i�%$6.�9y2�$&��2D�%.�,#�g.�>:2�$6�i43<6�7����43��<&��4"�)�g.'>�56����S�43.�1&�#�A.�>�2%9:������*��8���X4H�%2��)(
������$6�#�7.�$6������<&�7�f����$6��,#�)�B����<VU&�#����,#�)(843�)(�UP/0$+4H�%2�.���/043<+>-.���,f�'2%43.�<`9:$+4H��$l����<�U&�D�P�'2�$6�����)(`�'2
�7{6�)�7162%43.�<`2%43,#��[

rs43��16���fM0�A$6.!9=�=.�16�
��5656��.P�8��$�2�.`����562�16�%43<6�0 3.@���! d432%43�)�D���7��.+���B(84���������<P2B��5Z.@��$&��[ ���C(843S84H(+�02�$6�
��<&�T 3/6�X4H�o43<P2�.
2%9Q.
5&����27�:
\43<+2�����*-��5Z.@��$`��<&�T 3/6�X4H�~�'<&(D43<+2�����*-��5&.6��$`��<&�T 3/@�}4p��[~uQ$6�;43<P2�����*-��5&.6��$���<&�! "*
/6�X4H�=4H�
(+.�<6�#��2
�7.8,#5+4_ "��*-2A4",i����<&(V���)�A1+ "27�=43<WS!�'�%43.�1&�B,f�'��R�43<6�P�=.'>~���7>-������<&�7�)��[DuQ$6�)�%�#,g����R84"<6�+�
43<&(84H����2��02�$&��2i|�t��;>�.��D�`������$6�g��<P2���/¤2�.`U&�g����*-1&�%�)( 43<q>�162�16���#��5&.6��$&�c432��%$6.�1+ H(qUZ�f��1&�'����<+2����)(
2�$&��2;2�$6�����=4H�:<6.g�%1&���7���)(843<6�09:�%432��
���7>�������<&�7�c2�.D2�$6������,#�B,#��,#.8��/# 3.6����2%43.�<e4"<V2�$6�
����,i�B��5&.6��$�a
��<&( |}©+��>�.8���D���)��(e���7>-������<&�7�
2�.i1&�%���#���8��$6�c��<P2���/# 3.P��(+�)(�43<`5&���%2;��5&.6��$&�;432��%$6.81+ p(VUZ�
��1&���7��<6*
2����)(g2�$&�'2?2�$6�=���)��(i���7>-������<&�7�
(+.P�)�o<6.�2Q$&�TS��B��<+/�56���)�7�)(84"<6�g9:�%432��=2�.c2�$6�
����,#�;,#��,#.���/C ".6����2%43.�<
43<k2�$6�`����,#�0��5&.6��$�[l�X<P2�����*-��5&.6��$m��<&�T 3/6�X4H�D4H�i5&���%>-.���,#�)(j�'2��7{6�)�7162%43.�<n2%43,#�01&�X43<6� �� 3.6��R6�#��<&(
2%43,#�)�%27��,#5&�#����4"<&(84H����2��)(n43<k2�$6�056����S843.�1&�i�7{¬��,i5+ "�)��[ uQ$+4H�D43<+2�����*-��5&.6��$£��<&�T 3/6�X4H�f(+��2��)�72��f�'<P/
43<P2�����S���<+43<6�l9;�%432��f���7>�������<&�7�V2�.�2�$6�0����,#�0,#��,i.���/V 3.@����2A4".8<kU&��2%9Q����<j2�$6�g��5&.6��$ 43<j9:$+4H��$n2�$6�
������$6�
��<+2���/09:���o 3.P�8(+�)(`U+/`�D56��.6�7�)���%.8�b��<&(e2�$6�
.8<6�B43<�9:$+4H��$V432:4H�B�����7�)���%�)(0U+/02�$6������,#�
56��.�*
�7�)���%.8�)[:uQ$6�#��U&.�S��=43<+2�����*Q��<&(e43<P2�����*-��5&.6��$W��<&�T 3/6�%�)��aZ9:$6��<W�7.�,DU+43<6�)(\a\��<&��U+ 3�C�i56��.6�7�)���%.��=.�<��
���)��(V�����7�)���;2�.0�#�%$&�����)(eS!���A4p�'U+ "�i2�.f(+��2��)�72B��<+/09:�%432��
���7>�������<&�7�D2�.i2�$6�����',#�
S����%4H��U+ 3�DUP/0.�2�$6���
56��.6�7�)���%.��7�:�X43<&�7�
2�$6�� H���%2:165\(6��2��B43<V2�$6�
�����%.6��4H��2��)(0������$6�
��<+2���/i43<0432��o 3.6���T ¦������$6��[

�
�	� 
���
�
�� ����� ���������������

� 16�#������$6�f�7.�$6������<&�7�0����$6��,#�f���)G�1+43���)�c2�$6�D>-.� _ 3.�9Q43<6�¤$&�'��(+9:�����#��<&(q�%.�>-2}9:�������%16565Z.���2D,#�)��$&��*
<+4H�%,f��[

�



��������� �
	���
���	������������������

� �� 3.@��Rf������4H�%2������
 "!�#%$&!�'D4H�c2�$6�f�A��2B.�> "�!�#($&!�')*-U+432#�� 3.@��R�������4H�%2����7�
�����A.@��4H��2��)( 9Q432�$W�)����$W56��.6�7�)���%.��T[fr6.8�
�)����$
 �!�#%$&!�'*)+ "!�#%$&!�'#��<&(-,�!�#%$&!�'i.�>?2%/P5Z���%16U6���'<6���#«/.0.L©�1�24365�2�7 �kt�aZ2�$6�c>-.� _ ".�9Q43<6�0.�5Z������2%43.�<&�B�'���
(+�*)&<6�)(\[

8 � � ]L1=*%�~� � �:9  �!�#($&!�' 8;,�!�#%$&!�'c9Q432�$V2�$6�
�%��,f��<+2%4H���M �!�#%$&!�' � ,�!�#%$&!�'

8 �~��z�]B�Q*-]B���q9Q432�$02�$6�D�%��,f��<+2%4H���:
�<, �!�#%$&!�'=)> "!�#%$&!�'8a� �!�#($?!�' � «

� �~����$6�B,#��,#.���/�[��n432�$`�)�8��$09Q.���(i43<V2�$6�
������$6��a69Q�
�����%.6��4H��2���


8 ��<�" !�#%$&!�' *-U+4"2=2%43,#�)�%27��,#5�[

8 �
56��.!S84H�X43.�<&�T hU+432c| � �T��[�uQ$+4H�:U+432Q43<&(84H����2��)�;9:$6��<V2�$6�B��<P2���/#$&���QUZ����<0 3.P��(+�)(�43<P2�.i2�$6�
������$6�D| � �  t= 3.P��(+�)(V(+16�%43<6�f2�$6�
�716������<P2�4"<&�A2���<&�7��a � �  £«D.�2�$6����9Q4H�%����[

8 ��<g43<PS��T _4p(VU+432c|�� �T�Q|����  £«DS��T _4H(\a � �  t=43<PS��T _4p(Z�7[

1=�)��4H(843<6���c�%1+432���U+ 3�
S��T 316�=>�.�� "�!�#%$&!�'=4H�:�c2����8(+��. �`U&��2%9Q����<f2�$6�:43<&�7���)���A�=4"<02�$6�b�%2�.��������;2���R���<#165
U+/`�� ".6��R@�=��<&(02A4",i�)�%2���,#5&�;��<&(02�$6�c���)(+1&�72%43.�<V43<`2�$6�c<P16,DUZ����.�>?�� 3.@��R0.��=2%43,#�)�%2��',#50.�S����%�&.�9��
|}��>�[���<&(0.'>?ª��)�72%43.�<�­&[LK+�7[

�;.�2��g2�$&��2
2�$6�f$&���7(+9��'���f�%16565Z.���2c4H�
56��.�5&.���2%43.�<&�T ~2�.`2�$6�0������$6���X4 � �09:$+4_ 3�g43<k(843���)�72�.���/+*-U&���%�)(
����$6��,#�)��a�2�$6�f�7{62����V$&����(+9:�����D4H�
56��.�5&.���2%43.�<&�T :2�.`2�$6���X4 � �0.�>=�� 3.�U&�T ~,i��,#.���/�[��\��2#1&�D�����A16,#�
�j�%/6�%2���, 9Q432�$=@ 56��.6�7�)���%.����V��<&(m�����%.6��4H��2��)( ���8��$6�)�0��<&(A@ ,#��,#.���/k,#.6(+1+ 3�)��[�uQ$6�����l�'���
x ,i��,#.���/VU+ ".6��R@�7YT,#.@(+1+ 3�0��<&(Wv^U+ 3.@��R6�7Y!������$6��[D��<WUZ.�2�$l(843���)�72�.���/¤�'<&(�2%43,#�)�%2��',#5&�)(VU&���%�)(
����$6��,#�)��a\9Q�D<6���)(B@�,#.8���#�%.�56$+4H�%2%4H����2��)(��7.�<P2���.� _ 3�����c|?@�,#��,i.���/`�7.�<+2���.� _ 3�����b4"<�2�$6�#(843���)�72�.8��/
�����%��aC@ ���8��$6�
�7.�<+2���.' d 3�����~4"<V2�$6�
2A4",i�)�%2���,#5Z�)(g.�<6����[?u�$6�
��,#.�16<+2:.�>h27���#U+432���a+4�[¨��[pa62�$6�
�%2�.8�������
.�S�����$6�)��(\aO4H�gU&��2%9Q����<£©D@�x |�]=����$+43U&�T H(n��<&(k�Q����� � �#����$6��,#�lJ¨­8N-����<&( |?@ ,yt'�?@�x |��?��<&�X43���
��<&( r¬�)��162��%43��� � �0����$6��,i�kJ_§�N-�c4"<�(843���)�72�.���/P*-U&���A�)( ����$6��,#�)��[^��< 2�$6��2%43,#�)�%2���,i5&�)( �����A��a�2�$6�����
�����q|�"�!�#($?!�' , ©+�#�7{62�����2����qU+4"27�05&���0U+ 3.6��Rn>-.��0�q2�.�2��T B.�S�����$6�)��( .�>E@�vC|�"�!�#%$&!�'$, ©+��[���>�.�<6�
�����A16,#�)�Dx 2�.`UZ�f.8<6�f.��7(+����.'>�,g����<+432�1&(+�g�����)��2����c2�$&��<jv#a�2�$6�g2%43,#�)�%2��',#56*-U&���%�)(q����$6��,#�#4H�
t)«+|&@ ,kt��GF8|�"�!�#%$&!�' ,l©+��2%43,#�)��,#.����B�)�7.�<6.8,D4H���T h2�$&��<��o��<&�X43���b��<&(0r¬�)��162��%43��� � �:����$6��,#�=43<`2�����,g�

�



.�>��%2�.8�������D.�S�����$6�)��(\[ �n432�$ @  ©�«�«V��<&( "�!�#%$&!�'  tT�6a�2�$6�0�%2�.8�������D.�S�����$6�)��( .�>��?��<&�}4"���#��<&(
r6�)�'162��%43��� � �g����$6��,#�V4p�g2%9Q.W.��7(+�����#.'>
,f����<+432�1&(+�������)�'2����f2�$&��<k2�$&�'2f.�>
2�$6�`2%43,#�)�%27��,#56*-U&���%�)(
����$6��,#��[f�;.�2%4H�7�#2�$&��2B2�$6�#���7 H��2A4"S8�f�%5&���7�f�8(+S!��<+2������i.�>~2�$6�i2%43,#�)�%2���,i56*-U&���%�)(W����$6��,#�#UZ�)�7.�,#�)�
�����)�'2������8�#2�$6��<+16,DU&���0.�>
56��.6�7�)���%.8���i43<£2�$6� �A/@�%2���, 4H�i43<&�7���)���%�)(\[^]; p�A.j<6.�2��`2�$&��2f9�4"2�$ tT�
U+432
2%43,#�)�A2���,#5�as2�$6�#�%2�.����'���
.�S�����$6�)�8(`.'>�2�$6��2A4",i�)�%2���,#56*-U&�8�%�)(W����$6��,#�D4H�
�7.8,#5&������U+ 3�#2�.f2�$&�'2
.�>:]=����$+43U&�T H(j��<&(��~�'��� � �
����$6��,#��a�9:$+4H��$W4H�c,#.P�A2
�%5&���7��*-�)�7.�<6.�,C4p�0�',#.�<6�`2�$6�f(843���)�72�.���/+*-U&���%�)(
����$6��,#�)��[Q|�ª����#ª��)�72%43.�<V­&[LK�>�.8�:2�$6�B����2A4".8<&�T 3�
U&��$+43<&(V2�$6�#t)�CU+4"2;2%43,#�)�%2���,i5�[_�

��������� � ��� � ��	���� ��� ���������

uQ$6�l�A.�>�2%9:�������%16565&.8��2`�7.�<&�X4H�%2��e.�>�S����%4H��U+ 3�)�`�8���%.6��4p�'2��)(m9Q432�$ �A$&�����)(m(6��2��j�%2���1&�72�16���)�0��<&( �
,f����R�43<6�#,#�)��$&��<+4H�%,`[

�W�
�����%.@��4H��2��
�DS!���A4p�'U+ "��, !�#%$&!�' .�>¦2%/+5&�
�%16U6�7��<6���
«/.0. © 1 2�365�247 �jt=9Q432�$V�)����$`�%$&�����)(gS����%4H��U+ 3� ,Z[���27�
S!�! "16�c4H�Q2%/+5+4p���! d 3/e ".+��(+�)(g43<+2�.#.�<6�B.�>�2�$6�
�� 3.6��R0�����'4p�A2������QUZ�7>�.����B���7>�������<&��4"<6��,�|�ª����
2�$6�=>-.���,g��2��
>-.��:���)��(6�;��<&(g9:�%432��)�Q�'4"S8��<043<Wª��)�72%43.�<V­&[LK+�7[

uQ$6�B���7>-������<&�7�=,f����R843<6�#����$6��,i�=4p��U&���%�)(i.�<��D(6��27��*�(+��5&��<&(+��<&�7�D��<&�T 3/@�}4p��.�>¦�B5&�'���T _ 3�7 h56��.����7��,`[
�?���%43.�1&���'2�2��%43U6162��)�������~�'4"S8��<�2�.B���)��(
�'<&(D9:�%432��Q.�5Z������2%43.�<&��[�uQ$6�)�%���'2�2��%43U6162��)�������Q1&�%�)(D2�.b(+�)��4H(+�
9:$+4H��$¤���72%43.�<&�;2�.D2���R8�=>�.��Q2�$6�
�8���%.6��4p�'2��)(0.�5Z������2%43.�<`�'2:�7{@�)�7162A4".8<`2%43,#��[

� 	������	��
B��� � �
� � �-�����/��	/���0�����

]j���7>-������<&�7�?,g����R84"<6�B����$6��,#��>-.���9;�%432��?.�5Z������2%43.�<&��4H�����)G�1+43���)(�43<
.�16������$6��,#��>-.���UZ.�2�$D�7.������)�72�<6�)���
��<&(e�7����43��<&�7/¤5616��5&.P�%�)��[:r6.����7.8�����)�72�<6�)���;5616��5Z.P�%�)��a\�#���7>�������<&�7�c,f����R843<6�#4H�;<6�)�7�)��������/g>�.��=�)����$
9:�%432��g.�5Z������2%43.�<�[0uQ$+4H�c,f����R843<6�W�%2���2��)�=9;$6��2�$6���D2�$6�f������$6�f��<+2���/g�%1&�%2
9;�%432�2���<l����<qU&�g����*-1&�%�)(
43<q>�162�16���#��5&.6��$&��[¤u�$6����UZ.�S��f(+�)��4H�X43.�<q4H�cU&���%�)(�.�<l9;$6��2�$6���
2�$6�g9:�%432��g���7>-������<&�7�g,f�T/¤$&�TS��g�
�%1&���7���)(843<6��9:�%432��D���7>-������<&�7�#2�.02�$6�C����,#�D,#��,#.���/g ".6����2%43.�< >���.8, .�2�$6���B56��.@�7�)���%.����;43<W2�$6�#���',#�
��5&.6��$�[���>~�#�'4"S8��<`9:�%432��c.�5&���7��2%43.�<�,f�T/f$&�TS��D�%1&��$¤�g�%1&���7���)(843<6�`9:�%432��c���7>-������<&�7��a\2�$6�
���)�%1+ 32���<+2
������$6�`��<+2���/k����<6<6.82fUZ�`����*-1&�%�)( 43<n>�162�16���`��5Z.@��$&�0��<&(\aQ2�$6�����7>-.�����aQ2�$6�¤�����A.@��4H��2��)( 2%43,#�)�%2��',#5
�%$6.�1+ H(e<6.�2:U&�D�%��2:2�.i2�$6�BS!�T 316�c.�>O�� 3.6��R ,yt8[

r6.8�~�7�0��4"��<&�7/V5616��5&.+�%�)��a+432Q4H�=��(+S!��<+2����8��.�1&�o2�.DRP<6.�9 9:$6��2�$6���Q432Q4H�QU&��<6�*)���4H�T ?2�.c 3.P��(g2�$6�
������$6�

tT«



.��:2�.��X43,#5+ 3/VUP/+5&�����o432;>�.8���#�'4"S8��<`9:�%432��c.�5&���7��2%43.�<�[:r6.8�:�7{¬�',#5+ 3��a\9~�B9Q.�1+ H(V��$6.+.P�%�c2�$6�B H��2�2����
�T 32�����<&�'2%43S��D4_>�2�$6�#���)�%1+ 32���<+2�������$6�#��<+2���/W����<6<6.�2BUZ�f����*-1&�A�)(W�7432�$6���c43<�>-162�16���#��5Z.@��$&�c.��B43<q2�$6�
�716������<+2:��5Z.@��$043<&�%2��'<&�7��[

r6��.�, 2�$6�Q��U&.�S��Q�7.�<&�X4H(+������2%43.�<&��a��)����$c9:�%432��o.�5&�����'2%43.�<D2�.��:�%$&�'���)(cS!���%4H��U+ 3�o43<#�Q5&�����T _ 3�7 &56��.��8����,
U&�7 3.�<6�+�Q2�. � ����.&a+.�<6�;.��?UZ.�2�$g.�>�2�$6�Q>-.� _ ".�9Q43<6�D2%9Q.B.!S8���% H��565+43<6�C�� H�����%�)�;|}��>A[�rs43��16���B�6�'>�.��Q�B,#.8���
>-.���,f�T h(+�*)&<+432%43.�<�.�>�2�$6�B,f����R�43<6�P��aZ�%���#JL©��TN-��[

t8[ ��� |�¡�� �D� EF¡����;�6��¢B9;�%432��)�7�

©¬[�� � |-�\�3�8�D��E ���� ���B�9:�%432��)�F�

] 9:�A4"2��:.�5&���7��2%43.�<i4"<0��<g��5&.6��$gU&�7 3.�<6�+�Q2�.
2�$6�-)&���%2Q�� p�8���;|-4�[¨��[3a�4H�o,f����R��)(#���=¡�� ��� EF¡�� �:�6��¢ �3���*�H¡-�Ta
��� �=4_>�2�$6�g,#��,#.���/V 3.6����2%43.�<j9:�%432�2���<lU+/V4"2#����<6<6.82�UZ�0.�S�����9:�%432�2���<WUP/�9:�A4"2��)�B>-��.�,�(84���������<P2
43<&�%2���<&�7�)��.�>h2�$6�B����,#�=��5&.6��$�[�]b�o9Q�=9Q4_ d ��%���= H��2����)a82�$6�
������$6��9Q.���(6�o165\(6��2��)(iUP/g9:�%432��)�O43< ���
�����B27��������2��)(C>-.��:���)��(6�~4"<e H��2����:��5Z.@��$&��[

]k9;�%432��Q.�5&�����'2%43.�<c4"<g��<D��5&.6��$#UZ�7 3.�<6�P��2�.�2�$6�:�%�)�7.8<&(��� H�����Q|-4�[¨��[3aT4H��,f�'��R��)(D�������N���D��E ���� ���B �3���*�H¡-�Ta
� � ��4_>?2�$6�����=4H���'2Q 3�)���%2:.�<6�c5&.�2���<P2%4H�T ����)��(i43<`2�$6�D����,#�=43<&�%27��<&�7�
.�>�2�$6�B��5Z.@��$`2�$&�'2:,f�T/f���)��(
2�$6�#������$6�#9Q.���(e165�(6��2��)( UP/V2�$6��� � 9:�%432���[ �W�%432��D.�5Z������2%43.�<&�;43<�� � �����D2���������2��)(g>-.��B���)�8(6�
43<`2�$6�D����,#�;43<&�%2���<&�7�c.�>�2�$6�B��5&.6��$�2�.D9:$+4H��$`2�$6��/gU&�7 3.�<6�Z[

�W�%432��D.�5Z������2%43.�<&��9:$+4H��$�UZ�7 ".8<6�¤2�.f<6�7432�$6���c.�>~2�$6�#��UZ.�S��
2%9Q.��� H�����%�)�
�����B>-.����7�)(V2�.0U+/P5&�����=2�$6�
������$6�
�X43<&�7�B2�$6�����B�����=<6.D5&.�2���<+2%4H�T ����)��(6�O>-��.�,^2�$6�
������$6��9Q.���(6�O2�$&��2Q,D43��$+2Q$&�)S8��UZ����<0165�(6��2��)(
U+/#2�$6��,`[?u�$+4p�o<6.�2Q.�<+ 3/i43<&�7���)���%�)�Q2�$6���7����43��<&�7/0.�>h������$6�
�%2�.8�������:U6162:�T H�%.D���)(+1&�7�)��2�$6��<+16,DU&���
.�>
���)G816�)�%2��i2�$6��������$6���7.�<+2���.� _ 3�����A$6.�1+ H(k$&�'<&(8 "��[�uQ$6���7.�<+2��T43<6,#��<+2f���7 H��2A4".8<&�%$+435 �',#.�<6�q2�$6�
,f����R�43<6�P�Q.'>O�D9;�%432��B.�5&���7��2%43.�<04H�:(+��5+4H�72��)(e43<¤rs43��16�����6[

]B�:��<0�7{&��,#5+ 3�D.�>h,f����R�43<6�#.�>�9:�%432��c.�5&���7��2%43.�<&��a8 3��2�1&�;�7.�<&�X4H(+���B2�$6�=>-.� _ ".�9Q43<6�"1=.�]B�7��.P���O 3.P.85�[

t8t



1=.�]B�7��.P��� ���� t�8#"��
�B|�� � � �'&)&(&

&)&)&

�B|�� � �nt�� �'&(&)&

&)&)&

&)&)& � ��|��\|����7��� , &)&(&

z?�M1 1=.�]B�7��.P���

r6.8���)���%�Q.�>&�7{65+ p�'<&��2%43.�<�a+2�$6�:�%/+<&��$6��.8<+4 � �'2%43.�<&�����)G81+43���)(D2�.
����2%4H�X>-/B2�$6�Q43<P2�����* 432�������2%43.�<#(+��5Z��<&(+��<6*
��43�)���'����.8,D432�2��)(\[?uQ$6�')&���%2;9:�%432��=2�.D2�$6�
�������T/g|-4�[¨��[3a ��|����T���¦����<6<6.�2;U&�B,f����R��)(f�8��¡�� �D�:E�¡����;�@�7¢=�
���*�H¡-�:�X43<&�7�B2�$6�=,#��,#.8��/c ".6����2%43.�<g9:�%432�2���<fU+/D432:����<fUZ��.�S�����9:�%432�2���<#U+/D2�$6�=9:�%432��=2�./��|����.��t���4"<
2�$6�#�%16U&�%�)G816��<+2=4"2�������2%43.�<�[B�X2=4H�=,f����R��)(��������N���$� E:�K�8 ���B �3���*� ¡-�=4_> ��|���| �Z���?,f�T/`(+��<6.�2��D2�$6�#���',#�
,#��,#.8��/g 3.@����2A4".8< �8� ��|��Z�o>�.��B�%.�,i�/��8Bt � � � "��B2�.0�T _ 3.!9 2�$6�#������$6�
9Q.���(e9:�%432�2���<�U+/��B| �����
2�.0�%����S84H�7�#2�$6�
���)��(V���7>�������<&�7� ��|��\|����F���~�8��<6������2��)(e43<�2�$6�#����,#��4"2�������2%43.�<�[
u�$6���%�)�7.�<&( 9:�%432��
2�.
2�$6�#�����7�)/��^|�4�[ ��[3a �B| ��� �mt����o4H�=,f����R��)(V���D¡�� ��� EF¡�� �:�6��¢ �3���*�H¡-�
�}4"<&�7�C4"2=4H�=��1&�'����<+2����)(02�$&�'2B2�$6�
,#��,#.8��/c ".6����2%43.�<&��9:�%432�2���<gUP/c432:9Q4_ _ �<6.�2?UZ�B.�S�����9:�%432�2���<#UP/i.�2�$6���?9;�%432��)��[��->�U&.�2�$��B| � ��t��¦��<&(
��|���| �Z���:,f�T/W(+��<6.�2��g2�$6�f����,i�f,#��,i.���/V 3.@����2A4".8<W>-.����A.�,#���\aQt � � � "��=8 ��|���� � t��;4H���! p�A.
,f����R��)(0���o���N���$� E:���� ���B �N���?� ¡-�)[

� 	������	��
B��� ��� 	�
 ����� ��	/��� ��� �

r6.8�����)��(q.�5&���7��2%43.�<&��ao9Q�0<6���)(k���X _43��$P2A "/j,i.����`�7.�,#5+ _4H����2��)( ,f����R843<6�l����$6��,#�02�$&��<q>-.��#9;�%432��
.�5Z������2%43.�<&�i2�.W$&��<&(8 3�WUZ.�2�$k������$6��,D4H���%�)�g��<&(k���8��$6�V$+4"27��[m��<m2�$6�������%�`.'>���,D4H����a:�W����$6��,#�
�X43,D4_ H���:2�.B2�$&��2�>-.���9:�%432��=.�5Z������2%43.�<&�¦4p�o<6���)(+�)(g2�.
(+�)��4H(+�B9:$6��2�$6���~2�$6�:���)�%1+ 32���<+2~���8��$6�=��<P2���/�����<
U&�D����*-1&�A�)(g43<V>�162�16���B��5&.6��$&�B��<&(e9:$6��2�$6���Q432;4H�=U&��<6�*)���4H�T ?2�.D 3.P�8(02�$6�D������$6��[o��<�2�$6�
���8�%�
9:$6��<
2�$6������4p�Q��,f��2���$+43<6�
9Q.���(�43<f2�$6�b������$6��a�9Q�:<6���)(i2�$6������,#�:S��T _4p(8432%/0��<&�T 3/@�}4p�Q���s>-.��Q�B9:�%432���[�uQ$+4H�
 3�)��(6�;2�.#2�$6�=>-.� _ 3.!9�4"<6�g,f����R�43<6�#5Z.� _4p��43�)�b>�.��:������$6�B 3.P�8(84"<6�0��<&(0������$6���8���7�)����[

� � 	��
��� � 
 ����� ����� ��� ��� 	�
�� �����

� < �i���)��(e,D4H����a\9Q�
<6���)(��i5&.� _4H�7/�2�.0(+�)��4p(+�i9:$6��2�$6���=2�$6�D9~.8��(i>���27��$6�)(e>-��.�, 2�$6�
�� 3.�U&�! 

tT©



,#��,#.���/g9Q4_ _ ?U&�c5+ p�8�7�)(V43<`2�$6�#������$6�
.��;<6.�2b�'<&(\a64_>~�%.&aZ9:$6��2�$6���=2�$6�c<6��9Q 3/0 3.P��(+�)(V������$6�
��<P2���/l����<qU&�0����*-1&�%�)(�43< >�162�16���f��5Z.@��$&��[lr¬.��D2�$6�)�%�05616��5Z.P�%�)��aO�)����$j���)��(W.85&������2A4".8< ����<
U&�q,f����R��)( ���W¡�� �D�:E�¡����;�@�7¢=�3BC�D�8¢��H  2j|�4�[ ��[3a � � ����<&(ZYT.��0���N���$� E:���� ���B �NBO�$��¢��   2q|�4�[ ��[3a � � �7[
uQ$6�f,i�)��<+43<6�P�D.�>
¡�� ��� EF¡�� �:�6��¢ �3BC�D��¢��H  20��<&(��\�3�8�D��E ���� ���B �NBC�D��¢��   2g�����0��<&�T 3.��8.�1&�B2�.�2�$6.+�%�
.�>~¡�� ��� EF¡�� �:�6��¢ �3���*�H¡-�=��<&(i���N���D��E:�K�� ���B �3���*�H¡-�Ta+���)�%5&�)�72A4"S8�7 "/�[o] ���)��(i.�5&�����'2%43.�<g43<`��<0��5&.6��$
4p�;,f����R��)(0���=¡�� �D� EF¡����;�6��¢=�NBC�D��¢��   2b4_>?2�$6�
,#��,i.���/D 3.6����2%43.�<`���)��(0U+/#432����'<6<6.�2�UZ�
9:�A4"2�2���<
UP/D9:�%432��)�¦43<0.�2�$6����43<&�%27��<&�7�)�o.�>�2�$6������,i�:��5&.6��$0��<&(\a+2�$6�����7>-.�����a82�$6�:���)�A1+ "27��<P2Q������$6����<+2���/
����<`UZ�
����*-1&�%�)(�43<`>-162�16���c��5&.6��$&��[Q]b�o43<j¡�� ��� EF¡�� �:�6��¢�9:�%432��)��aZ2�$6�
������$6�
9Q.���(6�~ ".+��(+�)(VUP/
���)��(6�c,f����R8�)(l��� � � �����g2���������2��)(V>-.��D���)��(6��43<q H��2����D��5&.6��$&��[W] ���)��(�.�5&�����'2%43.�<q43<k��<
��5&.6��$�4H�c,f����R��)(����;���N���D��E:�K�� ���B �3BC�D�8¢��H  2c4_>:2�$6�����D4H�
�'2= "�)�8�%2
.�<6�i.�2�$6���
5Z.�2���<+2%4H�T ?���)��(¤4"<
2�$6�#����,#��4"<&�A2���<&�7�#.�>?2�$6����5Z.@��$�2�$&��2=,f�T/¤�����7�)���:2�$6�#������$6�D9Q.���(g 3.P�8(+�)(�UP/V2�$6�B>-.���,i���
.�<¤�#���8��$6�D,D4H����[Q�X<�.���(+���:2�.g1&�%�c2�$6��������$6���A2�.������8�B� ���)�72A4"S8�7 "/�a\���)��(0.�5Z������2%43.�<&�;,f����R��)(
���:<6�7432�$6���#¡�� �D�:E�¡����;�@�7¢=�3BC�$��¢��   2c<6.��;���N���D��E ���� ���B �3BC�D��¢��H  2
(+.g<6.�2: 3.P�8(`2�$6��������$6�D9Q432�$�2�$6�
9~.8��(D>-��2���$6�)(g>-��.�,�2�$6�c�� 3.�U&�T �,#��,#.���/f.�<`���8��$6�c,D4H���%�)��[

� � 	��
��� � 
B��� ��� 	�
����0�

]b�c9Q�f,i��<P2%43.�<6�)(qUZ�7>�.8����a�>-.����V���)��(�.�5Z������2%43.�<q2�.�162%4_ _4 � ��������$6�0��<P2��A4"�)�� 3.P��(+�)(�43<j5&���A2
��5&.6��$&��a@4"2=�%$6.�1+ H(0UZ�
��1&���7��<P2����)(#2�$&�'2?432B(+.P�)��<6.�2Q$&�)S8�
��<P/i56���)�7�)(843<6�09:�%432��B2�.D2�$6�
���',#�
,#��,#.���/V 3.6����2%43.�<�4"<q2�$6�f����,#�#��5Z.@��$�[`uQ$+4H�c2��)�%2=4H�c<6�)�7�)��������/�>�.8�
�7.������)�72�<6�)���B5616��5Z.P�%�)��[
� <j2�$6�f.82�$6���D$&��<&(\a�>-.��D�7����43��<&�7/j���)���%.�<&��a�432c4H�#��(+S���<P27������.�1&�c2�.VRP<6.�9�9:$6��2�$6���#2�$6�����
�7.�1+ H(WUZ����<�1656*-2�.�*�(6��2��g�7.�5P/V43<q2�$6�f������$6�D>-.����e��43S���<W���)��( ���7>�������<&�7��[�r¬.��
�7{&��,#5+ 3��as4_>
4"2�4p�=(+�)��4H(+�)(V2�$&��2Q2�$6�
������$6�
����<6<6.�2:$&�TS��
�'<01656*-2�.�*�(6��2��
�7.85P/i>�.8���C��43S���<0���)��(g���7>-������<&�7��a
4"2D9Q.�1+ H(�U&�0U&��<6�*)���4H�T =2�.¤�X43,#5+ 3/qUP/+5&�����c2�$6�0������$6��[¤u�$+4p�cU+/P5&�8���X43<6�W9Q.�1+ H(W���)(+1&�7�02�$6�
<P16,DU&���;.�>¦���)G�16�)�%27�Q2�$6�����8��$6�
�%$6.81+ p(V�%����S84H�7��[

r6��.�, 2�$6�D��U&.�S��D�7.�<&�X4H(+������2%43.�<&��a\�)����$����)�8(0.�>~�0�%$&�'���)(0S����%4H��U+ 3�#U&�7 3.�<6�+�=2�. � ����.&a\.�<6�
.8�
U&.�2�$0.'>¦2�$6�=>-.� _ 3.�9Q43<6�f2%9Q.#�%��2���[

t8[ ��� |�¡�� �D� EF¡����;�6��¢B���)��(6�7�

©¬[�� � |-�\�3�8�D��E ���� ���B����)��(6�F�

r6.��#�V���)��(�2�.�U&�g43<j2�$6�`�%��2 ��� a�432#�%$6.�1+ H( U&�0��1&���7��<P2����)(W2�$&�'2B432D4H�D<6.�2D56���)�7�)(+�)( UP/

tTK



��<P/�9:�%432��02�.W2�$6�`����,#�g,#��,#.���/W 3.6����2%43.�<q>-��.�, (84���������<P2D43<&�%27��<&�7�)�#.'>b2�$6�`����,#�g��5&.6��$�[
�Q�)��(�.�5&�����'2%43.�<&��4"< ��� �����f,f�'��R��)(W���i¡�� �D� EF¡����;�6��¢=�%�%�?��¢g��<&(�162%4_ d4 � �V2�$6�����8��$6�#9Q.��7(6�
165�(6��2��)(VU+/l¡�� �D�:E�¡����;�@�7¢D9:�%432��)�;.��: 3.P�8(+�)(�UP/0���)��(6�=,f����R8�)(`���c¡�� �D� EF¡����;�6��¢=�NBC�D��¢��   2C.�<
������$6�c,D4H���%�)��[BuQ$6�#������$6�D9Q.���(i4H�B�7.�<&�X4H(+�����)(�2�.fUZ��1656*-2�.�*�(6��2���4d>o432��:2A4",i�)�%2���,#5�S��T 316�
4H�
�)G�1&�T �2�.D.��:�����)�'2����Q2�$&��<02�$6�D�716������<+2��� 3.@��R0S!�T 316�c.�>¦2�$6�
�7.������)�%5Z.�<&(843<6�fS����%4H��U+ 3��[

]j���)��(c.�5&���7��2%43.�<� ;U&�7 3.�<6�+��2�.�2�$6�~�%�)�7.�<&(D�� H�����o|�4�[ ��[3a � � �\4_>&2�$6�����o4H����2s "�)�8�%2h.8<6�~���7>�������<&�7�
|�9:�%432��#.8�B���)��(Z��2�.02�$6�f����,i�#,#��,#.���/0 3.@���'2%43.�<W43<q2�$6�f���',#�D43<&�%2���<&�7�g.�>Q2�$6�#��5&.6��$l2�$&�'2
����<0���)����$  +[?uQ$+4H�;43<&(84H����2��)�;9:$6��2�$6���;432:4H�;5&.P���}4"U+ 3�D2�$&��2M 
,g�)/gU&�D����2%4H� )&�)(eUP/02�$6�
������$6�
9~.8��(0165\(6��2��)(�U+/¤�C���N���D��E:�K�� ���BZ9:�%432��D2�.g2�$6�#����,#�c,#��,#.���/e 3.@����2A4".8<W.��; ".+��(+�)(V43<P2�.02�$6�
������$6�DU+/W��<6.�2�$6���B���)�8(0>-��.�, 2�$6�C����,#�D,#��,#.���/0 3.@���'2%43.�<W,f����R��)(����;���N���D��E:�K�� ���B �3BC�D�8¢��H  2
4"<V2�$6�
����,i�=4"<&�A2���<&�7�
.'>¦2�$6�B��5Z.@��$�[

�Q�)��(B.85&������2A4".8<&��9:$+4H��$DU&�7 3.�<6�B2�.:<6�7432�$6����.'>@2�$6�Q��U&.�S��o2%9~.:�� H�����A�)��a����T _ 3�)(#�����D���������$�3�� �B �
���)��(6��a6�����=,f��(+�=2�.DU+/P5&�����?2�$6�b������$6�B�X43<&�7�
2�$6�=���)G816�)�%2:����<6<6.�2QU&�
���'2%4H� )&�)(gUP/i2�$6�
������$6��[
��2�����<6<6.82:U&�D����2%4H� )&�)(eUP/`������$6�B9Q.���(6�Q165\(6��2��)(eUP/i���N���D��E:�K�� ���B+9:�%432��)�Q.8�Q 3.P��(+�)(g43<+2�.g2�$6�
������$6�=U+/#���)��(6�o,f����R��)(f�8���\�3�8�D��E ���� ���B �NBC�D��¢��   2;U&�)���'1&�%�B2�$6�����B�����=<6.#�%1&��$g9:�%432��)�o.��Q���)�8(6�
4"<c2�$6��43<&�%27��<&�7�?.�>62�$6�o��5&.6��$c2�.:9:$+4H��$
2�$6�o���)G�16�)�A2�U&�7 3.�<6�P��2�.B|�.�2�$6����9Q4H�%��2�$6�?���)G�16�)�%2s9~.81+ p(
$&�)S8��U&����<D,f����R8�)(
���Z�\�3�8�D��E ���� ���B �%�%�?��¢'��[h�;�7432�$6���¦���'<B432hUZ�:����2%4H� )&�)(�UP/#¡�� �D�:E�¡����;�@�7¢?9:�A4"2��)�
.������)��(6��,f�'��R��)(D���Q¡�� ��� EF¡�� �:�6��¢ �3BC�D��¢��H  2QU&�)����1&�A��2�$6�Q���)G816�)�%2Q����<DU&�:56���)�7�)(+�)(iU+/��B9;�%432��
���7>�������<&�7�
2�.#2�$6�
����,#�B,#��,i.���/i ".6����2%43.�<e>���.�,�.�2�$6���:��5Z.@��$V4"<&�A2���<&�7�)��4"<V2�$6�
����,i�B��5&.6��$�a
2�$&��2:,f�T/g,f��R��B2�$6�
56����S843.�1&�X 3/0 3.P��(+�)(V������$6�
��<+2���/0�%2��T 3��[:uQ$6�
�7.�<+2��T43<6,#��<+2=���7 H��2%43.�<&�%$+435
��,#.�<6�D2�$6�c,f����R843<6�P�Q.�>¦�C���)��(g.�5Z������2%43.�<e4p�=(+��5+4H�72��)(g43<�rs4"�816���#§P[

�W�B��43S��cU&�7 3.�9 �'<0�7{¬��,i5+ "�c.�>�,f����R843<6�#.�>����)��(g.�5Z������2%43.�<&��[

t�­



1=.�]B�7��.P��� ���� t�8#"��
�B|��\|�� � ��� �'&(&)&

&)&)&

&)&)& � ��|��s|�� � ����, &(&)&

&)&)&

&)&)& � ��| �\|���������, &)&(&

z?�M1 1=.�]B�7��.P���

]=�P�T43<m9~�V.�,D432g2�$6�¤�%/+<&��$6��.�<+4 � ��2%43.�<&�e2�.l�X43,#5+ _4_>�/m2�$6�W(84H���71&���}4".8<�[yuQ$6�")&�7�%2f���)��(j.�5Z������2%43.�<
|-4�[¨��[3a���|��s|����������o4H�:,f�'��R��)(`�8�
¡�� �D�:E�¡����;�@�7¢=�}�%�*��¢c4_> �s|��Z�?8=t � � � "��b4H�=<6.�2��)G81&�T �2�.0��<P/ �\|�� #p�
>-.��ft � � # � �\[0��>�2�$6�0��U&.�S��g�7.�<&(8432%43.�<j4H�D����2%4H� )&�)(\aO2�$6�#���)��(����7>-������<&�7����|��s|��������b���'<l�����7�)���
������$6�D9~.8��(6�:U6��.�16��$+2:43<l(+16�%43<6�V5&���%2=��5&.6��$&��[���<l��(6(8432%43.�<�as2�$6�D���)��(e2�. ��|��s|��������o4H�B,f�'��R��)(`�8�
���N���$� E:�K�8 ���B �}�%�*��¢o4_> �s|��Z�  ��| �Z�&>-.����%.�,#����8:t � � � "��?2�.B2���R��Q��(+S!��<+2����8�~.'>&2�$6�������%�Q9:$6��<i2�$6�
������$6��9Q.��7(D9:�%432�2���<gU+/�2�$6�����7>-������<&�7�=2�./��|��\|����F����4H�o���)��(DU+/#2�$6�=���7>-������<&�7�=2�./��|��s|����������7{@�)�7162��)(
43<l2�$6�f����,#�C4"2�������2%43.�<W.'>~2�$6�#5&�'���T _ 3�7 ~ 3.+.�5�[fu�$6�#,f����R843<6�`.�>:2�$6�g�%�)�7.�<&(����)�8(�.�5&���7��2%43.�<j|-4�[¨��[pa
��| �\|����������h4H�=(+.�<6�
�X43,D4_ H���% 3/�[

r6.8�b������$6�DU+ 3.@��RV ".+��(843<6�05616��5&.P�A�)��a�2�$6�c���)��(V2�.��B| ��| � � ���?4H�=,f�'��R��)(����c¡�� �D�:E�¡����;�@�7¢=�NBO�$��¢��   2�4_>
�s|��Z�?8:t � � � " � 4H�Q<6.�2o�)G�1&�T �2�.D��<+/ ��| � # ��>-.�� � � � # � " � [���<g2�$+4H�:�����%��a'432Q4H�?�81&������<+2����)(D2�$&�'2
2�$6�#������$6�
9Q.���(6�� 3.P��(+�)(e43<P2�.f2�$6�D������$6��.8<`���)��(e,D4H���%�)�=.�< �B| ��| � � ���~����,f�T43<�1656*-2�.�*�(6��2��D��2=2�$6�
��<&(�.�>~2�$6�i5&�����T _ 3�7 Q ".+.�5j��<&(�,f�T/VU&�g���7>�������<&�7�)(WU+/l¡�� �D�:E�¡����;�@�7¢#���)��(6�b43<W>-162�16���#��5Z.@��$&��[g��<
��(6(8432%43.�<�a8432�4H��,g����R��)(#�8�s���N���D��E ���� ���B �3BC�D��¢��H  2o4_> �s|��Z�\4H�O�)G�1&�T \2�.��\|��Z�\>-.��?�%.8,#� ��8:t � � � "��?2�.
2���R8�
��(+S!��<+2����8�
.�>�2�$6�����8�%�
9:$6��<V2�$6�����8��$6�c9~.8��(i 3.P��(+�)(VUP/0�i���)��(g,D4H���=.�<���|��s|��������Q����2%4H� )&�)�
2�$6�:���)��(D���7>-������<&�7� �B| ��|�������������<6�����'2��)(D43<g2�$6�����',#�Q432�������2A4".8<#.�>�2�$6�:5&���7�T _ "�7 \ 3.+.�5�[�¥:.�9Q��S����)a82�$6�
���)��(g���7>�������<&�7�B2�.��B| �\|����F���?����<6<6.�2:UZ�B,f����R��)(0�8���\�3�8�D��E ���� ���B �NBC�D��¢��   2B�}4"<&�7�c2�$6�����=4H�Q<6.#5Z.P���X43U+ 3�
���)��(C���7>�������<&�7�Q43<f2�$6�=����,#�o432�������2A4".8<#9:$+4H��$0����<DU&�B����2A4p�3)&�)(DUP/D2�$6�:������$6�:9Q.���(c2�$&�'2�,D43��$P2o$&�TS��
U&����<V 3.P��(+�)(i43<+2�.g2�$6�
������$6�B.�<`,D4H���A�)�Q.�<���| �\|��������7[

tTM



�
��� ������������� ����� � � �

��<i2�$6�Q>-.� _ ".�9Q43<6�&a89Q���8���%16,#�:2�$&��2��)����$
43<&�%27��<&�7�:.�>���<#��5&.6��$D4H���7{6�)�7162��)(#.8<C�B(84H�%2A4"<&�72Q56��.6�7�)���%.8�
��<&(e2�$&��2=2�$6�
U+ 3.6��R`�X4 � �D.�>?2�$6�D������$6�B4H�:�)G81&�T �2�.#.�<6�c9Q.���(\[-�W�c9Q4_ d ?(84H���71&���=2�$6�D�7.�<&�%�)G816��<&�7�)�
.�>�����,#.�S84"<6�i2�$6�)�%�
�����A16,#562%43.�<&�� p�'2����Q43<`2�$+4H�=�%�)�72%43.�<�[

��<V.�16������$6��,#��a6�)�8��$09:�A4"2��
���7>-������<&�7�
2�.C�i�%$&�����)(gS����%4H��U+ 3�D$&���Q2�$6�=>-.� _ 3.!9�4"<6�i>-.���,f��2L


���	��
��	� 
�� � � ������������������� �"!�#$! ���

9:$6�����L !�#($&!�' 4H�o2�$6�b�� 3.6��Rg������4H�%2����~9;$+4p��$0$6.� H(6�Q2�$6�B�� 3.@��R#S��T 316�
.�>�2�$6�=S!���A4p�'U+ "�cU&�743<6�#���7>-������<&�7�)(\a
% %��A2���<&(6�O>�.8� % �'&��)
 %)( & ���+*g9:�%432���aZ��<&( ��% >�.��%�� ��, ��
)��� " ($, 9:�%432���[

u���U+ 3��©i _4H�%2��c2�$6�#���72%43.�<&��2���R���< >�.��B5Z.P���X43U+ 3�0�7.�,DU+4"<&�'2%43.�<&�c.�>~2�$6� % %���<&(0��%^U+432��=>-.��
�09;�%432��
2�.k�q�%$&�����)(nS����%4H��U+ 3��[ |}�Q�)���T _ 
2�$6��2��'�lU+432���>�.��0�j������$6����<P2���/k(+�)���7�%43U&�)( 43<�ª��)�72%43.�< ­&[ ©6[3t�[_�
uQ$6���A��,f��<+2%4H����43,#5+ _43�)�:�=9:�%432���*-2�$6��.�16��$#5Z.� _4p�7/�[	�W���7.81+ p(i$&�TS��:�7.�<&�X4H(+�����)(g�= _43,D432��)(i9:�%432���*-U&����R
5&.' d4H�7/D9:$6�����Q(843��2%/b������$6�?9Q.��7(6�������o9:�%432�2���<BU&����RB2�.:2�$6�?�� 3.�U&�T +,#��,#.���/B��2�2�$6�?��<&(c.�>6�)����$c��5&.6��$
43<&�%2���<&�7�cU6162:9Q�B9Q.�1+ H(0$&�TS��=$&��(g2�.f��(6(0�'<0��<+>�.��7�7��,#��<P2;.�>¦9;�%432���*-U&����R@�o>-.��QS!�'�%4H��U+ 3�)�;4"<+S�.� 3S��)(
43<¤(6��27�#(+��5&��<&(+��<&��43�)�BUZ��2%9~����<V��5&.6��$e43<&�%2���<&�7�)��[o��<qJL©��TN�a6�D<6��9 �� 3.�U&�T h,i��,#.���/#165\(6��2��c5&.� _4H�7/�a
���T _ 3�)( ���?� ¡-�:�NBC�=EF¡O5&.� _4H�7/�a?9:���=56��.�5&.P�A�)(W9:$+4H��$ �7.8,�U+43<6�)�c2�$6�0��(+S!�'<P2��'���)�=.�>:2�$6�g9:�%432���*-2�$6��.816��$
��<&(c9:�%432���*-U&�8��Rc5&.� _4H��43�)�?U+/
165\(6��2%43<6�
�' ".8U&�T @,i��,#.���/D���h�A.P.�<#���s5&.+���X43U+ 3��U6162?�TS�.�4H(843<6�
(+165+ _4H����2��
�� 3.�U&�T �,#��,#.���/g165�(6�'2��)��[

�;.�2%4H�7�f2�$&��2=>�.8�
�0<6.�<6*-2%43,#�)�A2���,#5Z�)(W9:�A4"2��#2�$6�#2%43,#�)�A2���,#5A)&�7 H(�4H�D�%��2c2�.& !�#($?!�' [#�X2B4H�cU&�)����1&�%�
2�$6�
�7.������)�%5&.8<&(84"<6�g,#��,#.8��/D 3.@���'2%43.�<`,f�T/#UZ�
.�S�����9;�%432�2���<gUP/0�D(84 ��������<+2=56��.@�7�)���%.��o43<`2�$6�
���',#�
��5&.6��$�a&2�$+1&�Q,f�'R�43<6�f�%27�T 3�
2�$6�B<6��9Q 3/g 3.P��(+�)(V������$6�B��<P2���/�[

] ���)��(0���7>�������<&�7�B2�.f�#�%$&�����)(gS!���%4H��U+ 3�D$&���Q2�$6�=>�.� _ 3.�9Q43<6�#>-.���,g��2D


tT�



� �	��
'�	� 
�� � � 
 � � � ��� ����� �������������"� !�#$! � �

9:$6�����& �!�#%$&!�'g$&���c2�$6�0����,#�g,#�)��<+43<6�l�8�BU&�7>-.�����ao��<&( %  V�%2���<&(6��>-.�� % ��&��)
 %�( & �-�+*����)��(\a.�� i>�.8�
�� ��,*��
)���
" ($, ���)�8(\a %�, >�.8� % ��&��)
 %�( & �-�+*b 3.P��(843<6�&a)� , >-.�� �� ��,*��
)��� " ($,  ".+��(843<6�&aP��<&( �-	O>-.����� �)	��+* �+*Z[

uQ$6���� �(	��+* �+*DU+432c| �-	T��4H�:�%��2:2�.0t
�'2��7.8,#5+4_ "��*-2A4",i�
4_>�2�$6�B���)��(g���7>�������<&�7�c,f�T/#U&�c56���)�7�)(+�)(0U+/0�
9:�%432��B2�.#2�$6�
����,i�B,#��,#.���/i 3.@���'2%43.�<043<`2�$6�
����,#�B��5Z.@��$�[?�X2Q4H���A��2:2�.#«D.�2�$6����9Q4H�%��[

uQ$6�W�7.�<&(8432%43.�<m>-.��0�W���)��(n$+4"2Ta������A16,D43<6�j2�$6�����V4H�0�q,f��2���$+43<6� ������$6��U+ 3.@��Rn4"<m2�$6�W������$6��aQ4H�
(+�*)&<6�)(0���M
o|�2�$6�')&���%2o2�����,^43<f�)����$.�� &¢B�7.�<&(8432%43.�<`(+��5Z��<&(6�:.�<i2�$6�:43<&�%2���1&�72%43.�<�a+4�[¨��[3a84H�Q�7.�,#5+4_ 3���
����<6�����'2��)(\a69:$+4_ 3�D2�$6�
�%�)�7.�<&(V(+��5&��<&(6�;.�<¤������$6�BU+432��=�%��2���2Q��16<6*-2%43,#���

| %  $ £«�� �� $ t�����|����  £«�� � �  t��Q|-�\�3�8�D��E ���� ���B����)��(Z�
.��

| %  $ t�� ��  £«+����| � �  £«�� % 
	�  �!�#($?!�''�:|�¡�� �D�:E�¡����;�@�7¢B���)��(Z�
.��

| %   t
� ��  t�����| � �  k«���| ���� t�� % 

�  !�#($&!�' ����| ��� % ���

�->\2�$6�����O4p����$+4"2?�'<&(
2�$6�~��UZ.!S8�~�o.P.' "�)�'<
�7{656���)���X43.�<D4H������2%4H� )&�)(\a�2�$6���7.8�����)�%5Z.�<&(843<6�B���)��(B���7>�������<&�7�
4H�:����2A4p�3)&�)(#U+/#2�$6�B������$6��[ � 2�$6����9Q4H�%��a+2�$6�
�8�72%43.�<&�o2���R���<#.8<��c���)��(C���7>�������<&�7�
�����B(+�)��4p(+�)(eUP/i2�$6�
 3.P��(843<6�#5Z.� _4p�7/0�%5Z�)��4O)&�)(eUP/i2�$6� %), a)� , a+��<&($�-	QU+432���[?u�$6� �-	�U+4"2o4H�Q1&�%�)(i2�.�4"<&(84H����2��B9:$6��2�$6���Q.�<0�
���)��(C,f����R��)(i���:¡�� �D�:E�¡����;�@�7¢=�3BC�D�8¢��H  2�a89~�=�%��2?2�$6�;2%43,#�)�%2���,i5�)&�7 H(g.�>�2�$6�=���7>-������<&�7�)(g������$6�;9~.8��(
��2�	 , � 	�� , t�| ��	� t�a84�[ ��[3a+2�$6�B���)��(i,f�T/D$&�)S8�b�c56���)�7�)(843<6�g9:�%432��=2�.D2�$6�b����,#�=,#��,#.���/C ".6����2%43.�<
43<�2�$6�#����,#�c��5&.6��$\�:.��B��2 	 , � 	��V| �-	  «+��[�u���U+ 3�fKg�%5&�)��4C)&�)��2�$6�#���72%43.�<&�;2���R���<V.�<W�#���)�8(0,D4H���
U&���%�)(e.�<02�$6� %), a � , a6��<&( �-	=U+432���[

]=<q4"<&�A2���1&�72%43.�<j9:$+4H��$£�� 3�)�����C2�$6�/�� 
��, ��
(��� " ( , U+432��C.�>�2�$6�0��<+2%43���`������$6�g4H�B43<&�%����2��)(k�T>-2����D�)����$
1=.�]; _ ���<&( 1=.�]B�7��.P���#�%2���2���,#��<P2T[ uQ$6�W�� ".6��RkS!�! "16�)�e.�>
2�$6���%$&�����)( S!���%4H��U+ 3�)�e9:$+4H��$m,f�T/jU&�
,#.6(84C)&�)(j43< ��5&���7�T _ "�7 B 3.+.�5 |�4�[ ��[3a�1=.�]; d =.��+1=.8]b�7��.+���� ".+.�5\�#�����e4"<&�7����,#��<P2��)(kU+/ tg43<m��S�����/
56��.6�7�)���%.��=��2:2�$6�B��<&(e.�>¦2�$6�B�7{@�)�7162%43.�<V.�>�2�$6�B5&�����T _ 3�7 � ".+.�5�[

t'§



]:2=2�$6�
UZ����43<6<+43<6�¤.'>O�g�%���%4H�T ?�����'4".8<�a&2�$6�c56��.6�7�)���%.��B�����X43��<6�)(V2�.g�7{6�)�7162��D2�$&��2:�����'4".8< �� 3�)���7�=2�$6�
�� ��,*��
)���
" ($, U+432��=.�>�2�$6�#�����%.6��4H��2��)(056�A4"S���2��#������$6��[:�X2b�T H�%.g43<&�7����,i��<P2��=U+/Wtc2�$6���� 3.6��RVS!�T 316�)�=.�>
2�$6�f�A$&�����)(�S����%4H��U+ 3�)�c,#.@(84C)&�)(�UP/V432�(+16�A4"<6�V2�$6�f�%���A4p�! ~������43.�<q��2B2�$6�#��<&(�.'>~2�$6�f�A���%4H�T ~�����'4".8<�[
uQ$6�#����,f�T43<+43<6�`56��.6�7�)���%.��7�;4"<&�7����,#��<P2c2�$6�#�� 3.@��R�S!�T 316�)�B.'>~2�$6�f�A$&�����)(VS!���A4p�'U+ "�)��9:$+4H��$�,f�T/`U&�
9:�%432�2���<k43<m2�$6�W�%���%4H�T B������43.�<mU+/ t�[�uQ$6�043<&�%2���1&�72%43.�<&�`(+.'4"<6�j2�$6� �'U&.�S��`27���%R6�g|-4�[¨��[3a=��$6�)��R�43<6�
9:$6��2�$6���B2�$6�C�716������<P2=56��.6�7�)���%.��=4H�=2�$6�D56��.6�7�)���%.8�b�����X43��<6�)(V2�.f�7{6�)�7162��#2�$6���716������<+2
�%���%4H�T �������43.�<
��<&(�4"<&�7����,#��<P2A4"<6�g2�$6�
�� 3.6��R6�7�:�����=43<&�%����2��)(V��2:�7.�,#5+4_ 3��*-2%43,#��[

uQ$6�=43<+S!�T _4H(VU+4"27�Q.�>h2�$6�B��<+2%43���
������$6�
�����B�%��2:��<&(g2�$6�
�� 3.6��RgS!�'�%4H��U+ 3�)�:.�>��T _ h2�$6�
�%$&�����)(#S����%4H��U+ 3�)�
1&�%�)(c43<#�=56��.��8����,�������43<+432%4H�T _4 � �)(g2�.
«=��2h2�$6���A2�����2�.�>&2�$6�Q5&�����! d 3�7 \56��.������',`[\��<#2�$6�~�7�����?.6�������X43.�<
.�>��=�� 3.@��R
.����;2%43,#�)�%2���,i5
.�S����%�&.�9
aT2�$6�?��<+2%43���:�7.�<+2���<+2���.'>&2�$6�?56�%43S���2���������$6�~�8���%.6��4p�'2��)(c9Q432�$D2�$6�
56��.6�7�)���%.��=����1&�X43<6�f2�$6�
.�S����%�&.�9£�'���=43<PS��T _4p(6�'2��)(W��<&(0�T _ h2�$6���� 3.@��R0S!�'�%4H��U+ 3�)����<&(V�� 3.@��R0������4H�%2����7�
43<02�$6�=56��.@�7�)���%.��:�����:����* 4"<+432%4H�T _4 � �)(V2�.D«6[��->�9Q�������%16,i� "�!�#%$&!�'�2�.DU&�Dt)�6a+2�$6�B��U&.�S������8��$6�;�&1&�%$+43<6�
��<&(e����* 43<+4"2A4p�! d4 � ��2A4".8<W9Q.�1+ H(g.@���716�=.�<&�7�
��S8����/�© � � ��5Z.@��$`�7{6�)�7162%43.�<&��>�.8�:2�$6�B9Q.����%�B�����%��[

]B�D,#��<+2%43.�<6�)(q�)���% _43���)a;�?$6��.�<6�W��<&( ���74p(+��<+U&��16, � �`�T�)� E ����  �*�� &¡-�N��B-�7���\�3�$���:4qJL�TN��'<&(W.�16�g��56*
56��.P�8��$0$&�TS��B,f�'<P/0�X43,D4_ H���%432%43�)��[:uQ$6�cS������X43.�<`�7.�<+2���.' s����$6��,#�c1&�%�)�=��(843���)�72��)(`�8����56$`���T _ 3�)(q¡��=E��
�����?�$�P¡�����  28�N�7��4:2�.:,i.@(+�7 62�$6�Q�7{@�)�7162A4".8<�.'>¬�;5&�����T _ 3�7 &56��.��8����,`[\�X<�2�$6�?�����'56$�a)�)����$D<6.@(+�Q(+��<6.�2��)�
�D2��8�%Rf��<&(g�)����$0(84"���)�72��)(0�)(+���B����56���)�%��<+2��:�#(+��5Z��<&(+��<&�7/`U&��2%9Q����<02�$6�=2%9~.c43<+S�.� 3S��)(g2����AR@��[�uQ$6�
2����AR@�:�'2:2�$6������,#�= 3��S��7 �4"<V2�$6�
27���%Rg�7{@�)�7162%43.�<V������56$��7.������)�A5&.�<&(e2�.f��<0��5Z.@��$V4"<V.�16�:56��.85&.P�%�)(
����$6��,#��[��X<&�%2��)��(i.�>¦�� 3.6��R6�Q��<&(#2A4",i�)�%2���,#5&��a�2�$6�=S������X43.�<0�7.�<+2���.� ���5656��.P�8��$#1&�A�)�L�D�+���%�T &¡��)�)� E:�K�� 
 �� � ���T�6EQ��<&(��:� ��¡�4g�)�)� E:�K�� V �� � ���T�6E�[o�� 3.@��R@�;��<&(gS������X43.�<g<+16,�UZ������a&�'<&(#2%43,#�)�A2���,#5&�Q��<&(gU+43��2�$
S������}4".8<0<P16,DU&���7��a&�����B,g�T43<P2��!4"<6�)(�43<¤��<0��<&�T 3.���.81&�Q9:�)/�[�uQ$6�B,g�T43<¤(84���������<&�7�
UZ��2}9Q����<02�$6�B2%9Q.
����$6��,#�)�=4H��2�$&��2)a\U+/043<&�7.���5Z.�����2A4"<6��|}��<&(�5&�T/843<6�`2�$6�`E756�%4H�7�)Ie.�>)�Q,#.����#�%.�56$+4H�%2A4p���'2��)(W���7>�������<&�7�
,f����R�43<6�P��a�.816��56��.�5&.+�%�)(D����$6��,i�~$&�8���=U&��2�2����?��$&��<&�7�Q.�>�����562�16�%43<6�B 3.@���! d432%43�)�oU&��2%9Q����<#(+��5&��<&(+��<+2
2����AR@�Q2�$&��2:����<0.@���716�;43< 1=.�]B�7��.P���� 3.+.�5&��[

�
� � ����� � � � ��� ���

� 	���	 � � � � ������
���	 � � � � � � ���/� � �/
 � 	���	 ���0� � �4� �

� 16������$6��,#�=4H�o�&�7{+43U+ "�D��<6.�16�8$02�.
UZ����565+ _43�)(02�.D56��.8������,f�O9Q432�$0<6�)�%2��)(g5&�'���T _ 3�7 � 3.P.�5&��[?r6.��Q2�$+4H�

tT�



5616��5Z.P�%��a�9Q�?(+�*)&<6�:��<#�)�N�?�����:�%���8,#��<P2s.�>¬��5&�����T _ 3�7 @56��.�������, (+�7 _43,D432��)(DU+/�2%9Q.:��<&�� 3.P�X43<6� � ���7�?� �)�
.�5Z������2%43.�<&��[��X<#2�$+4H��>-����,#��9Q.���R�a��=9:�%432��Q4H�O,f����R��)(D���Q¡�� �D�:E�¡����;�@�7¢=�3���*� ¡-��4_>\432�4p�O��1&�����'<P2����)(c2�$&�'2
2�$6�D,#��,#.8��/0 3.6����2%43.�<W9:�A4"2�2���<�UP/e4"2
���'<6<6.�2BU&�#.�S�����9:�%432�2���<e4"<�2�$6�D�����g2�.g9:$+4H��$�432cU&�7 3.�<6�P��UP/
9:�%432��)�~>���.8, .82�$6���Q56��.@�7�)���%�)�o43<&�� 31&(84"<6�02�$6.P�%�B2�$&��2Q�����
�%5&�T9:<6�)(iU+/#432��%�7 _>�[�] 9:�%432��=4H�Q,f����R��)(f�8�
���N���$� E:�K�8 ���B �3���*� ¡-��4_>h2�$6�����Q4H�~�'2� "�)�8�%2?.�<6�=5&.82���<P2A4p�! ����)��(C���7>�������<&�7��.�>\2�$6�����',#�:,#��,#.8��/c ".6����2%43.�<
2�$&��2;,f�T/#U&��4p���%16�)(0U+/f2�$6�
����,#�B56��.6�7�)���%.8�:U&�7>-.����B2�$6�B<6�7{62��%/+<&��$6��.�<+4 � ��2%43.�<V5&.�43<+2)[?]B�QUZ�7>�.�����a
¡�� ��� EF¡�� �:���3BC�D��¢��H  2
��<&(����N���D��E ���� ���B �3BC�D��¢��H  2B�����
(+�*)&<6�)(`�}4",C4d H���A "/�[

r6.8�~�B���)��(D2�.cU&�=,f����R��)(i���:¡�� �D�:E�¡����;�@�7¢=�}�%�*��¢�a�432:�%$6.�1+ H(iU&�=��1&�����'<P2����)(C2�$&��2�432O4p�o<6.�2o56���)�7�)(+�)(
U+/`��<P/V9:�%432��c2�.f2�$6������,i�
,#��,#.8��/g 3.@����2A4".8<`>-��.�, .�2�$6���=56��.6�7�)���%�)�;43<�2�$6������,#�
���7�6[:]^���)��(g4H�
,f����R��)(����;���N���D��E:�K�� ���B �}�%�*��¢c4_>~2�$6�����C4p�B�'2= "�)�8�%2B.�<6�#56���)�7�)(843<6�V���7>�������<&�7�#2�.02�$6�#����,i��,i��,#.���/
 3.@���'2%43.�<j2�$&��2c,f�T/WU&�g�7{@�)�7162��)(qUP/W2�$6�����',#�f56��.@�7�)���D�T>-2����c2�$6�f,i.P�%2D���)�7��<+2C�A/P<&��$6��.�<+4 � ��2%43.�<
5&.'4"<+2)[

]B���'<W�7{¬�',#5+ 3��a?�7.�<&�X4H(+���D2�$6�g56��.������', �%����,#��<+2)ah�V�X43<6�� 3�0�����6a��%$6.�9:<�43<jrs43��16���0�6[0uQ$6�f���)��(
.�5Z������2%43.�< >���.8, �������T/j� |-4�[¨��[3aQ�;|-4�a "��T���B4H�g,f����R��)(j���0¡�� �D�:E�¡����;�@�7¢=�3BC�D�8¢��H  2��X43<&�7�¤2�$6�����g4H�g<6.
�%1&���7���)(843<6�k9;�%432��`2�.q2�$6���������T/�[ uQ$6�V���)��(q>-��.�, �������T/q]�|-4�[¨��[3aQ]c|-4�a3t�����aQ$6.�9Q��S����)aQ����<6<6.�2gU&�
,f����R��)(0���=¡�� �D� EF¡����;���NBC�D��¢��   2c�X43<&�7�
2�$6�B,i��,#.���/i 3.@����2A4".8<0���)��(gU+/#432:9Q4_ _ �U&�B9:�%432�2���<0UP/g.�<6�B.�>
432��=��$+4_ H(+����<�56��.6�7�)���%�)�=�%5&�T9:<6�)(g2�.#�7{6�)�7162��
2�$6��1=.�]; _ � 3.P.�5i�F[or6.������8��$6�
�����7�)���:5616��5Z.P�%�)��aZU&.82�$
���)��(6�c�����#,g����R��)(W�8�D¡�� �D�:E�¡����;�@�7¢=�%�}�*��¢0�X43<&�7�g2�$6��/W����<6<6.�2
UZ�f56���)�7�)(+�)(WU+/W��<P/�9:�A4"2��)�B2�.V2�$6�
����,i�# 3.6����2%43.�<&��>���.�, .�2�$6���
56��.6�7�)���%�)�c43<q2�$6�g�����6[�ª�43,D4_ H���% 3/�aQ2�$6�g9:�%432��g2�.¤�'�����T/`]�43<&�X4H(+�V2�$6�
1=.�]; _ � 3.+.�5c�:|-4�[¨��[3a+]c|-4�a ������4H�o,f����R��)(g���;¡�� �D�:E�¡����;�@�7¢=�N���?� ¡-���X43<&�7�=432o4H�?�81&������<+2����)(i2�.
UZ�B2�$6�: H���A2
9:�%432��B2�.#2�$&��2:5&�'��2%4H�71+ H���:,#��,#.8��/# 3.6����2%43.�<e4"<V2�$6�B�����6[

� � �0����� � � � � � ��	/��� ��� � ��� 	B� 	���	 ���0� � � ����� � � � � ��� �/
 ��� � ���-� 	 �-� ����� ��� ��� ��� [

uQ$6�=5&.P���X43U+4d _432%/`2�$&�'2?,D1+ 32%435+ "��432�������2%43.�<&�o.�>��B5&�����! d 3�7 � 3.+.�50�����=�7{@�)�7162��)(g.8<f2�$6�B����,i��56��.6�7�)���%.8�
�7.�1+ H(g��<6$&��<&�7�=����2�$6���o2�$&��<f(+���8����(+�:2�$6�=5&���A>�.���,f��<&�7�:.�>�.�16�Q����$6��,#��[���<i2�$+4H�~���8�%��a�432o4H�?5Z.P���X43U+ 3�
2�$&��2g�W���)�8(q,f����R��)(n��� �D���������$�3�� �B �D�%�%�?��¢e4H���%16�)( 43< ��<j432������'2%43.�<k.�>
��5&���7�T _ "�7 B 3.+.�5£���'<kU&�
����2A4p�3)&�)(
U+/
2�$6�����8��$6�Q9Q.���(=165\(6��2��)(DU+/��;9:�%432��Q,f����R��)(
���o¡�� ��� EF¡�� �:�6��¢ �3���*�H¡-��.8�¦�=���)�8(B,f����R��)(
���o¡�� �D� EF¡����;�6��¢=�NBC�D��¢��   2¦43<C�'<B�)���% _43����4"2�������2%43.�<c.�>@2�$6�~����,i�?5&�����! d 3�7 + 3.P.�5c�7{@�)�7162��)(
U+/B2�$6�Q�716������<+2
56��.6�7�)���%.��T[�] �D�����8� �$�3�8 �B �B���)��(g���)G�16�)�%2=����<0U&�D����2%4H� )&�)(eUP/g2�$6�
������$6�B4_> � �  £« � % 
��  �!�#($?!�'8[

t$�



uQ$+4H�O43<&�7���)���%�)�o2�$6�:U&�'<&(+9Q4H(+2�$f���)G�1+43����,#��<+2?.'>�2�$6��������$6�)�?�X43<&�7�=2�$6��/D,�1&�A2�U&�;4"<+2�������.��P��2��)(c��S���<
.�<�� �D���������$�3�� �B �
���)�8(\[B�~����$6�)�=�7.�1+ H(`UZ�#(+�)�X43��<6�)(W�%.g2�$&��2:2�$6�
43<+2�������.8�P��2%43.�<V.�>¦2�$6�74"�B��<+2��%43�)�
.�<m� �D���������D�N�� �B �0���)��(k����<nU&�V��<&��U+ 3�)(k.8��(84H����U+ 3�)(n16<&(+���056��.��8����, � �D�7.�<+2���.' ;�'2#��16<6*-2%43,#��[
uQ$6�f(+�7>���1+ 32
.8562%43.�<W9Q.�1+ H(�U&�g(84p����U+ 3�)(\[�zO<&��U+ _43<6�¤9Q.�1+ H(�.6���716�B4_>:2�$6�#�7��2%43.0.�>~2�$6�#<P16,DUZ���
.�>
56��.6�7�)���%.��7�f�T _ 3.6����2��)(n2�.l��5&�����T _ 3�7 = ".+.�5m.�S����#2�$6�V<P16,DUZ���f.�>B432����7��2%43.�<&�i.�>
2�$6�0 3.+.�5j4H�0�%,g�T _ 
��<6.�16��$�[

� �0� ��� � ��� � ��� � ��� ��	 � ��� �0	�� 
C� � � ��	 � ������������
 [

uQ$6�����g�����DU&.�2�$l��(+S!�'<P2��'���)�B��<&(W(84H����(+S���<+2������)�;43<q$&�)S843<6�¤�0������$6�#U+ 3.6��RW�X4 � �i p�'�������B2�$&��<�.�<6�
9Q.���(\[#uQ$6�g,f�T43<l�8(+S!��<+2������D.�>��i H�����8����*-2�$&��<6*-.�<6��*-9Q.��7(�U+ 3.@��RW�X4 � �#4H�c2�$6�D43,#5+ _4H��432#56���7>-��2���$+43<6�
.�>:2�$6�#.82�$6���
9Q.���(6�;43<q2�$6�#U+ 3.6��RW.8< �V������$6�#,D4H���gJLK�­�N�[guQ$6�#56�%43,#�0(84H����(+S!�'<P2��'���#.�>:$&�TS�43<6���
������$6�09Q432�$k��U+ 3.6��Rk�X4 � �g H�����8���#2�$&��<j.�<6�09Q.��7(�43<k�W�%$&�'���)(+*-,#��,#.���/W,D1+ "2A4"56��.@�7�)���A.��#4H�"�8�)�)� �
�  &�D��BO� ¢���¡����� GE�(+16�D2�.D>��T H�%�#�%$&���A4"<6��J3t�­�N�[Q�X<W��<043<+S!�T _4H(6��2%43.�<6*-U&���A�)(l������$6���7.8$6������<&�7�#����$6��,i��a���<
43<PS��T _4H(6��2%43.�<q.�>¦.8<6��9Q.��7(i4"<W�g������$6��U+ 3.6��Re43<PS��T _4p(6�'2��)�B.�2�$6����9Q.���(6�~4"<�2�$6�cU+ 3.@��R¤���;9Q�7 _ �[BuQ$+4H�
,f�T/k����1&�%���l���8������(+�`.'>B4"<+S!�! d4H(6��2A4".8<&�g4_>�,D1+ 32%435+ 3�W9Q.���(6�c43<m2�$6�¤����,#�`U+ 3.6��Rm�����V9:�%432�2���<nUP/
(84���������<P2Q56��.6�7�)���%.8���?��2Q��U&.8162?2�$6�B����,#�;2%43,#��[���<i>����72)a����o.�U&�%����S��)(c43<¤J ©��TN�a� H�����8��U+ 3.6��Rf�}4 � �)�Q����<
5&��<&�! d4 � �#5Z���%>-.���,f��<&�7�=43<V2�$6�B2%/P5Z�
.�>¦�'����$+432��)�72�16���)�:2�$&��2Q9~�
�'���
�%2�1&(+/843<6�&[

�->?2�$6�
U+ 3.@��R¤�}4 � �D9Q�����= H�����8����2�$&�'<0.�<6�
9Q.���(\aZ�T _ ¦2�$6�c9Q.���(6�o43<W�#������$6�
U+ 3.6��Re ".+��(+�)(0.�<��#���)��(
,D4H����a¬�7{¬�7��562:2�$6�����)G816�)�%2��)(g.8<6��aP9�4d _ �U&�
�����X43��<6�)(gS!�T 316�)�Q.'>�� �  tB��<&( % 
   !�#%$&!�' 4_>�2�$6��/��7.8,#�
>-��.�, 2�$6�f����,#�#S����%4H��U+ 3�`|X��[¨�&[3a��������T/&�:��<&(�2�$6�iS!���%4H��U+ 3�i4H�B<6.�2c,#.@(84C)&�)( 43<l2�$6�#�716������<P2c��5&.6��$�[
� 2�$6����9�4p�A��a�2�$6�Q43<+S!�T _4H(iU+4"27��.�>\2�$6.P�%�o9~.8��(6�������:�%��2�2�.Dt�[���2�9Q.�1+ H(DUZ�:��<D�)���%/
27���%RB>-.����B�7.�,#5+4_ 3���
2�.��T _ ".6����2��g�%$&�����)(�S����%4H��U+ 3�)�#�%.02�$&��2
2�$6��/W(+.V<6.�2
�7��.P����2�$6�#U+ 3.6��RWUZ.�16<&(6���%43�)��[0�;.�2��#2�$&��2=>�.8�
������$6�)�o9Q432�$#U+ 3.@��Rf�X4 � �= H�����8���?2�$&��<i.�<6�:9Q.���(\a8�)����$i9~.8��(c43<��c������$6��U+ 3.6��R#$&�8��432��o.�9:< � �:��<&(0� �
U+432���[ � <`�c9:�A4"2���,D4H����aP9Q�B��(+S�.6����2��B�cS!���%4H��2A4".8<0.�>¦��E�¡����%�:�N��B�BO�$�?�8¡-�:�} ��� <� �F�T¡��:4B5&.' d4H�7/g43<09:$+4H��$`�
U+ 3.@��Rg4H���! d 3.6����2��)(\aZ2�$6�
9;�%432��=4H�:���7�&�)�72��)(g43<�2�$6�
�T _ 3.@����2��)(0U+ 3.@��R`.8<+ "/0.8<02�$6�B���7>-������<&�7�)(V9~.8��(6��a
��<&(e2�$6�=43<PS��T _4p(VU+432��;.�>�2�$6�B.�2�$6���:9Q.��7(6��43<V2�$6�
U+ 3.6��R`�����b�%��2;2�.`t�[

©8«



� ���������
���h����� �	� 
\� ����� �:� � � �'
�
s�?
Z� �Q	 
��:
 
�� 
?��
��Q� �;��
 � 
\
�
��
� �-


uQ$6�Q1&�%�o.�>&56�%43S!��2������8��$6�)��4H����(+S�.6����2��)(=43<D,f��<+/B56��.�5Z.P�%�)(c��<&(ZY).��s43,#5+ 3��,#��<P2��)(#�%$&�����)(+*-,i��,#.���/
,D1+ 32%4356��.@�7�)���%.����;2�.#���)(+1&�7�cU&.�2�$02�$6���TS������'����,i��,#.���/0�����7�)���Q2A4",i����<&(g2�$6�c<6��2%9~.8��R#2����!����[�]B�
9Q�:U6�%43�7�&/#,#��<+2%43.�<6�)(C43<`ª��)�72%43.�<�t�a82�$6�����������:2%9~.B�8��<6�����T ��'5656��.P����$6�)��2�.B��<+>-.�����43<6�#������$6���7.�$6����*
��<&�7�Q43<D H�����8��*������T 3���%$&�����)(+*-,#��,#.���/c,D1+ "2A4"56��.@�7�)���A.����:
�(843���)�72�.���/P*-U&���A�)(#��<&(D�%.�>-2%9��'����*������X4H�%2��)(\[���<
�`(843���)�72�.���/+*-U&���%�)(q������$6�0�7.�$6������<&�7�`����$6��,#��a��V(84"���)�72�.���/���<+2���/�a�9:$+4H��$�4H�cR���562B43<j2�$6�#,i��,#.���/
�7.�<+2���.� _ 3���)a+4H�=�����%.6��4H��2��)(e9Q432�$0�)����$`,#��,#.8��/#U+ 3.@��R\[~uQ$+4H�;��<P2���/f��<&�7.6(+�)�;2�$6���%27��2��=.�>¦2�$6�BU+ ".6��R�[
uQ$6�D�%2���2��=4H�;1&�%�)(V2�.f(+�)��4H(+�D9:$6��2�$6���=2�$6������4p�B�C<6���)(0>-.��Q43<+S!�T _4H(6��2%43.�<&��.�<¤�C��43S���<`9:�A4"2��
2����'<&�%*
���72%43.�<V2�.#2�$6�cU+ 3.@��R`��<&(g4_>~�%.Za62�.D 3.6����2��
2�$6�
56�%43S!�'2���������$6�)�;9:$+4H��$�$&�TS��
�#�7.�5+/0.�>�2�$6�
U+ 3.6��R02�.
U&�=43<+S!�T _4H(6��2��)(\[o��2o4H�Q�T H�%.D1&�%�)(i2�.
2��7 _ �9:$6��2�$6���Q2�$6�B�7.������)�%5&.�<&(843<6�D,#��,#.8��/DU+ ".6��R#4H�Q�%2��T 3�=.��?<6.82
��<&(e4_>��%.Za\2�.# 3.6����2��D2�$6�D56�%43S!�'2��#������$6�D9:$+4H��$V4p����1&�����'<P2����)(e2�.g$&�)S8�
2�$6�D,#.P�A2b�716������<P2B�7.�5+/`.�>
2�$6�cU+ ".6��R�[o��<���(6(8432%43.�<`2�.i2�$6�
�%2���2��=4"<V2�$6�B�� 3.�U&�T �(84"���)�72�.���/�a\�c 3.@���! ¦�%2���2��=4p�;1&�%1&�T _ 3/`�����A.@��4H��2��)(
9Q432�$��)����$¤������$6�
U+ 3.6��Re43<¤56�A4"S���2��D������$6�)��[�uQ$+4H�� ".6���T ~�%27��2��=4H�:1&�A�)(`2�.f�T _ 3.!9y�C56�%43S!��2��#������$6�
2�.
�%����S84H�7�
,#.+�%2:���)G816�)�%2��o>-��.�,^432��=�����%.6��4H��2��)(g56��.6�7�)���%.8�:9Q432�$6.�162Q43<&�716���A4"<6�`�'<P/g�� 3.�U&�T ¦�8�72%43.�<&��[

z�S8��<`2�$6.�16�8$¤������$6���7.�$6������<&�7�C����$6��,#�)�;U&���%�)(e.�<¤(843���)�72�.��%43�)�B����<`UZ��G81+432��D�7����43��<P2=43<`/843�7 H(84"<6�
�q$+43��$m$+4320����2%43.jU&�)���'1&�%��.�>�2�$6�743�`��U+4_ _432%/£2�. (+/+<&��,D4H���T _ 3/mR�����5m2�������Rj.�>�2�$6�¤�%2��'2�1&�#.'>��)����$
U+ 3.@��R\aQ2�$6�0<6��2%9~.8��RW2����!���#�8��<6������2��)( >�.��c43<+S!�T _4H(6��2%43.�<m���)G816�)�%2��#�'<&(q>-.��D2�$6�0,f��<+43561+ H��2%43.�<m.�>
 3.@���! ���<&(ZYT.��#�� 3.�U&�T B�%2���2��i43<+>�.8��,f��2%43.�<m����<jU&�W�%16U&�A2���<+2%4H�T �[k�X<k.�16�#56��.�5&.P�A�)(k����$6��,#��aQ������$6�
��<+2��%43�)���'���:43<+S!�T _4H(6��2��)(��%.� 3�7 3/0UP/i 3.@���T �56��.@�7�)���%.����:�'<&(g<6.#�� 3.�U&�T _ 3/P*-,g��<+43561+ p�'2��)(V43<+>�.8��,f��2%43.�<g4H�
�����A.@��4H��2��)(c�7432�$6����9Q432�$#������$6�QU+ 3.@��R@��.8�h9Q432�$D,#��,i.���/BU+ 3.@��R6��[�uQ$+4H���7 d43,D43<&��2��)��2�$6�Q�7{62����;<6��2}9Q.���R
2����!���#��2B2�$6�i�7{@5Z��<&�%�0.�>? 3�)���c�7����43��<+2#������$+43<6�&[g]=<W43<+432%4H�T :5&���A>�.���,f��<&�7�f�7.�,i5&���%4H�%.�<WUZ��2%9~����<
.�16�:56��.�5&.P�A�)(02%43,#�)�%27��,#56*-U&���%�)(0����$6��,#�D��<&(0�#(843���)�72�.8��/P*-U&�8�%�)(`����$6��,#�B9:���Q,g��(+�=43<lJLK�«TN�[�uQ$6�
���)�%1+ 32��¦43<&(84p���'2��)(#2�$&��2�2�$6�Q2%43,#�)�%2��',#56*-U&���%�)(#����$6��,#�;����<6�����T _ 3/D/�43�7 H(6�o,D4H�������'2%43.P���7.�,#5&���7��U+ 3�~2�.
2�$6.P�A��.�>�2�$6�B(843���)�72�.���/P*-U&���A�)(f����$6��,#�B9Q432�$i 3�)���o<6��2%9~.8��RD2����T���~>�.��o5&�����T _ 3�7 �56��.����7��,f��9;�%432�2���<i4"<
2�$6�DªP�o� 1^|%�X43<6�� 3�
56��.��8����,�,D1+ "2A4"5+ 3�#(6��2��@�¦,i.@(+�7 h.'>¦5&���7�T _ "�7 �56��.��8����,#,D43<6�D9:$6�����c5&�����T _ 3�7 _4H�%,
4H�:�7{656���)���A�)(g43<`2�����,f�o.�> 1=.8]: _ � 3.+.�5&��[ 1=��2��!4d 3�)(e���)�%1+ 32���>���.8, 2�$6�
�7.�,#5&���%4H�%.8<¤�����=<6.�2:����5&�)��2��)(
$6�����D��<&(i43<P2������)�%2��)(0���)��(+�����:�����B���7>��������)(g2�.`JLK8«)NX[

��<j.816�f�7.�,#5&���7��2%43S��0�%2�1&(+/mJLK�«TN�a�9Q�g$&�)S8�f1&�%�)( 2�$6�g,#.P�%2D�7����43��<+2`|-43<j2�����,f�c.�>�$+432#����2A4".W��<&(

©¬t



<6��2%9Q.���RB2����!���T��(843���)�72�.���/�����$6��,#��[��X<#.���(+����2�.=$&�TS��~�;>��T43�?�7.�,#5&�'�%4H�%.�<�a�9Q�Q<6���)(+�)(D2�.
(+��2�����,C4"<6�
2�$6�o,#.P�%2��7����43��<P2��%.�>-2%9:������*������}4p�A2��)(B����$6��,#��[�uQ$6�����7>-.�����aT43<
2�$+4H���%�)�72A4".8<�a�9~�o��S!�T 31&��2��~2�$6�?���7 H��2%43S��
� ���)�72%43S���<6�)���D.'>�S����%43.�1&�#�A.�>�2%9:������*��8���X4H�%2��)(�������$6���7.8$6������<&�7�`����$6��,#�)��[��\��� � �0JL©8M)NXa?�o$6��.�<6�¤��<&(
���74H(+��<PU&�'16, � ��J �6a;t)«TN�a:��<&(j.816�#.�9:<k2%43,#�)�A2���,#56*-U&���A�)(k������$6�¤�7.�$6������<&�7� ����$6��,#�)�g�����`��$6.P�%��<
�X43<&�7�#2�$6��/`���'<¤�7{65+ 3.�432���<e43<&�7���)���X43<6�¤�',#.�16<+2�.�>?56��.�������,  ".6���T _432%43�)��[D�:.�2A4p�7�D2�$&�'2
�?$6��.8<6����<&(
���74H(+��<PU&�'16, � �
����$6��,#�iU&�743<6�`��S��T 31&��2��)( 4"<�2�$+4H��5&��5&����4p�=2�$6�
>����%2�*��%�7 3�)�72%43S��f����$6��,#�`J �+a�t)«TN�a\<6.82
2�$6�:S8�����X43.�<f�7.�<+2���.' ¬����$6��,#�DJL�TN�[��W�Q�7{@5Z�)�72Q2�$&��2�2�$6�:5Z���%>-.���,f��<&�7�;.�>�2�$6�;S������X43.�<f�7.8<P2���.� ¬����$6��,#�
9Q.�1+ H(VU&�D�)���%��<+2%4H�T _ 3/¤2�$6������,i�����;2�$&��2=.�>?2�$6�c2%43,#�)�%2���,i56*-U&���%�)(�����$6��,#�B>-.��=5&�����T _ 3�7 ?56��.����7��,f�
9Q432�$V.�<+ 3/+1=.�]; _ � 3.P.85&��[ � 16�;��S!�T 31&��2%43.�<�,#��2�$6.@(+.� 3.��8/#4H�;2������7��*�(+�%43S���<`�}4",D1+ H��2%43.�<�[

uQ$6�0,#��2�$6.@(q1&�%�)( 2�.�����2#5&���7�T _ "�7 =2������7�)�D��<&(q2�$6�`�}4",D1+ H��2�.8�f�%2���1&�72�16���`�����0(+�)���7�%43U&�)( 43< ª��)�7*
2%43.�<`M6[pt�[oª��)�72%43.�<¤M6[ ©�(84H���71&���%�)�:2�$6�
����,#5+ 3�
5&�'���T _ 3�7 h56��.����7��,f�o2������7�)(\[oª��)�72%43.�<�M6[LKc56���)�%��<+2��Q.816�
�X43,D1+ H��2%43.�<`���)�%1+ 32���[

����� � � ��������� � �����

]B�:�%$6.�9:<i4"<�rs43��16��� �6a+2�$6�
�X43,D1+ H��2%43.�<��7.�<&�X4H�%2��Q.'>h2�$6�����
�%2���5&�:
�����<6�����'2%43.�<0.�>¦�%���A4p�! h2������7�)�o9Q432�$
,f����R�������a+56����56��.6�7�)���X43<6�&a\��<&(0���72�1&�T h2����8�7��*�(+�%43S���<¤�X43,D1+ H��2%43.�<�[

�����C��� 	 ����� ��	/��� ��� ���"� �/���0	 � ����	 ���/�

us�����7�:(6��2��;1&�%�)(�43<�2�$6�~�7{65&���A4",i��<P2O4p��.8U62��T43<6�)(cUP/c56����56��.6�7�)���X43<6�
2��7���7�)�\>-��.�,��%���%4H�T 6�7{6�)�7162%43.�<#.�>
5&�����! d 3�7 &56��.8������,f��9Q432�$
,f�'��R�43<6�;43<&�%2���1&�72%43.�<&�O��,DU&�)(6(+�)(�43<�2�$6��,`[��¤�'��R��������'����5+ H���7�)(D.�<c��S���<P27�
.�>�43<+2������)�%2:�%1&��$0���?�%27����2?.'>¦��<g��5&.6��$�a+��<&(g.�>h��<i43<&�%2���<&�7�B.�>h��<g��5&.6��$�a6��2���[oª�43<&�7�
2�$6�=56��.����7��,f�
1&�%�)(e2�.D����<6������2��=2�$6�B2��7���7�)�o9~�����B9:�%432�2���<g1&�X43<6�f�7{65+ _4H��4"2B5&�'���T _ 3�7 ¦�7.�<&�%2���1&�72��;|���[¨�&[3a<1=.�]; _ �a&z?�M1
1=.�]; _ ��7a&2�$6�=43<&�%����2%43.�<�.�>h,f����R�43<6�i4"<&�A2���1&�72%43.�<&�;9:���:�%2��7�T43��$P2A>�.���9��'��(\[huQ$6�B.8�%43��43<&�T O�A���%4H�T h2����8�7�)�
�����D�P�'2�$6�����)(0U+/l¡-�N���7�)�7a\�g2������7�c����<6������2%43<6�056��.8������, ��16<�.�<`2�$6�
��] � ������$+432��)�72�16���D16<&(+���c2�$6�
�� "2��%4_{ �B©6[LK=.85&������2A4"<6�D�%/6�%2���,�J3tD�TN�[�r6.����)�8��$#,i��,#.���/c���7>�������<&�7�:2�$6�:�7.������)�A5&.�<&(843<6�D2������7�Q���)�7.8��(
�7.�<+2��T43<&�M)&�7 H(6�c>-.��B2�$6�i2}/+5&�i.�>:���7>�������<&�7�`|���[ �&[3a\���)��(¤4"<&�A2���1&�72%43.�<�a����)��(W(6��2��¬a\9:�%432��0(6��2��6a\��2��T�7a
�%2�.8���������A����,#��<+2?43<+S�.� 3S��)(e|-4�[¨��[3a6(6��2��D�%���8,#��<P2TaP�%2��8��R#�%����,i��<P2Q.��O4"<&�A2���1&�72%43.�<`�%���8,#��<P2���a+2�$6�b�}4 � �

©8©



.�>�2�$6�=432���, U&�743<6�f���7>�������<&�7�)(\a\��<&(g2�$6�c,#��,#.���/f��(6(+���)����[

�����C��� � ���/����� ���/��� � � 


uQ$6�#.8�%43��43<&�T ~�%���%4H�T ?2��7���7�)�B�����D���)�%2���1&�72�16���)(V2�$6��.816��$�2�$6�#56����56��.6�7�)���X43<6���%2���5�U&���%�)(�.8<¤S����%43.�1&�
2%/P5Z�)�c.�>:,f����R����7�
���c�%$6.�9:<�43< rs43��16���¤t)«¬[0]:2�2��A4"U6162��)�B���)G81+43���)(j(+16�%43<6��2�$6���8�72�1&�T ��}4",D1+ H��2%43.�<
�����B�����}4"�8<6�)(g2�.D�)����$g���7>-������<&�7�
(+16�%43<6�g2�$+4H�:�%2���5�[�uQ$6�)�%�=43<&�� 31&(+�D,f����R843<6�P�o.�>h���7>-������<&�7�)�Q1&�A�)(i4"<
2�$6�
������$6�
�7.�$6������<&�7�D����$6��,#�)�:�X43,D1+ H��2��)(\a62�$6�BS��T 316�
.�>�2�$6�
�����%.6��4H��2��)(0�� 3.6��Rg������4H�%2����TaP��27��[Q|->-.��:�
�7.�,#5+ 3��2��= _4H�%2)aZ�%���bu���U+ 3�B­6��[�uQ$6�B,g����R84"<6�+�?����56���)�%��<+2��'<f16565Z���:U&.�16<&(g.8<f2�$6�B�����716���8�7/f.�>h(6��27�
(+��5&��<&(+��<&�7�i43<+>�.8��,f��2%43.�<02�$&��2b�7.81+ p(eU&�D.�U62��!4"<6�)(�>���.�, �C5&�����T _ 3�7 _4 � 43<6�W�7.�,#5+4_ 3���)[=r6.��:�7{&��,#5+ 3��a
43<W2�$6�#56��.�������, �%����,i��<P2
�%$6.�9:<V43<lrs43��16���Vt�t
2�$6�#,#��,#.���/0 3.@���'2%43.�<l�7.������)�%5&.�<&(843<6�V2�.0]
|%©+�?4H�
,f����R��)(D����������$6�)��U+ 3�:43<#.�16���7{65&���A4",i��<P2o>-.��?�\��� � �o����$6��,i�Q4_>�2�$6�
¡�4+�) B5&��2�$D4H��2���R8��<C�'2��7{@�)�7162%43.�<
2%43,#�#(+16�%43<6�g2�$6�
2�$+43��(e432������'2%43.�<`.�>?2�$6��1=.�]B�7��.P���~ ".+.�5�[=¥:.�9Q��S����)a+2�$6�D�7.�,#5+4_ 3���
9Q.�1+ H(0,f�'��R#432
���;<6.�<6*�������$6�)��U+ 3���}4"<&�7�D2�$6�#�7.�,i5+4d 3���D�%$6.�1+ H(�,f��R8�
2�$6�#�7.�<&�%����S!��2%43S��#�����%16,#562%43.�<�2�$&��2=2�$6�0�DB E��
5&��2�$q�7.�1+ H(WUZ�f2��'R���<�[0uQ$+4H���} d43��$+2% 3/�43<&�7���)���A�)�
2�$6�#$+432��7��2%43.`.�>:�\��� � �D����$6��,#��[0uQ$6�)�%�gR�43<&(6�c.�>
.�562%43,D4H�%2A4p�e,f����R843<6�P�#�����01&�%�)(q2�$6��.�16�8$6.�162DU6162f(+.W<6.�2#U+4H���C2�$6�0�7{@5Z���%43,#��<+2��X43<&�7����U&.�162i2�$6�
����,i�
(+���������
.'>�>��TS�.8�?4H�;��43S���<`2�.�2�$6�B2�$6����������$6��,#�)����S!�T 31&��2��)(\[

��<V.���(+���:2�.#����,#.�S��B2�$6�
(+���8�����
.�>�>-�����)(+.�,�U6��.816��$P2;165&.�<VUP/g2�$6���A.�56$+4H�%2%4H����2%43.�<V.�>¦2�$6�
������4H�%2����
�T _ 3.@���'2%43.�<�2��)��$6<+4HG816�)�:1&�A�)(g43<`2�$6�D�7.�,#5+4_ 3���)aZ2}9Q.#(84���������<P2;5&�����T _ 3�7 ¦2������7�)�o>-��.�,�2�$6�D����,#�
�%���A4p�! 
2����8�7�B9~�������X43,D1+ H��2��)(\[:uQ$6�J)&���%2:2��7���7�D|?�+  � B_¡-�T�}�7¢=S������X43.�<\�Q�7.�<P27�T43<&���T _ �2�$6�B���7>-������<&�7�)�=2�$&��2;2�$6�
.��%43��43<&�T ~�A���%4H�T ¦2������7�
$&�8��[:�X<¤2�$6���%�)�7.�<&(V2��7���7�#| � B_¡-�)�%��¢�S������X43.�<\��a\�T _ �2�$6�f�%�N2���EF¡-�T�3� �:B_�:���7>-������<&�7�)�
�����M)6 32������)(0.�162)[O] ���)�8(g���7>�������<&�7�B4H��(+�*)&<6�)(V2�.DUZ�f�%�32�� E�¡-�)�N� � B_�o4d>�432�$&�8�:��2o 3�)���%2=.�<6�B56���)�7�)(843<6�
���7>-������<&�7�W|X�74"2�$6���#���)��(q.��D9:�A4"2����
2�.�2�$6�`����,i�f,#��,i.���/� 3.6����2%43.�<j43<n2�$6�`����,#�g��5&.6��$j43<&�%2���<&�7�
9:$6�����)�8���e9:�%432��i4H��(+�*)&<6�)(q2�.0U&�`�%.e4d>;4"2D$&���c��2B 3�)���A2�.8<6�f�%1&���7���)(843<6�l9;�%432��#���7>-������<&�7�02�.V2�$6�
����,i�W,#��,#.���/j 3.@���'2%43.�<m43< 2�$6�l����,#�V43<&�%2���<&�7��[ uQ$6�)�%�W�����'4p�A2�������U+ 3�q���7>�������<&�7�)�0����56���)�A��<P2���<
16565&���gU&.816<&(q.�>����7>-������<&�7�)�i2�$&��2����'<jU&�`����562�16���)(qUP/q������4H�%2����7��[Wz�S���<j2�$6.�16��$j2�$6�g16< )6 32������)(
2����8�7�g4p�g,i.����0���)�T _4H�%2%4H��a;�)�%5&�)��4H�T _ 3/m9:$6��<k9Q�¤(+.�<6.�2#R+<6.!9 $6.�9�,f��<+/q������4H�%2������C9Q4_ d 
UZ�`1&�%�)(
43< �0�7.8,#5+4_ "���Tah2�$6��)6 32������)(�.�<6�g�T _ ".�9���1&�B2�.`�A���#2�$6�c43,#5&.���2���<&�7�g.�>?43<+2�����*-��5&.6��$W 3.6���T _4"2%/W�X43<&�7�
2�$6�V43<P2�����* 43<&�%2���<&�7�  ".6���T _432%/k4H�V����562�16���)(nU+/k2�$6��������4H�%2�������U+ 3�W���7>-������<&�7�)��[ ���W2�$+43<6Rk2�$&�'202�$6�

©8K



��S!�! "1&�'2%43.�<#U&���%�)(C.�< )6 "2������)(D2����8�7�)��UZ�)�7.�,#�)��,i.����o43,#5&.���2���<+2h9Q432�$i2�$6�Q�7{P4H�%2���<&�7�;.�>&43<&�7���)���}4"<6�' "/
�%.�56$+4H�%2A4p���'2��)(0�����'4p�A2����b�! d 3.6����2%43.�<V2��)��$6<+4HG816�)��[

�����C��� �:��	 �����G
���������� ��� �B� �0	/��� ���

us�����7�)�o���)�%2���1&�72�16���)(iUP/#2�$6��56����56��.@�7�)���}4"<6�g�%2���50�����=1&�%�)(g2�.�(+�A4"S8�
�
������$6�
�X43,D1+ p�'2�.��o43<0.���(+���?2�.
.�U62��!4"<0S����%43.�1&�o5&���A>�.���,f��<&�7�=,#�)���%16���)�Q�%1&��$`���O2�$6�B$+432~�7��2%43.#��<&(#2�$6�b��,i.�16<P2Q.�>�<6��2%9Q.���RD2����!���
>-.���S!���A4".81&�?������$6�:.����+��<+4 � ��2%43.�<&��[�uQ$6�Q43<656162Q5&�����',#��2�������2�.B2�$6���}4",D1+ H��2�.8�~�����Q2�$6�=������$6�=�X4 � ��a@�A��2
�����A.@��4H��2%43S8432}/�a82%/P5Z�:.�>�������$6���7.�$6������<&�7�=����$6��,i��a��� 3.�U&�T &,i��,#.���/c165�(6��2��Q5Z.� _4p�7/�a¬����5+ H���7��,#��<+2?5&.' "*
4H�7/�a6<+16,�UZ���:.�>h56��.@�7�)���A.����Q�T _ 3.@����2��)(\a&��<&(i56��.@�7�)���%.��:����$6�)(+1+ d43<6�05Z.� _4p�7/�[o] (843���)�72�*-,g��565&�)(V������$6�
9Q432�$q.�<6��*-9Q.���(�U+ 3.6��Rq�X4 � ��a?�%.`2�$&��2B>��T H�%�0�%$&���%43<6�`� ���)�72��c�����#�7 _43,D43<&��2��)(\aO4H�D�����%16,#�)(�2�$6��.816��$6*
.�162g2�$6�0�7{65&���%43,#��<+2)[ u���U+ 3�¤Mq�%$6.�9��D2�$6�`����<6�8�)�D.�>B2�$6�`5&���7��,#��2������C9:$+4H��$ (+�*)&<6��2�$6�`�%5&���7�
���72�1&�! d 3/q�7{@5+ 3.����)(WU+/W.�16�c�7{@5Z���%43,#��<P2T[ � <+ "/q(6��2��0���7>�������<&�7�)��|�U&.�2�$W56�%43S!��2��`��<&(l�A$&�����)(W(6��27�
���7>-������<&�7�)�7�?�����=�X43,�1+ H��2��)(f�X43<&�7�B���)G816�)�%2��¦>�.8��43<&�%2���1&�72A4".8<&�:����<#UZ��$&��<&(8 3�)(0�X43,D4_ H���% 3/g43<g2�$6��2�$6�����
����$6��,#�)��[guQ$6�#.�162�56162�>���.�, 2�$6�f�X43,D1+ H��2�.��=43<&�� 31&(+�)�D2�$6�i,D4H���B���'2%43.0>-.��B�)����$W2%/P5Z�#.�>~���7>�������<&�7�
��<&(e2�$6����,i.�16<P2;.�>?<6��2%9~.8��Rf2����T����[Q�Q�)���%.8<&�Q>-.���������$6�
,C4p���%�)�B�%1&��$¤���QU+ 3.6��RV,D4H����aZ2%43,#�)�%2��',#5
,D4H�%,f�'2���$�ao��2���[q�����`�T H�%.W56��.!S84H(+�)(\[ �W�0����5&.8��2#2�$6�`��UZ.�S��f5Z���%>-.���,f��<&�7� )&�816���)�c>-.��D.�<+ 3/l.�<6�
56��.6�7�)���%.��T[ uQ$+4H�C4p�0�A1+����43��<P20UZ�)����1&�%��.�>B2�$6�W�%�7 _>�* 43<+S!�T _4H(6��2%43<6�m<&��2�16���V.�>B2�$6�W����$6��,i�)�#16<&(+���
��S!�! "1&�'2%43.�<�[

uQ$6�D���72�1&�T ¦����$6�)(+1+ _43<6�0.�>�5&�����T _ 3�7 h432����7��2%43.�<&�;.�<056��.6�7�)���%.�����a6U&���%�)(e.�<02�$6�
<+16,DU&���=.�>?�T _ ".6����2��)(
56��.6�7�)���%.��7��a+4H�:(+.�<6�B9:$6��<V2�$6�B���)�%2���1&�72�16���)(g2��7���7�:4H�;56��.6�7�)���%�)(0U+/g2�$6�
�X43,D1+ p�'2�.��)[�uQ9Q.#(84���������<P2
2%/P5Z�)�D.�>b����$6�)(+1+ _43<6�j5&.� _4H��43�)�0�����01&�%�)(�
g56����*�����$6�)(+1+ _43<6�k��<&(q����<&(+.8, ����$6�)(+1+ d43<6�&[ ��<j2�$6�056����*
����$6�)(+1+ _4"<6�05Z.� _4H�7/02�$6�����	�b432�������2%43.�<0.'>¦�D5&�����! d 3�7 � 3.+.�5g4H�Q�7{6�)�7162��)(0.�<��� 
� 	��(
)
)�= 7�
 $
���q9:$6����� �
4H�=2�$6�
<+16,DU&���=.�>�56��.@�7�)���%.����=�T _ 3.@����2��)(\[:��<�2�$+4H�;5&.� _4H�7/�a\432;4H�B�T H�%.f�����A16,#�)(V2�$&��2:.�<6�D(+�)�X43��<&��2��)(
56��.6�7�)���%.��0���T _ 3�)( �V]
ªPu;z?� �T 39:�T/@�i�7{@�)�7162��)�0�T _ b2�$6���%���%4H�T 
�����'4".8<&�D43< 2�$6�V56��.����7��,`[ �X<m2�$6�
����<&(+.8, ����$6�)(+1+ _43<6�¤�����%��aZ9:$6��<6��S����=2�$6������4H�B��<043<&�%2��'<&�7�
.�>~��<V��5&.6��$V>-.��:�7{6�)�7162%43.�<q|-43<&�� 31&(84"<6�
�#�%���A4p�! h������43.�<\��aZ�D56��.6�7�)���%.��Q4H�;����<&(+.�,C "/0�%�7 3�)�72��)(e2�.#�7{6�)�7162��B432)[

©'­



���	� � � � � �'��� � 
 ����� ����� ��� ����� � �

uQ$6�����D5&���7�T _ "�7 :��565+ _4H����2%43.�<q56��.������',f���'���
1&�%�)( 2�.f�8��<6������2��D2�$6�D2����8�7�)��[
uQ$6��/V>-.� _ ".�9�2�$6�#���',#�
5&�����! d 3�7 �56��.����7��,#,D43<6�D5&������(843��,Va6<&��,#�7 3/�
:ªP�o� 1 |}�X43<6�� 3�D56��.��8����,�,D1+ "2A4"5+ 3�#(6��2��@��[

uQ$6� )&���%2g56��.������',`a-E:� � J ©�«TN�a~�}4",D1+ H��2��)�g��,�1+ 32%4H�%27�����g43<P2������7.�<6<6�)�72%43.�< <6��2%9Q.���R�9:$+4H��$ �%����S8�)�
S��)�72�.8�Q 3.P��(ZY!�%2�.����B���)G816�)�%2��o>-��.�, 56��.@�7�)���%.����Q2�.#,#��,#.���/f,#.6(+1+ 3�)��[:uQ$6�D�%�)�7.�<&(056��.�������,Va 2�����E?E
J3t)KTN�a¬1&�%�)�Q2�$6���B��1&���Q�7 _43,D43<&��2%43.�<�2��)��$6<+4HG�16�D2�.f�A.� 3S��B2�$6�=>-.� _ ".�9Q43<6�i _4"<6�)�'�
�%/@�A2���,�.�>¦�)G81&��2%43.�<&��[

( �������%, ( � ����� , &)&(&�, ( � 1 � 1  ���

( �������%, ( � ����� , &)&(&�, ( � 1 � 1  ���

& & & &

( 1 ���-� , ( 1 ����� , &)&(&�, ( 1�1 � 1  � 1

uQ$6�� p�8�%2b�'565+ d4H����2A4".8<�a�� 4+¢�a64H�=�#56��.�������, >�.��;2�$6�
<+16,#���%4H���T ?�%.� 3162%43.�<V.�>?2%9~.8*�(84",i��<&�X43.�<&�T h,f�'��*
<6��2�.�$+/6(+��.@(+/+<&��,D4H� |}��¥!1c�B(84 ��������<+2%4H�T ��)G81&��2%43.�<&�eJ3t)�TN�[lu�$6� )&���%2D2%9~.�56��.8������,f�c�����09:�A4"2�2���<
43<�� �A��ah�g5&�'���T _ 3�7 ?�7{@2���<&�}4".8<l.�>?2�$6�0� 56��.����7��,#,D43<6�i p�'<6��1&�����`J ©6t7N�[�u�$6�
 H���A2B.�<6�D4H�
�g�X _43��$P2A "/
,#.6(84C)&�)(�S������X43.�<�.�>?2�$6�
56��.��8����, .��%43��43<&�T _ 3/¤9;�%432�2���<043<W¥=z?� r � �hu;�Q]b�c[�uQ$6�)�%�c56��.����7��,f�=(+.
<6.�2Q�7.�<P27�T43<f��<+/ 1=.8]b�7��.+���s 3.P.�5��+2�$+4H�o�X _4"�8$P2% 3/D>��TS�.�����2�$6��������$6���7.�$6������<&�7�B����$6��,#�)��9Q432�$i _432�2% 3��.8�
<6.f��U+4_ _432%/02�.#����562�16���=43<+2�����* 432�������2A4".8<g ".6���T _432%/�[~u���U+ 3�
�#�%$6.�9��Q�D�%16,#,f�'��/#.�>�2�$6�B��$&���7���72����%4H�%2%4H���
.�>Q2�$6�D2�$6�����#2��7���7�)�:1&�A�)(V43<W2�$6�#�7{65&���%43,#��<+2)[D�X<W2�$6�D2���U+ 3��ah�gS��T 316�0|�.��
�7.8<P2���<+2��;.�>��g,i��,#.���/
 3.@���'2%43.�<\�?4H�=�7.�<&�X4H(+�����)(V�%$&�����)(i4_>�432:4H�:�8���7�)���%�)(0U+/g,#.����B2�$&�'<0.�<6�B56��.6�7�)����[

����� � � ��� � ���

uQ$6�����k�'���W2�$6�����j2%/+5&�)�V.�>f2���,#5&.��7�T 
 3.6���T _4"2A4"�)� 43<�5&�����T _ 3�7 f56��.8������,f� 
j43<+2�����* 43<&�%2��'<&�7��ac4"<+2�����*
43<&�%2���<&�7��aZ��<&(i43<P2�����*-��5&.6��$g 3.6���T _4"2A4"�)��[:uQ$6�B,f�T43<`(84���������<&�7�
��,#.�<6�D2�$6�=2�$6�����
����$6��,#�)����S!�T 31&��2��)(
$6������4p��43<`2�$6�743�B��U+4_ _4"2%/V2�.#�7{65+ ".'4"2B2�$6�
��U&.�S��B2%/+5&�)�;.�>h 3.6���T _432%43�)��[:]; _ ¦2�$6�����
����$6��,i�)������<V�7{@5+ 3.�432
2�$6� )&���A2#2%9~.�2%/+5&�)��aQ�T 32�$6.�16��$j2�$6�¤��,#.816<P2D.�>=43<P2�����* 4"<&�A2���<&�7�0 3.6���T _432}/k���'562�16���)(jU+/j�\��� � �#��<&(
�?$6��.�<6�D��<&( ���74H(+��<+U&��16, � �Q����$6��,#�)��4H�¦ d43,D432��)(\[o��2O4H��U&�)���'1&�%�b���8��$+43<6�B4H�o���)�%2��%4H�72��)(D2�.B���7>-������<&�7�)�
2�.D���)��(+*-.8<+ "/0�%$&�����)(#S����%4H��U+ 3�)�Q43<02�$6�=>-.���,i���~�����%�B��<&(g2�.D���)�8(#���7>-������<&�7�)�Q,g����R��)(g���M�?���:4P� �}�%�?�8¢

©8M



43<02�$6�Q H��2�2����)[ � <+ "/V�?$6��.�<6�D��<&(����74p(+��<+U&��16, � �:��<&(i2�$6�:2%43,#�)�%27��,#56*-U&���%�)(g����$6��,#�)�Q����<g�7{@5+ 3.����
43<P2�����*-��5&.6��$q 3.6���T _432}/q�X43<&�7�#43<j�\��� � �D����$6��,#�f������$6�)�D�����c�&1&�%$6�)(j��2B2�$6�i��<&(W.�>:�)����$W��5Z.@��$�[0]B�
9Q�f,i��<P2%43.�<6�)( 43<mª��)�72%43.�<j­&[3t�aO2�$6���',#.�16<+2�.'>:43<P2�����*-��5&.6��$  ".6���T _432%/k����562�16���)(qU+/j�?$6��.�<6�W��<&(
���74H(+��<PU&�'16, � �B����$6��,#�=4H�:S8����/# _43,D432��)(\[

uQ$+4H�QG�1&�! d432��'2%43S��������A�)���%,#��<+2�4H��S!�! d4H(6��2��)(gUP/c2�$6��(6��2��B�A$6.!9;<D43<frs43��16���
t)©=9;$6�����:2�$6�:,C4p��������2A4".+�
.�>\2�$6�Q2�$6����������$6��,#�)���������A$6.!9;<C�! ".8<6�B9Q432�$#2�$6�Q,D4H�������'2%43.B.�>�2�$6�:�%���A4p�! &�7{@�)�7162%43.�<0�����%�Q9:$6��<i2�$6�
5&�����! d 3�7 ?56��.8������,f�o$&��565Z��<�2�.#U&�D�7{6�)�7162��)(0.8<¤�#�X43<6�� 3�#56��.@�7�)���A.��)[QuQ$6���%���A4p�! ¦�7{6�)�7162%43.�<¤�! "9:�T/6�
/84"�7 H(6�=2�$6�B$+43��$6�)�A2�$+432=����2%43.#�X43<&�7�D<6.f������$6�B��<P2���/#4H�;<6���)(8 "�)���X 3/043<PS��T _4H(6��2��)(\[

r6.8���%,f�! d �������$6�)�c2�$6�����D4H�D<6.82
,D1&��$j(84���������<&�7�`��,#.�<6�V2�$6�#2�$6����������$6��,#�)��[V��2c4H�cU&�)����1&�A�02�$6�
2�$6�����:����$6��,#�)�s���)�%5Z.�<&(D9Q�7 _ @2�.;43<P2�����*-��5&.6��$
 3.6���T _432}/g|-4�[¨��[pa�43<+2�����* 43<&�%2��'<&�7� ,W43<+2�����* 43<&�%2���<&�7����9:$+4H��$
����<�U&�g����562�16���)(V��S���<�9Q432�$W�%,f�! d ~���8��$6�)��[B�o162B2�$6�D� ���)�72B.�>�43<P2�����*-��5&.6��$  ".6���T _432%/¤UZ�)�7.�,#�)��2�$6�
(+.�,D43<&��<+2c>��8�72�.��
.8<&�7�`�T _ �.'>�2�$6�i4"<+2����'*-��5&.6��$q 3.6���T _4"2%/�4H�#����562�16���)(�U+/W2�$6�0������$6��[Wu�$+4p��4p�C2�$6�
,f�T43<����)���A.�<`9:$+/��?$6��.�<6�0��<&( ���74p(+��<+U&��16, � �
��<&(e2�$6�D2%43,#�)�%2���,i56*-U&���%�)(`����$6��,#�)�=/843�7 H(�U&��2�2����
$+432
���'2%43.P�=2�$&��<W�\��� � �c����$6��,#�c>�.��= H���������
������$6�)�=9Q432�$W2�$6�#�7{&�7��562%43.�<W.'>~2�$6� 2�����E*E�56��.8������, |}��>�[
rs43��16���Wt)©@��[q��<k2�$6�&2�����E?E#��565+ _4H����2%43.�<�aQ$6.�9Q��S����)a?����� � �f����$6��,#�0/843�7 H(6�gU&��2�2����i$+4"2i����2%43.P�D2�$&��<
�?$6��.�<6�
�'<&( ���74H(+��<PU&��16, � �?����$6��,#��[�uQ$+4H��4H��UZ�)����1&�%�B�\��� � ������$6��,#������<#����562�16���Q,#.����Q� ���)�72%43S��7 3/
2�$6�= 3.6���T _4"2A4"�)�=����1&�%�)(gU+/g���)��(+*-.�<+ 3/0�%$&���%43<6�#.�>��%$&�����)(i,#��,#.���/D 3.@����2A4".8<&��a+43<`2�$+4H�Q�����%�B���)��(+*-.�<+ 3/
�%$&���A4"<6�q.�>
5+43S�.�2i��.�9���aQ���7��.P���i(84 ��������<+2i4"2�������2%43.�<&�i.�>
�W5&���7�T _ "�7 B��5&.6��$�[m]�<6.�2�$6���#43<+2������)�%2%43<6�
5&.'4"<+2B2�.#<6.82%4H�7�
4H�=2�$6�c����5+4H(�(+��.�5e4"<�,D4H���=�7��2%43.P�o43<�2�$6� 2�����E*E:56��.������',�9:$6��<`2�$6�C���8��$6�D�X4 � �
4H�
43<&�7���)���%�)(i>-��.�,�©�M���9~.8��(6��2�.DM6t)©�9~.8��(6�s43<`�\��� � �Q��<&(i2�$6��2A4",i�)�%2���,#56*-U&�8�%�)(f����$6��,#�)��[h] �������7>-1+ 
43<&�%5&�)�72A4".8<f.�>\2�$6�:�7.������)�A5&.�<&(843<6�
2������7�:�%$6.�9��s2�$&��2?©�M��;9Q.���(6��4H��2�$6�Q2�$6���)�A$6.� H(#������$6���}4 � �;U&��/�.�<&(
9:$+4H��$`2�$6�� ".6���T _432%43�)�B(+16�
2�.D2�$6�D��U&.�S��=���)��(+*-.8<+ "/`�A$&���%43<6���'���
����562�16���)(gU+/g2�$6��������$6�)��[

uQ$6�B��U&.�S��Q2�����<&(6�~�'���:,#.������'565&������<+2�4_>h9Q���7.�<&�X4H(+���Q2�$6�:,C4p���?�7��2%43.P��>-.���2�$6�B����,i���7.8< )&��16����2%43.�<
>-.���)6 32������)(`2������7�)�=����(+��5+4H�72��)(e43<Wrs43��16���0t)K6[=|}���)���T _ ?2�$&��2;4"<A)6 32������)(V2��7���7�)�:2�$6�B43<P2�����* 43<&�%2���<&�7�
 3.@���! d432%43�)�=���������'562�16���)(iUP/#������4H�%2�������["�buQ$6�=����,f�T43<+43<6�f�%.' "�B�%.�16�7�7��.�>\ 3.6���T _4"2%/D>-.��Q�\��� � �Q����$6��,#�:4H�
43<P2�����* 43<&�%2���<&�7�; 3.@���T _432%43�)�:(+16�=2�.B���)��(+*-.8<+ "/#�%$&�'�%43<6�
.�>h�%$&�����)(DS!���A4p�'U+ "�)�Q���7��.P����(84���������<P2O43<&�%2���<&�7�)�
.�>
2�$6������,#�V��5&.6��$�[ uQ$+4H�D4H�g2�$6�V���)���%.8<j9:$P/k����� � �0����$6��,#�`/843�7 p(6�g,C4p���g����2%43.P�D<6�)�'�f.�<6�e>�.8�
2�$6� � 4+¢
56��.8������,�43<V9:$+4H��$�2�$6�����=4H�� _4"2�2% 3�C�A1&��$V���)��(+*-.�<+ 3/¤�A$&���%43<6�&[;�?$6��.�<6�0��<&( ���74H(+��<PU&��16, � �

©8�



����$6��,#�f�%2A4d _ :����562�16���)�c�%.�,#�D43<+2�����* 43<&�%2��'<&�7����<&(e43<+2�����*-��5&.6��$W 3.6���T _4"2A4"�)�CU6162
2�.`�� d43,D432��)(q(+���������
���Q9Q�
����<`�A���=4"<V2�$6�M)&��16����[ouQ$6�
2%43,#�)�A2���,#56*-U&���A�)(0����$6��,i��a6$6.�9~��S8���)a6�7.�<&�X4H�%2���<+2% 3/0,f��<&���8�)�?2�.
,f�T43<+2��T43<`,C4p���Q����2%43.P�;�7.�,#5&�����'U+ "�c2�.D2�$6.P�%�B.'>¦2�$6�
�A���%4H�T h�7{6�)�7162%43.�<¤�����A��[

uQ$6�0����,#�0��<&�T 3/6�X4H�D$6.� H(6�c43<j2�$6�g,D1+ "2A4"56��.@�7�)���A.��f�X43,D1+ H��2%43.�<&�c>-.��
2�$6�&E:� � ��<&( � 4+¢056��.����7��,f�
16<&(+���`��56����*�����$6�)(+1+ _43<6�k5Z.� _4p�7/ |}�%����rs4"�816���lt�­ >�.�� E � �D���X43,D4_ H���`(6��2��¤>�.�� � 4+¢¤����<nU&�e>�.�16<&(
43<jJL©��TN-��[=uQ$+4H�;4p�B�g�7.�<&�%�)G816��<&�7�#.�>?2�$6�
56����*�����$6�)(+1+ _43<6�¤9;$+4p��$W�T _ 3.!9=�B�%$&�����)(e,#��,#.���/g 3.6����2%43.�<&�
9:�%432�2���<#UP/c.�<6�:56��.6�7�)���%.8��2�.BU&�B�%16U&�%�)G816��<P2A "/D���)�8(DUP/c2�$6�����',#�Q56��.@�7�)���%.��)[���<i2�$6�LE:� �n56��.����7��,`a
2�$6�:��.!9=��.�>�2�$6�:,D1+ 32%4H�%2�������4"<+2������7.8<6<6�)�72%43.�<0<6��2%9~.8��R��������X43,D1+ p�'2��)(D43<#5&�'���T _ 3�7 �>-.��o�)����$i<6��2}9Q.���R
�7/6�� "�=��<&(\a�9Q432�$D56����*�����$6�)(+1+ _43<6�&a62�$6�:���',#�Q��.�9W4H�?�! "9:�T/6�h�X43,D1+ H��2��)(DU+/
2�$6������,#�o56��.6�7�)���%.��)[�uQ$+4H�
43<&�7���)���%�)��2�$6����$&��<&�7�D.�>?2�$6�D����1&�A��.'>?2�$6�#������$6�D�7.�<+2���<P27�:UZ�7>�.�����2�$6��/`U&�)�7.8,#�#�%2��T 3��[=]y�X43,D4_ H���
U&��$&�TS843.��D.@���716���b43< � 4P¢�[VuQ$6�)�%�f��$&�������72����%4H�%2%4H���c56��.�S�4H(+�g2�$6�#2%43,#�)�%27��,#56*-U&���%�)(�����$6��,i����,i5+ "�
.�565Z.���2�16<+432%43�)�=2�.D�7{65+ ".'4"2;43<P2�����*-��5&.6��$V 3.6���T _4"2A4"�)��[

��<�����<6�����T �a�$6.�9Q��S����)aZ2�$6�f��$&��<&�7�)�;>-.��
�%$&�����)(+*-,#��,#.���/e 3.@����2A4".8<&�B9:�%432�2���<¤U+/¤�g56��.@�7�)���A.��B2�.0U&�
���7>-������<&�7�)(jU+/W2�$6�`����,#�g56��.@�7�)���%.��#UZ�7>�.����02�$6��/WU&�)�7.8,#�`�%2��T 3�`������(+�)�7���)�8�%�)(k���c,#.8���f56��.@�7�)�%*
�%.��7���'���f�T _ 3.@���'2��)(q43<j2�$6�g����<&(+.�,�����$6�)(+1+ d43<6�k�����A��[¤uQ$+4H�c4H�#�A$6.!9;<�43<krs4"�816���Wt)Mg>-.��D2�$6�AE � �
��565+ _4H����2%43.�<�[#�e4H���=����2A4".+�;4"<�2�$6�D����<&(+.�, ����$6�)(+1+ _43<6� ���8�%�#�����
9Q.��7�%�D2�$&��<�2�$6�743�B56����*�����$6�)(+1+ _4"<6�
�7.�16<+2�����5&����2��=>-.��
2�$6�"E � � �'<&( � 4P¢`��565+ _4H����2%43.�<&��[�r616��2�$6����,#.�����ah2�$6�f(84���������<&�7�g4"<q,D4H���c����2A4".+�
U&��2%9Q����<j2�$6�02%43,#�)�A2���,#56*-U&���A�)(l����$6��,#�`��<&(q2�$6�fUZ��2�2����#.�>=2�$6�0.�2�$6���D2%9Q.¤����$6��,#�)�c4H�D���)(+1&�7�)(
���;,#.����c56��.6�7�)���%.����B�'�����T _ 3.6����2��)(e43<W2�$6�
�7��<&(+.�, ����$6�)(+1+ _43<6�W�����%�D���:9Q�#����<��%���c4"<�2�$6� )&��16����[
� <6�g43<P2������)�%2%43<6�W5Z.�43<P2#2�.`<6.�2%4H�7�g4H�D2�$&�'2B>-.��D2�$6�f2A4",i�)�%2���,#56*-U&�8�%�)(j����$6��,#�02�$6�g,D4H���c����2%43.P�c.�>
������$6�)�D�����i ".�9Q�����)(q���c,#.����i56��.@�7�)���%.����D�����0�T _ 3.@���'2��)(�>�.8�
2�$6�AE � � �'<&( � 4P¢`�'565+ d4H����2A4".8<&�g|}��>�[
rs43��16���
tT©
��<&(#rs43��16���
t�­B>-.��-E:� �c��[��X2�4H��UZ�)����1&�%��a6����,i.����:56��.6�7�)���%.8�����������! d 3.6����2��)(\a+2�$6���',#.�16<+2
.�>h�%$&�����)(#(6��2��=2�.cU&�����8��$6�)(i5&���o56��.@�7�)���%.���4H�O���)(+1&�7�)(\a62�$+1&�����)(+1&��43<6�#2�$6�:<+16,DU&���o.�>�,D4H���%�)�?(+16�
2�.#����5+ p�8�7��,#��<P27��[

� <q2�$6�D.�2�$6���
$&�'<&(\ah����2�$6�#<+16,�UZ���
.�>Q56��.6�7�)���%.����b4H�=43<&�7���)���%�)(\aO2�$6�D,D4H���c����2%43.P�;>-.��B2�$6�,2�����E?E
��565+ _4H����2%43.�< �����0<6.82D 3.!9Q���f�8�D9Q�`����<k�%���g43< rs4"�816���Wt)�6[q��2i4H�DU&�)���'1&�%��2�$6�`��,#.�16<+2D.�>=4"<+2�����*
43<&�%2���<&�7�= 3.6���T _432}/�a¬9:$+4H��$g4H�o.�<6�=.�>�2�$6��,g�T43<`�7.�,#5&.8<6��<P2��O.�>¦������$6�=$+4"27��43<02�$6�L2�����E*E?��565+ _4p���'2%43.�<�a
(+�)�7���)���A�)��[�]; p�A.&a�2�$6�Q$+432Q����2%43.P��16<&(+���o56����*�����$6�)(+1+ _4"<6�g�����Q9Q.����%�Q2�$&��<i2�$6.P�%�Q.�U62��!4"<6�)(C16<&(+���~�7��<6*

©@§



(+.�,y����$6�)(+1+ _43<6�B>-.��¦�A.�,#�:������$6���}4 � �)�o|%��>A[�rs43��16���Bt)�=��<&(Drs43��16���Bt�§���[�u�$+4p�o�%����,D43<6�� 3/#��<6.�,f�! ".81&�
U&��$&�TS843.�������<0UZ�B�7{@5+ H�T43<6�)(VUP/C ".+.�R843<6���������7>�1+ _ 3/#43<&�X4H(+�D2�$6� �b��1&���~z¦ _4",C4"<&�'2%43.�<W�T 3��.��%432�$6,`[�uQ$6�
�T 3��.��A4"2�$6, �7.�<&�X4H�%2��=.�>?2%9Q.g,f���%.����%2���5&�:
:���)(+1&�72A4".8<l��<&(VU&����R`�%16U&�%2%432�162%43.�<�[DuQ$6�#�7.6(+�C�A����,#��<+2
�7.������)�%5&.�<&(843<6�g2�.D2�$6�
���)(+1&�72%43.�<`�%2���5g4H�;��43S���<g43<¤rs43��16���#t)�¬[���2��A2�����2��O9Q432�$¤�c5&���7�T _ "�7 ����)(+1&�72%43.�<
9Q432�$ ( ���?�����;5+4"S8.�2)aT4�[¨��[3a�2�$6�Q�7 3��,#��<+2���.�>&2�$6� )&���%2?�7.� 316,#<#����� � ����.+�)(c.�162?��<&(B2�$6�~.82�$6���h�7 3��,#��<+2��
�����c,#.6(84O)&�)(���(+�)G�1&�'2��7 3/`.�<��#��.�9 U+/0��.�9 U&���X4H��[�u�$6�
56��.6�7�)���;4H�=2�$6��<`����5&�)��2��)(e>-.��=2�$6�#|�<6��9��
�%�)�7.�<&(V�7.� 316,#<¤�'<&(0�%.#.�<016<+2%4_ ¦2�$6�B,f��2��%4_{��m4H�;���)(+1&�7�)(02�.f��<016565&���=2��%4H��<6�81+ p�'�:,f��2��A4d{�[

]B���7�)���%�)�c2�.`�)�8��$q��.�9�.�>:2�$6�g,f��2��%4_{��^UP/�56��.@�7�)���%.����b>�.��c�)����$�43<PS�.6����2%43.�<q.�>:2�$6�"1=.�]; d o 3.P.�5
�����W�%$6.�9:< 43< rs43��16���jtD�6a=�����%16,D43<6�j2�$&�'2f2�$6�����¤56��.@�7�)���A.����g�����W�T _ 3.@����2��)( ��<&(n2�$&��2g2�$6��/£�'���
56����*�����$6�)(+1+ 3�)(q<&�T43S��7 3/�as4�[ ��[3a\56��.6�7�)���%.����Q�7{6�)�7162��)��2�$6��� �	� 43<&�%2���<&�7�#.'>~2�$6�,1=.8]: _ � 3.P.85W.�<���S�����/
43<PS8.@����2A4".8<`.�>�2�$6� 1=.�]; _ � 3.P.�5�[O��<`2�$6�M)&��16����a69Q�
����<V<6.�2%4H�7�B2�$&��2:�)�8��$056��.6�7�)���%.8�:���)��(6�Q2�$6�
��.�9
.�>Q2�$6�D,f��2��%4_{ � 9:$+4H��$W9:���� H���%2B9:�A4"2�2���<`U+/¤�%.8,#�D.�2�$6���=56��.@�7�)���%.��=43<W2�$6�D56����S843.�1&�;43<PS�.6����2%43.�<
.�>h2�$6�H1=.�]; _ & 3.+.�5�[?uQ$+4H�:(+���8�%2%4H���T _ 3/f���)(+1&�7�)�o2�$6�B��$&��<&�7�B.�>h����562�16�%43<6�c43<P2�����*-��5&.6��$g 3.6���T _432}/0�X43<&�7�
,#.P�A2:.�>�2�$6��������$6���7.8<P2���<+2��:�8���%.6��4p�'2��)(09Q432�$V2�$6�B,f��2��%4_{ � UZ�)�7.�,#�#�%2��T 3�B9:$6��<6��S8���b�i<6��9 �A2���5
.�>?2�$6�D���)(+1&�72A4".8<�4H�B�%2�����2��)(\[bu�$6�����7>�.8���
<6.�<6�D.�>Q2�$6�
2�$6�����#������$6�#�7.�$6������<&�7�f����$6��,#�)�=9Q.���R09Q�7 _ 
43<k2�$+4H�#�}4"2�1&��2%43.�<��Q2�$+4H�C>����72c4H�D9Q�7 _ :4_ _ "1&�A2�����2��)( 43<£rs43��16���`©�«e43<k9;$+4p��$k2�$6�0���)���%.�<&��>-.��D,D4H���%�)�
�����g�%$6.�9:<�>-.��
2�$6�g16< )6 32������)(q�P�'1&���B2��7���7�#9:$6��<W�743��$+2D56��.6�7�)���%.����c�����#56����*�����$6�)(+1+ 3�)( |�ª������! p�A.
rs43��16���0t)�i9:$+4H��$q�%$6.�9����'<¤.�S����7�T _ ¦,D4H���=�7��2%43.f.'>�«6[L©C2�.`«6[¨­f(+��5Z��<&(843<6�¤.8<¤2�$6�C���8��$6�#�X4 � �D>-.��B�
56��.6�7�)���%.��Q�����%����[�]B������<#UZ�b�%����<�a8,#.P�%2�,C4p���%�)�O>�.��� H��������������$6�)�?������(+16�=2�.B2%43,#�)�A2���,#5#,C4p�A,f��2���$
����2�$6���
2�$&��<qU+ 3.@��RW,D4H���A�)��[ � <q2�$6�f.82�$6���
$&��<&(\a¦4d>=9~�i1&�%�f�7��<&(+.�, ����$6�)(+1+ _43<6�&ao2�$6�����i4p�D�%.8,#�
��$&��<&�7��a?�T 32�$6.�16�8$l�%,f�T _ �a�2�$&�'2B�7 "��,i��<P2��c.�>:2�$6�g,f��2��%4_{ �^9:�A4"2�2���<lU+/W�056��.6�7�)���%.8�������i���)��(�UP/
2�$6�f����,#�D56��.6�7�)���%.��D(+16�%43<6�¤2�$6�#<6�7{@2=43<+S�.6����2%43.�<q.�>~2�$6� 1=.�]: _ � 3.+.�5�[fuQ$+4H��4H�B2�$6�i,f�T43<W���)���A.�<
9:$+/�aZ43<¤2�$6� 2�����E?E:56��.8������,`a¬2�$6�D����<&(+.�, ����$6�)(+1+ d43<6��/84"�7 H(6�c�X _4"�8$P2% 3/VU&��2�2����B$+432B���'2%43.P�:2�$&��<�2�$6�
56����*�����$6�)(+1+ _43<6�0>-.��:�%.�,#�
������$6���}4 � �)��[

�=��2�16���T _ 3/�a�UZ��2�2�����5&���%>-.���,g��<&�7�~�7.�1+ H(cU&�:����$+43��S��)(cUP/c2��T4_ 3.��%43<6�B2�$6�Q����$6�)(+1+ _43<6�
2�.�2�$6�Q��565+ _4H����2%43.�<
U+/�1&�}4"<6�D�%.�,#�o>-.���, .�>¦¢���¡��=�3�*�� GEF¡-�N���  &�7¢:����$6�)(+1+ d43<6�&[Qrs43��16����©¬t:�%$6.�9��h�A1&��$f�B����$6�)(+1+ 3�;>�.�� 2�����E?E
�����A16,D43<6�
2�$6�����Q56��.6�7�)���%.8���h�'���:�T _ ".6����2��)(\[O��<#2�$+4H������$6�)(+1+ 3��a+2�$6�Q56��.@�7�)���%.���2�$&��2�$&�8���7{@�)�7162��)(C2�$6�
� �	� 43<&�%2���<&�7�Q.�>&2�$6��1=.�]; _ P 3.+.�5#(+16�%43<6�B2�$6�Q56����S84".81&�s4"<+S�.6����2%43.�<c4H�������X43��<6�)(c2�.=�7{6�)�7162��Q2�$6� �%�it �	�
43<&�%2���<&�7�c2�.
,g�T{P43,D4 � �c2�$6�B����1&�%�B.�>�2�$6�b���8��$6�B��<+2��%43�)�:�����%.@��4H��2��)(g9Q432�$02�$6�B�������T/��c[�uQ$6�B���)�%1+ 32��

©8�



>-��.�,y2�$6��<6��9 �X43,D1+ H��2%43.�<i>�.��Q�B56��.6�7�)���%.8���Q�������7.�,i5&�����)(i2�.
2�$6.+�%�Q>-��.�,y2�$6��56����*�����$6�)(+1+ _43<6�����8�%�
43<¤rs43��16���D©�©6[

uQ$6�#���)�%1+ 32��=>-��.�, 2�$6�f(6��27��*��7.�<&�%2��7�T43<6�)(¤����$6�)(+1+ _43<6�l�����%�#�����CG81+432��f�7.�<&�}4p�A2���<P2c9Q432�$�.�16�B�7{65&�)�7*
2���2A4".8<&��[ �n432�$W2�$6�i<6��9 ����$6�)(+1+ 3��ah2�$6�#2%43,#�)�%2��',#56*-U&���%�)(q����$6��,#�#/84"�7 H(6�cU&��2�2����
$+432
�7��2%43.P�B2�$&��<
43<W2�$6�#56����*�����$6�)(+1+ _43<6�W��<&(����'<&(+.�, ����$6�)(+1+ d43<6�W�����%�)�=�)�A5&�)��4H�T _ 3/W>-.��= H�������#������$6�)��[D�V.P�%2B.�>Q2�$6�
43,#56��.�S���,#��<+2��Q���)�%1+ 32Q>���.�,�2�$6�=>��8�72~2�$&��2Q,#.P�%2Q.�>�2�$6�
������$6�B��<P2��%43�)�:�����%.6��4H��2��)(g9Q432�$02�$6�B,f��2��%4_{
� �����0<6.�9�����*-1&�%�)(j.�S����f(84���������<+2D43<PS8.@����2A4".8<&�#.�>B2�$6�.1=.�]: _ : 3.+.�5j43<n2�$6�`<6��9 ����$6�)(+1+ "��[ � <
2�$6�D.�2�$6���;$&��<&(\a\2�$6�
,C4p���=����2%43.P��>���.�,�2�$6�c.�2�$6���=2}9Q.f����$6��,#�)�B�'���
U&�����7 "/g43,#56��.!S8�)(`UZ�)����1&�%�D.�>
2�$6�743�B _43,D432���2A4".8<l2�.g�7{65+ ".'4"2c43<+2�����*-��5&.6��$� 3.@���T _432%/�[fuQ$+4H����<+ p�'�����)�B2�$6��5Z���%>-.���,f��<&�7�D�P�'5¤UZ��2%9~����<
2�$6�B2%43,#�)�A2���,#56*-U&���A�)(0����$6��,i�b��<&(g2�$6�B.�2�$6���Q2%9~.D����$6��,#�)��[ � <6�=43<+2������)�%2%43<6�#5Z.�43<P2;2�.D<6.�2��;>���.8,
2�$6� )&��16���i4H�D2�$&��2c2�$6�f,C4p���
�7��2%43.P�=>-.��c2�$6�f56����*�����$6�)(+1+ _43<6�k�����%�0�����iU&��2�2����D2�$&�'<l2�$6.+�%�D>-.��D2�$6�
(6��2��'*��7.�<&�%2����!4"<6�)(j����$6�)(+1+ _43<6�W>-.��#�%,f�! d �������$6�)�g| � ­ 9 9Q.���(6�7��[�uQ$+4H�c4H�DUZ�)����1&�%��aO4"<j2�$6�f<6��9
����$6�)(+1+ 3��a �-�=|->-��.�,^9:$+4H��$g9Q��,i�)���%16���)(i2�$6�:,D4H���o���'2%43.P�7�h�7{6�)�7162��)�O>-��9~���O432�������2%43.�<&�o.�>�2�$6�L1=.�]; _ 
 3.P.85 (+16�%43<6��2�$6�#���)(+1&�72%43.�< �A2���5W2�$&��< 4"<q2�$6�#56����*�����$6�)(+1+ _43<6�l�����A��[�u�$+4p��a�43<W2�16��<�a����)(+1&�7�)�c2�$6�
��,#.816<P2:.'>h43<+2�����* 43<&�%2���<&�7�c 3.6���T _4"2%/�(+16��2�.#2�$6�
���)��(+*-.�<+ 3/`�%$&���%43<6�g.�>�2�$6�
5+43S�.�2=��.�9��o>-.�� ���)aZ2�$+1&�
/84"�7 H(843<6�q 3.�9~���D$+432#���'2%43.P�B2�$&�'<q4"<j2�$6�f56����*�����$6�)(+1+ _43<6�k�����%��[qª�1&��$k��<j� ���)�72D9~.81+ p(q$&�TS��gU&����<
,D43<+43,D4 � �)(g4_>h9Q�=1&�%�)(f��,D1&��$i H��������� �m,f��2��A4d{#2�$&�'<f2�$&�'2�1&�%�)(i43<f2�$6�=�7{65&���%43,#��<+2Q.��o4d>�2�$6�:,D4H���
����2A4".+�Q9Q�����
�TS����������)(i.�S����:�T _ h56��.6�7�)���%.��7��[

uQ$6�
(6��27�
�+��2�$6�����)(iUP/i2�$6�B2������7�)�Q�T _ 3.�9��o1&�Q2�.#�T H�%.D56��.�S84p(+�
�A.�,#�;4"<+>-.���,g��2%43.�<0.�<g2�$6�B5&.82���<P2A4p�! 
<6��2%9Q.���Rq2����T����[mrs43��16����©�KW��<&(nrs4"�816���¤©�­q(+��5+4p�7202�$6�`����2A4".+�D.�>B9:�%432���*-U&����Rj2����T�0�g2�.W9:�%432���*
2�$6��.816��$02����T�0�Q>-.��:(84���������<P2����8��$6�
�X4 � �)�o>-.��%�� tb�'<&( �� £��­D���)�A5&�)�72%43S��7 3/�[:uQ$6�=2�$6�����
����$6��,#�)�
��S!�! "1&�'2��)(c$6�����:�����?�����A16,#�)(B2�.=$&�TS���2�$6�Q����,#�o9:�%432���*-U&����RB2����T�0��U&�)����1&�%�Q�� 3.�U&�! @,#��,i.���/=165�(6��2��
5&.' d4H�7/�1&�%�)(�4"<�.�<6�c.�>�2�$6������$6��,#�)�=����<`UZ�
�)G81&�T _ 3/`1&�%�)(e43<`2�$6�c.�2�$6������[~uQ$6�c���)�%1+ 32
�%$6.�9��Q2�$&��2)a
�7{&�7��562=>�.��JE � ��2�$6�c����2%43.D4H�B�T 3,#.P�A2Q43<&�%��<&�X432%43S��#2�.0������$6���X4 � ��[=uQ$+4H�;4"<&(84H����2��)�=2�$&��2Q>-��9 ,i��,#.���/
 3.@���'2%43.�<&�Q�����:9:�A4"2�2���<#43<0�
�X43<6�� 3�B��5Z.@��$#43<&�%27��<&�7�:43<g.�16�?�7{65&���A4",i��<P2)[QuQ$6�:�7{&�7��562%43.�<g>-.��?2�$6�LE � �
56��.��8����,�|->-��.�,y«6[ K�K=2�.
«6[L©8�;>�.�� �0 t���<&(c>-��.�,y«¬[LK�­B2�.
«6[ ©��;>�.8� �� £��­¬��.@���716���O9:$6��<#2�$6�=������$6�
�X4 � �B4H�o43<&�7���)�8�%�)(g>-��.�, t 9=9Q.���(6�o2�.#©�9=9~.8��(6�oU&�)����1&�%�c.�>¦�����7�)���Q2�.#�%.�,#�; H�������
(6�'2��D�%2���1&�72�16���)�
 H����������2�$&��<`t)«�©'­�9Q.���(6��[huQ$+4H�?���'<�UZ���T H�%.D�%����<D43<frs43��16���Bt)©6a�rs43��16���
t�­&a���<&(Drs43��16���ct)M;43<#9:$+4H��$
$+432�����2%43.P��>-.��h2�$6�!E:� �j56��.����7��, �'���~�X43��<+4C)�����<+2% 3/c43,#56��.�S��)(c9:$6��<D2�$6�:������$6���}4 � �o4H��43<&�7���)�8�%�)(�>���.8,

©��



t:9=9~.8��(6�\2�.�© 9=9Q.���(6�Z43<&(+��5Z��<&(+��<P2% 3/#.'>&2�$6�?<+16,DU&����.�>¬�! d 3.6����2��)(c56��.6�7�)���%.��7�h��<&(�2�$6�~����$6�)(+1+ _43<6�
5&.' d4H�7/�[
u�$6�
$+43��$�9:�%432���*-U&����R0����2A4".+�:.�>�2�$6� 2�����E*E��'565+ d4H����2A4".8<l���%4H�%�cU&�)����1&�%�D,#.+�%2�.'>¦2�$6�D9:�A4"2��)�
�����=2�.#�%$&�����)(#,#��,i.���/D 3.6����2%43.�<&�Q��<&(g2�$6�)�%�; 3.@���'2%43.�<&�:�����=�������7 "/i9:�%432�2���<g,#.����=2�$&��<g.�<&�7�=43<&�X4H(+�
�#�X43<6�� 3�c43<&�%2���<&�7��[

uQ$6�#��UZ.!S8�
���)�%1+ 32��;43<&(84H����2��g2�$&��2=2�$6�c9:�%432���*-U&����R`5Z.� _4p�7/�,f�T/f���)(+1&�7�i2�$6�D9:�%432��D2����T�0�
�%16U&�%27��<6*
2%4H�T _ 3/ �'2
2�$6�g5&.P���X43U+ "�0�7{65&��<&�A�0.�>:2�����<&�X43��<+2c�&1&�72�1&��2%43.�<&��43<j2�$6�#<6��2%9Q.���R�2����!���#��2c2�$6�f��<&(�.�>
��5&.6��$�43<&�%2���<&�7�)��[DuQ$+4H��a�4"<�2�16��<�a\56��.�S84p(+�)�c�#�8��.�16<&(e>�.8�B.�16�B9:�%432���*  H���%2B�' ".8U&�T ?,#��,#.���/0165�(6��2��
5&.' d4H�7/V2�$&��2:2��A4"�)��2�.D,D43<+4",C4 � �i2�$6�)�%�=�&1&�72�1&��2A4".8<&�:9Q432�$6.8162Q43<&�7���)���X43<6�02�$6�B<6��2%9Q.���R#2����T����[

� � ����
 ����
�������


uQ$6�c�7����43��<P2B��<+>-.����7��,#��<+2:.�>~�7.8$6������<&�7�
.�>?,D1+ 32%435+ 3�D56�%43S!��2��#������$6�)��4p�;�)���%��<+2%4H�T h2�.f2�$6�B� ���)�72%43S��
5&���A>�.���,f��<&�7�#.�>�(6��<&�7��*-$&�! d :2%/+5&�f���7��$+432��)�72�16���)��[#�X<l2�$+4H��5&��5&���)a�9Q�#56��.85&.P�%�g�`�%�7 _>-* 4"<+S!�! d4H(6��2A4"<6�
������$6�l�7.�$6������<&�7�q����$6��,i�W9:$+4H��$ .!S8�����7.�,#�)�0�%.8,#��.�>�2�$6� 4"<6�7�0��4"��<&��43�)��.'>�56����S843.�1&�`�%.'>�2%9:������*
�����}4p�A2��)(�����$6��,i�)��[ � 16�
��5656��.P�8��$e4p�;U&���%�)(V.�<��7.�,#5+4_ 3��*-2%43,#�#,f�'��R�43<6�g.�>?���)��(ZYT9:�%432��B.�5Z������2%43.�<&�
��<&(�.8<W�7{@�)�7162A4".8<l2%43,#�C4"<&�7.8$6������<&�7�`(+��2��)�72%43.�<W9;$+4p��$q,f��R��)�=1&�%�i.�>Q ".6���T _ 3/W,f�T43<+2��T43<6�)(q�� ".6��R@�
��<&(D2A4",i�)�%2���,#5&��[(�����%$6.�9
a�2�$6��.816��$D2������7��*�(+�%43S���<g�X43,�1+ H��2A4".8<�aP2�$&��2�.�16��2%43,#�)�%27��,#56*-U&���%�)(i������$6�
�7.�$6������<&�7�0$&�8���eU&��2�2�����5Z���%>-.���,f��<&�7�V|�$+432D����2%43.6�=2�$&��<W56����S�43.�1&�#����$6��,#�)�c�)�%5Z�)��4H�T _ "/j9;$6��<j2�$6�
56��.6�7�)���%.��7�B�����f�������7>�1+ _ 3/W����$6�)(+1+ 3�)(j�%.`�8�=2�.0,f�T{+43,D4 � �#2�$6�#����*-1&�A�#.�>����8��$6�f�7.8<P2���<+2���[ �W�f�! p�A.
43<PS8�)�%2%43�P��2��=2�$6�B� ���)�72��o.�>�������4H�%2������! d 3.6����2%43.�<V.�<����8��$6�=5&���%>-.���,g��<&�7�B2�$6��.�16�8$#2������7�')6 32����%43<6�f��<&(
�%$6.�9�2�$&��2=2�$6�#��U+4_ _432}/�2�.`���'562�16���c 3.@���T _432%43�)�D���7��.P���B(84 ��������<+2B��5&.6��$&��a�2�$6�D,f�!4"<W�%2���.�<6�05&.'4"<+2B.�>
.�16�D��5656��.P����$�a�UZ�)�7.�,#�)�c���7 H��2%43S��7 3/q,#.����C4",i5&.���27��<P2
�8�B,#.����f�%.�56$+4H�%2%4H����2��)(W�����'4p�A2������T _ 3.6����2%43.�<
2��)��$6<+4HG�16�)�B�����
��565+ _4"�)(\[

uQ$6�����g�����D<P16,i����.�1&�=.�5Z��<l�����)���;>-.��;>�162�16���#���)�%�)�'����$�[ � <6�f�%1&��$l�����)�D4H�
�'<`43<+2��������'2%43.�<W.�>Q2�$6�
2%43,#�)�%27��,#56*-U&���%�)(g������$6���7.�$6������<&�7�B����$6��,#�;4"<+2�.D�B5&�����! d 3�7 _4 � 43<6���7.�,i5+4d 3���:�%1&��$��8�?�������!>����8�%��JL©'­!NXa
�?rO�yJLKTN�a���<&(W�?u;�Q]b� JL©TN�[����#2�$+43<6R�2�$&��2
�%1&��$l��<�43<+2��������'2%43.�<W�T H�%.`56��.�S84H(+�)�
�g����.816<&(V>�.8�
�
>��T43���7.�,#5&�'�%4H�%.�<�.�>��A.�>�2%9:������*��8���X4H�%2��)(V����$6��,i�)�=9Q432�$l(843���)�72�.���/¤U&�8�%�)(�������$6�g�7.�$6������<&�7�f����$6��,#�)�
��<&(e1&�%����*��7.�<+2���.� _ 3�)(g 3.6���T h,#��,i.���/�[��X2:����,f�T43<&�;2�.#�����%�)���=|�S84p�i�X43,�1+ H��2A4".8<¤.'>h5&�����T _ 3�7 �56��.������',f�7�

K8«



9:$+4H��$l����$6��,#�D.���9;$+4p��$l�7.�,DU+43<&��2%43.�<�.�>Q2�$6�D2�$6�����#����$6��,#�)�;4H�=,#.P�%2B��(+S���<P27������.�1&��43<W2�����,f�;.�>
56��.6�7�)���%.��;162%4_ d4 � ��2A4".8< �'<&(0.�S������T _ �2�$6��.816��$656162)[

]=<6.�2�$6����43<P2������)�%2%43<6�
2�.�5+4H��>-.��s>�162�16���Q���)�%�)������$c4H����<c4"<+S��)�%2A4"�+��2%43.�<#.�>&,D1+ 32%4_ 3��S��7 ����8��$6�Q$+43����������$+43�)�
43<j9:$+4H��$j2�$6� )&���A2B 3��S��7 b������$6�g��,#5+ 3.!/6�D���%.�>-2}9:������*������X4H�%2��)(�������$6�0�7.�$6������<&�7�`����$6��,#�09:$6�����)�8�
2�$6�
�%�)�7.8<&(i "��S8�7 h1&�%�)�Q�#(843���)�72�.���/P*-U&���A�)(0����$6��,i��[?uQ$+4H�:�7.�< )&��16�7��2%43.�<`�%����,f�o2�.DUZ�
�
<+4H�7�c,f��2���$
�X43<&�7�B2�$6�-)&�7�%2� 3��S��7 �������$6�=9Q4_ _ �<6.�2�U&�B(84H�%2�16��UZ�)(g16<&(+1+ "/gU+/�16<6���7 p�'2��)(f�7.8$6������<&�7����S8��<P2��o��<&(i2�$6�
�%�)�7.�<&(� 3��S��7 ¦������$6�
9Q4_ _ �$&�)S8�
�
$+43��$V$+432����'2%43.#U&�)����1&�A�B432:4H�:(843���)�72�.���/+*-U&���%�)(\[

� ��������� 	 � ��
�� �
� �

uQ$6�
��162�$6.����o2�$&��<6RV��[6z�UZ�7 d43<6�&a�ª&[Zz��������7��aP��<&(0��[\�?/+56$6���Q>�.8�:2�$6�743�:,f��<+/#$6�7 35+>-1+ O(84H���71&���}4".8<&��[
�W�#9Q.�1+ H(q�T H�%.0 _43R��g2�.02�$&��<6RW�B[�¥:��<6��/`>-.��
�T _ 3.�9Q43<6��1&�B2�.V1&�%�`¡-�N���7�)�=56��.����7��,`[#uQ$&��<6R6�
�! p�A.
2�.#z:[<1D[6�o��.+.�R@�o�%�%�o>�.��Q56��.�S84H(84"<6�g1&�o9Q432�$02�$6�B5&���7�T _ "�7 �56��.������',f��1&�%�)(g2�.��8��<6������2��=2�$6�B5&�����! d 3�7 
2����8�7�)��[?rs43<&�T _ 3/�a&9Q�B9:��<+2~2�.#2�$&��<6Rg2�$6�
��<6.�<+/+,#.�1&�Q���7>-�������)�o>-.��:2�$6�74"�=�7.�<&�%2���1&�72A4"S8���7.�,#,i��<P2���[

K¬t



� � �D�Q� �;��
 �-


J3t�NB]�[o]��+����9:�T �a��B[=ª�43,#.8<+4�a��6[:¥:��<6<6�)���%/�aB��<&(m�l[:¥;.���.�9Q432 � [ ]=< ��S!�! "1&�'2%43.�< .�>�(843���)�72�.8��/
����$6��,i�)�\>-.���������$6�Q�7.�$6������<&�7��[+��<��Q�3�$���7�7¢��H  2=E � �:¡�4P������¡�4HI� & �� ��B
	7 &¡-�)�7 ��8¡��K�� ���B�@ ���;� �=E:�K� �
�� �� ���;���+¡-�)�!I��3� 4 � ¡-�?�T¡��P�%�)a+5&���8�)�:©���«�
6©����6a���16<6�ftD�8���6[

JL©'N
rQ[�]: _ 3��<�a&�q[P�o16��R���a+��[6�?$&���A "�)��aP�B[Z�?/+2���.�<�a��'<&(��6[+r6�����7��<P2���[&]=<#.�S�����S843��9k.�>�2�$6���ou:�Q]B�
��<&�T 3/@�}4p���A/@�%2���, >�.���,D1+ 32%4356��.@�7�)���X43<6�&[\��<��~�N�$���7��¢��H  2=E � ��¡�4+����������	� Z¡-�)�7 ���¡����� ���B�� �8 ����)�%�) ����
�� A@����@�)�N�*���;���+¡��H  2�a���16<6�ft$���+§P[

JLK'N��6[&�B[Z]: _ 3��<l��<&( 9D[�9=��<6<6�)(+/�[=�?ro�!
¬]�56��.������',�2�.f�7.�<+S�����2=r � ��u:�Q]B��2�.i5&�����T _ 3�7 �>�.8��,`[
u��)��$6<+4H���T ~�Q��5&.8��2b�V]cª6� us�)��$6<+4p���! ~�Q��5&.���2b��©'*��6a�1=��562)[Z.�>~����2�$�[\ªP��43��<&�7�)��a��~4p�7�g�:<+43S�����*
�X432}/�aZ�¤�'����$�tD���8©6[

J¨­8N��6[\]��7��$+43U&�T H(q��<&(��6[¨*��O[h�Q�����)[D]=<W�)�7.�<6.�,C4p���! ��%.� 3162%43.�<�2�.02�$6�f������$6�f�7.�$6������<&�7�#56��.�U+ 3��,`[
��<��~�N�$���7��¢��H  2=E!� �D¡�4P���
��¡�4,IB Z �� ��B�	� &¡-�T�� ���¡����� ���B�@ � �;�<�=E ��� � �� �� � �:���P¡-�T�!IB�N�:4 �H¡-�*�)¡��+�%�)a
5&�����)�:K�M8M�
@K���©¬a���16<6�0tD����M6[

JLM'N
�~�Q�c[ ���P¡-¡-�T� ���!� ���N��B�B_�DB��~�N�$��� E?E:����":�)�)�7�D� �D��a¬S������X43.�<WtB�)(8432%43.�<�[

JL�'N 1D[��~�T _ H��$&��<�[ I$#�BC� � ��BDI������N�D��� 4�¡��MFB�)¡-�*�)¡�����  � �%� ���N��B�B_�DBC��E �D[���$�1q2�$6�)�X4H��a��o4H�7�:�:<+43S������}4"2%/�a
]�56�%4_ ~t$���+§P[

J_§TN
��[h�q[��o��<&�X43���f��<&(W��[�r6�)��162��%43���)[0]�<6��9��%.� 3162%43.�<q2�.��7.�$6������<&�7�056��.�U+ 3��,f��43<j,D1+ 32%4H������$6�
�%/@�A2���,f��[%	'&%&(&*)&�N�� GE ���)¡����� <E!�8 +�	���;���P¡-�T�6E�a\�?*�©@§�|�t)©+�*
3t�t�t)©,
�t�t�t)�6a�1=�)�7��,DU&���ctD�+§!�6[

JL�'N
¥
[Q�o$6��.�<6�l��<&( ]�[����74H(+��<+U&��16,`[m] S������X43.�<m�7.�<+2���.� ���5656��.+����$j2�.l������$6�¤�7.�$6������<&�7��[n��<
�~�N�D�7���7¢��   2 E � �`¡�4P���������-	� &¡-�T�� ���¡����� ���B�� �8 ����)�%�) ���� ��  @����@�T�3�*���;���+¡��H  2�a�5&�'���)�#K�©�©,
@K�K�«6a
��16<6�ftD�8���6[

J �'N
¥
[Q�o$6��.�<6�l��<&( ]�[��D[����74H(+��<+U&��16,`[ ª�2��T 3��(6��2��W(+��2��)�72A4".8<£��<&(n�7.�$6������<&�7����<+>�.8���7��,#��<+2
1&�X43<6�W�&.�9 ��<&�! "/6�X4H��[n��<.�~�N�D�7���7¢��   2 E � �¤¡�4P���������/	� &¡-�T�� ���¡��K�8 ���B�� ��  �F�T�%�) ��7�"�� 0� ���N��B�B_�DB
�~�N�D�7�:E*E �   22143���B657	�IB�N�:4 � ¡-�?�T¡��P�%�TaP5&�'���)�Bt)K��,
�t�­PM6a8]�16�81&�%2
tD���8�6[

K8©



J3t)«'N
¥
[o�?$6��.�<6�W��<&(�]D[ �D[ ���74H(+��<PU&��16,V[W] ������$6�0�7.�$6������<&�7�`����$6��,#�09�4"2�$q>����A2��%�7 3�)�72%43S��e4"<6*
S!�T _4H(6��2%43.�<�[��X< �Q�3�$���7�7¢��H  2=E�� ��¡�4+� ����¡�4/IB & �� ��B 	7 &¡-�)�7 ��8¡��K�� ���B�@ ���;� � E ��� � ��  �	���;���P¡-�T�
IB�N�:4 � ¡-�?�T¡��P�%�TaP5&�'���)�:©����,
@K�«+§Pa���16<6�ft$�����6[

J3t�t�N
�B[��o/P2���.�<�[L1=.P���7��.P���:
~�o��/�.8<&( ���)�72�.��%4 � ��2%43.�<�>-.��B�V1+ "2A4"56��.@�7�)���A.�����[=��<0�~�N�D�7���7¢��   2 EH� �D¡�4P�
����� � 	� &¡-�T�� ���¡��K�8 ���B�� ��  �F�T�%�) ��7�&�8  � ���N��B�B_�DB �Q�N�D�7�:E*E �   28a�5&�����)�g��K���
6��­�­&[��%z?zoz:ao]�16��1&�A2
tD�����6[

J3t)©'N
�B[+�?/+2���.�<�a8ª&[D9B���% 3.�S@�ARP/�a���<&( 9D[��h[����7]�1+ _4�����[&]=162�.�,g��2%4H�o,f��<&������,i��<P2�.�>�56��.�������,i,f��U+ 3�
������$6�)�e|��7{62���<&(+�)(m��U&�%2��7���72���[m�X< �Q�N�D�7���7¢��   2=E"� ��¡�4P�+��������	� Z¡-�)�7 ���¡����� ���B�� ��  �F�T�}�T ��7�&�� 
� ���N��B�B_�DB��~�N�D�7�:E*E:�H  2
1 3���B65 	'	M@�� �F¡�� ���%�TaP5&�'���)�:©�©��,
@©�K��6a8]�16�81&�%2
tD���8�6[

J3t)K'N���[+]�[�1B����,#.�$6�7�)/#��<&(Vz:[<1D[&�o��.+.�R6�Q�%�}�7[ �B��1&���X4H��<02��)��$6<+4HG816�)�=.�<`�%$&�����)(g,i��,#.���/g,D1+ "2A4"*
56��.@�7�)���%.����7.�,i56162�������[��;<65616U+ d4H�%$6�)(�u��)��$6<+4H���T O����5&.���2T[

J3t�­8NDª&[ �6[�zO����������[L@�� ��� BC��¡����� .IB ���B �$E:� E � � FL��¡��A@�4 ���*�   2"�  .@�4 ���%��¢��¤����������� � B_¡��¨�\�3�$��� E?E:��� EF[
��$�1 2�$6�)�X4H��aZ�:<+43S������}4"2%/0.�>Q�~�T _4_>-.���<+4H�6a&�o����R��7 3��/�a\r6��U6��1&�'��/¤t$�����6[

J3t)M'N 1D[ �b�'�A�AR�4�a(1D[�9=1&��R\a 1D[����T9:�%43��a���<&(W]D[�ªP�',#��$�[W�o�)(6���
*B�g H�����8�������! "�g,D1+ 32%4356��.@�7�)���%.��)[
� ���;���+¡-�)�!I��3� 4 � ¡-�?�T¡��P�%���B�D��E�a�t�t'|�t��?
_§ 
�t�t�a���������$WtD����K6[

J3t)�'NL� [ �=��<P2 � ����$�[ 3&�*�)¡����*��� ��¡����� /� �,�?� �:���P¡-�T�B���N�*2��N��� E � �H¡�40�F����BC�K�*��¡����� <E#¡���� ���;���+¡���¡����� ���B
� BO� � ¢"F �! ������K� EFasS�.� 316,#�f�g.'>	�L��¡-� E �8 
�L� �D�T�?���?��B�� BC� � ¢����?� 4 �� ��K� EF[Dr6�%43�)(+�)[ �:43��9Q����

ª�.�$6< �����% H���P�%�8�)�%�7 _ p����$&�T>-2=,�U&¥ca&�o����16<&����$+9Q�74"�Za�tD����­Z[

J3t�§TN��6[��B[ ��.+.6(+,f��<�[6���}4"<6�
���8��$6�:,i��,#.���/B2�.=���)(+1&�7�:56��.@�7�)���A.���*-,#��,#.8��/
2��7�T����[+��<��~�N�$���7��¢��H  2=E
� �b¡�4+� ����¡�4 IB Z �� ��B�	� Z¡-�)�7 ���¡����� ���B<@ � �;�<�=E ��� ���8 �� ���;���+¡-�)��I��3� 4 � ¡-�?�T¡��P�%�)a85&�����)�=t)©�­2
�t)K6t�a
��16<6�ftD�8��K6[

J3t)�'NB]�[ ��.�2�2A d43��U�a?��[ �=�%4H�%$6,f��<�ao��[���[�9=��1&�%R��T �a 9D[���[h���7]=1+ _4 ����a?�O[¦��1&(+.� 356$�a~��<&(q�q[�ª�<+43�)[
uQ$6�f�;�b���� 32������7.8,#56162����
*M1=�)�X43��<+43<6�l�`�V�}�.1Da�ª�$&�����)(+*��`��,i.���/W�������T _ 3�7 �������$+43<6��[0��<
�~�N�D�7���7¢��   2 E(� �~¡�4+� ��¡�4!IB Z �� ��B
	� Z¡-�)�7 ���¡����� ���B=@ ���;� �=E:��� � �8  � ���;���+¡-�)� IB�N�:4 �H¡-�*�)¡��+�%�)a�5&���8�)�
©+§ 
P­P©¬a�]=56�%4_ �tD�8��©6[

K8K



J3tD�'N
�B[��B[�¥;��<6��/�[D]b(6(+���)���B��<&(V43<&�%2���1&�72%43.�<W2����8��4"<6�g>-.��B2�$6� �=] ��������$+432��)�72�16����[#�;<65616U+ _4p�A$6�)(
u��)��$6<+4H���T O����5&.���2Ta6]�16�81&�%2
tD���8K6[

JL©�«'N
z:[�1D[��o��.+.�R6�=�}�%�7[������%>-.���,g��<&�7�
.�>Q2�$6�DU6162�2����%�&/V56��.6�7�)���%.���*-,i��,#.���/g43<+2������7.�<6<6�)�72%43.�< 4"<q�
S��)�72�.��D��<+S�43��.�<6,i��<P2)[���< �Q�3�$���7�7¢��H  2=E � �`¡�4P����������	7 &¡-�)�7 ��8¡��K�� ���B4�	�� ����)�%�) ���� �� 0� ���N��B�B_�DB
�~�N�D�7�:E*E �   28a�5&�����)�:©¬t 
@©�­&[8�}zoz?z:a¬]�16��1&�A2�tD�8��M6[

JL©6t�N
z:[<1D[&�o��.+.�R@���}�%���'<&( ��[+]�[�1B����,#.�$6�7�)/�[�] 5&�����T _ 3�7 ��7{@2���<&�}4".8<`.�>Q�k2�$&��2o4H�M��� � >��'2Q>�������[
�:<65616U+ _4H�%$6�)(Wus�)��$6<+4H���T ?�Q��5Z.���2)[

JL©�©'N
�B[)¥c[ 9B��2 � a�ª&[ �¬[!zO����������a=1D[�]D[:�W.+.@(\a8��[���[)������R843<&�%R\a���<&(
�B[ ��['ª�$6�7 p(+.8<�[P�X,#5+ 3��,#��<+2%43<6�
�
������$6�B�7.�<&�X4H�%2���<&�7/f56��.82�.@�7.' �[s��< �~�N�D�7�7��¢��   2 E�� �b¡�4+� �2��¡�4 I� & �� ��B 	� &¡-�T�� ���¡��K�8 ���BG@ ���;� �=E:�K� �
�� �� ���;���+¡-�)�!I��3� 4 � ¡-�?�T¡��P�%�)a+5&���8�)�:©+§!��
6©���K6a���16<6�ftD�8��M6[

JL©�K'N 1D[��6[D9=1&��R\[ ) 4P�M@�¡-�*� �)¡��+�}�L� ��� ���;���+¡-�)� E!�� Z¢��	���;���P¡��8¡��K�� Z[��n4_ 3��/�a&�;��9j��.���R\aP�;��a6tD�@§!�6[

JL©�­8N 1D[(�6[ 9=1&��R�a:��[~¥c[ 9=16$6<�a��=[?���)���%16����a:��<&(n�q[ �W.� _>-��[ uQ$6�`�%2���1&�72�16���`.�>
��<m��(+S!��<&�7�)(
S��)�72�.��%4 � ���Q>-.��:5+435Z�7 d43<6��(�56��.6�7�)���%.�����[?�X< � ���;���+¡-�)� @�� �F¡�� �8�}���� Z¢ IQ�8��BC�K�*��¡����� <E�� �8 ����)�%�) ����
� �4" � � @<I � ������a�5&�����)�b§!«���
&§+t)M6[��%z?zoz:a � �72�.8U&���
tD�8��«6[

JL©�M'N
�B[���[h�\����[Wu�$6�f� ���)�72%43S���<6�)���c.�>B������$6�)�D��<&(q(6��2��e56���7>-��2���$qU61 ��������43<q p�'������*������T 3�`�%$&�'���)(
,#��,#.���/0,D1+ 32%4356��.6�7�)���%.��7��[#u��)��$6<+4H���T ��Q��5&.8��2D�:ªP��1�����5&.���2T[��:.&[��@§!«6a��?��<+2����=>-.��
ª�165Z����*
�7.�,#56162%43<6�f�Q�)�A�)������$¤��<&("1=��S��7 3.�56,i��<P2)aZ�:<+43S������}4"2%/0.�>��- _ _43<6.�4H��ah���T/`tD�8�+§P[

JL©��'N
�B[h��[��\����ao�h[ *%��[�����9
a���<&( 1D[h¥c[h�s�)9;�%43��[`�V1+ "2A4"56��.@�7�)���A.��f������$6��(+�)�}4"�8< �7.�<&�}4p(+���7��2%43.�<&��[
��<��~�N�$���7��¢��H  2=E!� �D¡�4P�����6¡�4,IB Z �� ��B�	� &¡-�T�� ���¡����� ���B�@ � �;�<�=E ��� � �� �� � �:���P¡-�T�!IB�N�:4 �H¡-�*�)¡��+�%�)a
5&�����)�:©�M8K�
@©���©¬a���16<6�0tD���+§P[

JL©+§TN 9D[���[\�¤�7]=1+ _4�����[LIB ���B �$E ��E � � � ��� 4P� �¤�������?� �:E��H ��H�C2=4 B � �-���N��B�Bd�$B @ �$EF¡-��� E�[:��$�1 2�$6�)�X4H��a
�:��9 ��.8��R��;<+43S������X432%/�a\�¤�T/`t$�����6[

JL©��'NDª&[?��[Q�043<�[ �������������L�H�T�N���N�:4 � �.�� ��$2����D�T &¡L@��:4P���D�:E&�  
	 ����28�"@��*��B_�"@�4 ���%�7¢=� �����������
� � Bd¡�� ���N�D�7�:E*E:���6E�[h�O$�1 2�$6�)�X4H��a&�;<+43S������X432%/0.�> �l���%$+43<6��2�.�<�a�tD�����6[

K'­



JL©��'NDª&[���[\�e43< �'<&( �¬[¨*���[��Q�����)[;]y2%43,#�)�%27��,#56*-U&���%�)(�������$6���7.8$6������<&�7�f����$6��,#��[=��<��~�N�$���7��¢��H  2=E
� ��¡�4P��������� 	� &¡-�T�� ���¡��K�8 ���B �	�� ����)�%�) ���� �� ��-���N��BKB_�$B �~�N�D�7�:E*E:�H  2
1�3���B657	!IB�N�:4 �H¡-�*�)¡��+�%�)a65&���8�)�
©�K�
@K�©¬a�]=16��1&�%2
tD�8���6[

JLK�«'NDª&[���[6�043<f�'<&(��6[¨*���[+�Q�����)[\]m5&���%>-.���,g��<&�7���7.�,#5&�'�%4H�%.�<#.�>h(843���)�72�.8��/P*-U&�8�%�)(#��<&(i2%43,#�)�%2��',#56*
U&���%�)(g������$6�B�7.�$6������<&�7�D����$6��,#�)��[��X<��~�N�D�7�7��¢��   2 E�� �b¡�4+� ����� ��	� &¡-�T�� ���¡��K�8 ���B7� �� ����)�%�T ��7�!�� 
� ���N��B�B_�DB��~�N�D�7�:E*E:�H  2
1 3���B65 	�IB�N�:4 � ¡-�*�)¡��+�}�Ta+5&�����)�:K�«8M�
@K6t�t8a�]=16��1&�%2
tD����«6[

JLK6t�N���[�rQ[���)��%2����Ta ��[Q��[��o����<+2% 3��/�a�1D[�]�[ ����.����8��aQª&[?��[?¥=����S8��/�a ��[(�6[ 9; "�743<+>-�7 H(+���)a"9D[?��[
�¤�7]=1+ _4�����aBz;[Q]�[Q�V�7 "2�.�<�a	��[o]�[:�;.���2�.�<�a:��<&( �6[-�W�74H����[�uQ$6���}�Q� �Q�)�%�)���7��$ ���'���T _ 3�7 
����.6�7�)���%.��=����.�2�.�2%/P5Z�
|}�;�?K+�?
O��<+2���.6(+1&�72%43.�<W��<&(g]��7��$+432��)�72�16����[Q��<��Q�N�D�7���7¢��   2=EM� ��¡�4P���������
	� &¡-�T�� ���¡��K�8 ���B � ��  �F�T�%�) ��7�L��  � �8�3��BKB_�DB��Q�3�$��� E?E:�   2�a85&�����)�=§���­

&§�§+t�[��%z?z?z;a6]=16��1&�%2
tD�8��M6[

JLK�©'N
��[6�Q1&(+.� 356$W��<&(���[&ª����+�T _ �[	1=/P<&��,C4p�B(+�)�7��<+2����! d4 � �)(�������$6�
�7.�<&�X4H�%2���<&�7/0����$6��,#�)�o>-.��:�V�}�.1
5&�����T _ 3�7 �56��.6�7�)���%.8����[^��<$�Q�3�$���7�7¢��H  2=E&� �W¡�4P� �
��¡�4 IB Z �� ��B 	� &¡-�T�� ���¡��K�8 ���B'@ ���;� �=E:��� � �� 
� ���;���+¡-�)�!I��3� 4 � ¡-�?�T¡��P�%�)a+5&���8�)�:K�­P«�
6K�­6§Pa���16<6�ftD�8��M6[

JLK�K'NB]�[ �6[�ª�,D432�$�[g�~�o��������$6�f�7.�<&�X4H�%2���<&�7/�9Q432�$W�%.'>�2%9:�����D�%16565&.���2
��<&(V1&�X43<6� E7.�<6�D2%43,#�c4H(+��<6*
2%4C)&������I6[ ��< �~�N�D�7�7��¢��   2 E,� ��¡�4P��� ���D� � � � � �:���P¡-�T��� ��� ���+ ����?��¡����� GE"@ ���;� �=E:�K� �Da:5&���8�)�
©�©�
@©�­Za � �72�.�UZ����t$����M6[

JLK�­8NB]�[��6[+ª�,C4"2�$�[��Z43<6�c|�U+ 3.@��RZ�¦�X4 � ����$6.�4H�7�Q>-.��Q�~�?�n������$6�)��[ 	 &(&(& )&�N�� <E:���T¡��K�� GE �� �� ���;���+¡-�)� E�a
�?*�K��+|3�@�?
3t)«��8K�
&t)«+§!M+a+ª���562���,DU&���DtD���@§P[

JLK�M'N
��[�ª�<P/6(+���)[
uo/+5&�f�'����$+432��)�72�16���)��a��%$&�����)(`,i��,#.���/�a���<&(V2�$6�#�7.���.� _ p�'��/�.�>?,#.6(+�)�%2B5&.�2���<P2%4H�T �[
IB & �� ��B��Q�)�D� �D� � ��� ���;���+¡-�)�J@��$�H�T ��7�)a&t�
L©�����
6K6t�§PaZtD�����6[

JLK��'ND��[ 9D[Quh��<6�Z[ �~����$6�`(+�)�X43��<n4"<m2�$6�V2%43��$+2% 3/k�7.�165+ 3�)(m,D1+ "2A4"56��.@�7�)���A.����A/@�%2���,`[m��< I�� 	'�	@
� �� ����)�%�T ��7���~�N�D�7���7¢��   2 E �H�8¡��K�� ���B � � �:���P¡-�T��� ��  �F�T�%�) ��7�)a�5&�'���)�=§)­ �,
&§!M�K6aZtD�+§!�¬[

JLK+§TND��[P��[6uQ$&����R����~�'<&(f��[Z��[Zª�2���9:����2)[�rs43���7�&/.
��c,�1+ 32%4356��.6�7�)���%.8�~9Q.���R@�%27��2%43.�<�[\��< �~�N�$���7��¢��H  2=E
@��*�?�� Z¢�	� &¡-�T�� ���¡����� ���B%� ��  �F�T�%�) ��7� �� .IB�N�:4 �H¡-�*�)¡��+�N��B�E �����<����¡ �:��� �~�N�*2��N��� ���H  2 	 ��  2�� �D2�� E
�� &¢ "��@�T�3�8¡��H  2�@ �$E�¡-��� E�aP5&�'���)�Bt)��­2
�t�§!©6a � �72�.�UZ���)a�tD���@§P[

K8M



JLK��'NB]�[ ��[ ���74H(+��<PU&�'16,`[W] �7.8,#5+4_ "����*������X4H�%2��)(j���8��$6�0�7.�$6������<&�7�`�%.' "162A4".8<q>�.��c,D1+ "2A4"56��.@�7�)���A.�����[
��<��~�N�$���7��¢��H  2=E!� �
¡�4+� ����� � 	7 &¡-�)�7 ��8¡��K�� ���B �	�� ����)�%�) ����L�8  �-���N��B�Bd�$B �~�N�T�:E*E �   28a�5&�����)�Bt)«8©���

t)«�K��6a8]�16�81&�%2
tD���8�6[

JLK��'N
�l[���.� _>���[ � 562%43,D4 � 43<6�l�7.�,#5+4_ 3������>-.����%165Z�����7.�,#56162�������[fus�)��$6<+4p���! ;����5&.���2#�;�}��� 1c�:ª�*��Q*
��©�*�t�t)«8M6a�1=��5&����2�,i��<P2�.�>��?.8,#56162����:ªP��43��<&�7��a\�:<+43S����7�X432}/i.�>��- _ _4"<6.'4p�=��2Q�:��U&�'<&��*%�?$&��,#5&�!4"�8<�a
� �72�.�U&���Ta�tD����©¬[

J¨­P«'NL� [O]�[	�W1+ _>C��<&( ��[ ��[?�o�7 _ �[���[¨,#,i5j*�] ,D1+ 32%43*-,D43<+4�56��.@�7�)���A.��)[m��< �Q�3�$�,5 � ��B�B��<���H Z¡
� ���;���+¡-�)���	�� ����)�%�) ����Ta�5&�����)�=§���M�
&§�§8§PaP�V.�<+2�S!�! "��aZ�:��9 �'�����%��/�a�1=�)�7��,�UZ���
tD�+§�©6[

J¨­&t�NL� [8��[T����<�a 1D[$��[!��[�����<�a+��<&(�9D[¨*%ª&[�r61�[<1B��27���7.�$6������<&�7�:56��.�U+ 3��, 43<f�=,D1+ 32%4H������$6�:�%/6�%2���,V[
	'&(&%&*)&�N�� <E:���T¡��K�� GE!�� �� ���;���+¡-�)� E�a\�?*�K�­6|7t��?
LM��,
@��M6a����'<P1&����/¤tD�8��M6[

K8�



rs43��16���ft�
 1B��<&�7��*-$&�T _ �2%/P5Z�
������$+4"2��)�72�16���

rs43��16����©<
o�?.�<&(8432%43.�<&��>-.����#�%27�T 3�
������$6�
�8���7�)���

rs43��16���lKG
mªP��,#5+ 3�W56��.8������, �%���8,#��<P209;$+4p��$ �7{6$+43U+4"27��2�$6�V43<6�7����43��<&��4"����.�>D2�$6�W56����S843.�1&����56*
56��.P�8��$6�)�

rs43��16���0­�
i]�<6.82�$6���#����,#5+ 3�056��.��8����, �A����,#��<+2C�A$6.!9�4"<6��2�$6�g43<6�7����43��<&��43�)�g.�>�2�$6�f56����S843.�1&�g��56*
56��.P�8��$6�)�

rs43��16����M<
 � S������! d ���5656��.P����$02�.f���'562�16���=43<P2�����*-��5&.6��$e 3.@���T _432%43�)�

rs4"�816���
�<
Q�?.8<P2��!4"<6,i��<P2:���7 p�'2%43.�<&�%$+435W��,#.�<6�DS!�'�%43.�1&�:9;�%432��B,f����R843<6�P�

rs43��16���D§ 
Q�o.�<P27�T43<6,#��<P2Q���7 H��2A4".8<&�%$+435 �',#.�<6�#S����%43.�1&�Q���)�8(g,f����R843<6�P�

rs43��16���
�<
?z¦{¬�',#5+ 3�B.�>¦5&�'���T _ 3�7 ¦56��.8������,�9Q432�$V<6�)�%2��)(g5&�����! d 3�7 _4H�%,

rs4"�816��� �<
 � S����7�T _ ¦�%2���1&�72�16���B.�>?�X43,�1+ H��2A4".8<`56��.6�7�)���

rs43��16���#t)«<
��Q�)�A2���1&�72�16�%43<6�g.�>?�#�%���%4H�T h2������7�=43<P2�.f�D5&�����! d 3�7 �2������7�

rs43��16���#t8t�
?z�{&��,#5+ 3�c.�>¦��<0.�562A4",C4p�A2%4H�
,g����R84"<6�

rs43��16���#t)©<
��e4p���:���'2%43.
>-.����}4"<6�' "�c56��.6�7�)���%.������8�%�B>-.��Q2�$6�B.��%43��43<&�T Q|�16< )6 32������)(Z�Q2����8�7�)�

rs43��16���#t)K<
��e4p���:���'2%43.
>-.����}4"<6�' "�c56��.6�7�)���%.������8�%�B>-.��Q2�$6�L)6 32������)(02����8�7�)�

rs43��16���ft�­�
��04H��������2%43.D>-.��Q2�$6� E:� � �'565+ d4H����2A4".8<0>-.�� �0 £�#�'<&(��0 £��­e|�56����*�����$6�)(+1+ _4"<6�`���8�%���

rs43��16���#t)MG
¦�e4H���Q�7��2%43.D>-.��Q2�$6��E � � �'565+ d4H����2A4".8<`>-.��%�0 £�#�'<&( �0 £��­0|��7��<&(+.�,#*�����$6�)(+1+ _43<6�������A���

rs4"�816���ft)�G
¦�e4H���Q�7��2%43.D>-.��Q2�$6��2�����E*E:��565+ _4p���'2%43.�<0>-.�� �0 £�i��<&(��0 £�'­0|�56����*�����$6�)(+1+ _43<6�`�����%���

rs43��16����t�§ 
#�e4H���c����2%43.V>-.��
2�$6�"2�����E*E
��565+ _4p���'2%43.�<j>-.�� �  �����<&(��  ���­W|X����<&(+.�,#*�����$6�)(+1+ _43<6�
�����%���

K@§



rs4"�816���ft)�G
¦u�$6�B���)(+1&�72%43.�<W�%2���50.�>�2�$6���B��1&���Qz� _43,D43<&��2%43.�<l�! "�8.��%432�$6,

rs43��16���#tD�<
O]b���7�)���A�)�Q2�.#,f�'2��%4_{ � U+/f56��.6�7�)���%.8���Q9:$6��<0�0 £K

rs43��16���f©8«<
!1=�)�7.�,i5&.P�X432%43.�<�.�>~,D4H���A�)�
�����7.��7(84"<6�V2�.`�%.�16�7�7�)�;>�.����  �i>-.��B2�$6�D16< )6 32������)(��P��1&���
2����8�7�D|�56����*�����$6�)(Z�

rs43��16���
©¬t�
�]b���7�)���A�)�:2�.i,f��2��%4_{�� U+/g56��.@�7�)���%.����o43<V2�$6�
(6��2���*��7.8<&�%2����T43<6�)(V����$6�)(+1+ 3�

rs43��16����©�©<
��e4H���Q���'2%43.D>�.8� �0 £�c>-.��:2�$6�B16< )6 32������)(`�+��1&���o2������7�D|%(6��2���*��7.�<&�A2����T43<6�)(0����$6�)(Z�

rs4"�816���
©�K<
��:��2A4".+�:.�>�9:�%432���*-U&����R02����T�0�:2�.i9:�%432���*-2�$6��.816��$02����T�0�:9:$6��<0�� t

rs43��16����©'­�
��:��2%43.P�Q.'>¦9:�A4"2���*-U&����Rg2����!���=2�.D9:�%432���*-2�$6��.�16��$`2����T���;9:$6��<��0 m��­

K8�



����� � ���
	 ����
�������� ��������� 	 ��� ����� ���
	 ����
�������� ���! #"#$�
��� ���� % &��'	  #(
)*�
� � ��(���$�
�+

��$�(���",��
���� �����-( ��� � �����-( �����-( �����
( �����-( �����-(
��
��.$�",�����/��
! 0���"1	 ����� � 0���"1	 ����� ��2 0���"1	 ����� � 0���"1	 ����� � "#�-�.��"#��
���� "#�-�.��"#��
���� 3���+��

��
�	  
��$�(���",��
����
��
��.$�",�����/��
! 3�"#$�+�"#��� � $�$�3 ��$��/3��� #�� .	 $�
���� ��34$!�
( 3�"#$�+�",��� 3�"#$�+�"#��� ��"1	  1	 �����

"#��+�	 $�
 ��
!	  65-�*768 2,���� .	 $�

���� #���� 1	 $�
9$�� ��2#��+��'$�� � $�$�3�
���2# 1	 
�+ ��2#��+��'$�� ��2#��+��:$�� ���� ,��;.����34��
�����
����
	 
���$�(���"#��
���� 0���".	 ���!� ��2 2# #"#���� #��"#� 0���".	 ���!� ��2 0���"1	 ����� ��2 <=$�>?��
���� �!21	 2 ��
���� ��21	 2 @�A�B

	 
��C3�"#$�+�"#��� 	 
��/��7 	 
���
���34$!�
(
	 
�0���� 	 ���� 1	D$�
 E �4$���
�����"#� �4$���
�����",� �4$���
�����"#� �4$���
�����"#� ��
��9$��*��".	  .	 �����

3�� ����� E $���� $!$�3�2 $��F�*76G 2 $��*��34$!�-(�2 $���� $!$�3�2 �����-(9",�
�.��",��
���� 2,���� .	 $�

+�� $������*�/���/$�"#� >�"1	  #�-;. #(�"#$���+�(
��34���� ,�H34$�� 	 ��� E >�"1	  #�-;. #(�"#$���+�( >F"1	  #�
;.�����-I >�".	  ,�
;.�����-I >F"1	  #�
;. #(�"#$���+�( (��!��"1	 ��2#�-(����C� 51�.$�"F2#(���"#���

>�"1	  #���!� �'���� #�!8

u���U+ 3�ft�
Qª�16,#,f����/f.�>��%.�>-2}9:������*������X4H�%2��)(g������$6���7.�$6������<&�7������$6��,#�)��[

uo/+5&�
.'>¦9:�A4"2�� ]B�72%43.�<&�;2���R���<
�����������D�N�� �B � % %  £« �;5�(6��2��
2�$6�B�� 3.�U&�! h,#��,#.���/�[

9:�A4"2�� 

��%  £«

4_> �:BC�$��� ��� E*E?2�$6��<`�T _ 3.6����2����C<6��9 ������$6�B��<+2���/�[
�Q�3�8�D��E ���� ���B % %  £« �;5�(6��2��
U&.82�$02�$6�
�' ".8U&�T �,#��,#.���/0��<&(g2�$6�D�����%.6��4H��2��)(0������$6�
��<+2���/�[
9:�A4"2�� 
 % 
 �  �!�#%$&!�'

��%  t � � � t
4_> � �  t�2�$6��<�� � � «
4_> �:BC�$��� ��� E*E?2�$6��<`�T _ 3.6����2����C<6��9 ������$6�B��<+2���/�[

)(� �D�:E�¡����;�@�7¢ % %  t �;5�(6��2��
U&.82�$02�$6�
�' ".8U&�T �,#��,#.���/0��<&(g2�$6�D�����%.6��4H��2��)(0������$6�
��<+2���/�[
9:�A4"2�� 
 % 
 �  !�#%$&!�' ,kt

��%  £« � � � «
4_> � �  t�2�$6��<�� � � «

)(� �D�:E�¡����;�@�7¢ 4_> �:BC�$��� ��� E*E?2�$6��<`�T _ 3.6����2����C<6��9 ������$6�B��<+2���/�[

 % %  t �;5�(6��2��
U&.82�$02�$6�
�' ".8U&�T �,#��,#.���/0��<&(g2�$6�D�����%.6��4H��2��)(0������$6�
��<+2���/�[

�\�3�8�D��E ���� ���B 
 % 
 �  �!�#%$&!�' ,kt
9:�A4"2�� ��%  t � � � t

4_> � �  t�2�$6��<�� � � «

u���U+ 3��©<
�]B�72%43.�<&�Q27��R���<g>-.����c9:�%432��c2�.#�#�%$&�����)(gS����%4H��U+ 3�

K��



uo/+5&�B.�>����)��( ]B�72%43.�<&�;2���R���<
�H� %�,  £«

 ".+��(843<6� 
 r¬��2���$0>-��.�,�2�$6�B�� 3.�U&�T �,#��,#.���/0��<&(0(+.#<6.82�������$6��[
� ,  m«

�~�N���$� E:���� ���B %�,  £« r¬��2���$0>-��.�,�2�$6�B�� 3.�U&�T �,#��,#.���/0��<&(i 3.P��(�43<P2�.i2�$6�
������$6��[
 ".+��(843<6� % 
 �  �!�#%$&!�'


 ��� � t
4_> ���  �tB2�$6��<�� � � «

� ,  t
)(� �D�:E�¡����;�@�7¢ %�,  t r¬��2���$0>-��.�,�2�$6�B�� 3.�U&�T �,#��,#.���/0��<&(i 3.P��(�43<P2�.i2�$6�
������$6��[
 ".+��(843<6� 4_> �-	$ yt�2�$6��< % 
 �  �!�#%$&!�' ,£t


 �7 H�%� % 
 �  �!�#($&!�'
��� � «

� ,  m« 4_> ���  �tB2�$6��<�� � � «
)(� �D�:E�¡����;�@�7¢ %�,  t r¬��2���$0>-��.�,�2�$6�B�� 3.�U&�T �,#��,#.���/0��<&(i 3.P��(�43<P2�.i2�$6�
������$6��[


 4_> �-	$ yt�2�$6��< % 
 �  �!�#%$&!�' ,£t
���N���$� E:���� ���B 
 �7 H�%� % 
 �  �!�#($&!�'
 ".+��(843<6� ��� � t

� ,  t 4_> ���  �tB2�$6��<�� � � «

uh��U+ 3�DK<
�]B�72%43.�<&�Q2���R8��<0.�<`�D���)��(g,C4p���

­+«



];2�2��%43U6162�� ªP��$6��,#� uo/P5Z�B.�> �?.�<&(8432%43.�<
���7>�������<&�7�

 ��� <�N�?��� 4P�*� �:B_� ����� � �:����$6��,#� ���)��( 4_>O��<&(e.�<+ 3/g4_>¦2�$6�D�����%.6��4H��2��)(gS����%4H��U+ 3�

 4H�Q���7>-������<&�7�)(VUP/g,#.����B2�$&��<0.�<6�

9:�%432�� 56��.6�7�)���o43<`2�$6�c��5&.6��$V2�.D9:$+4H��$e432�UZ�7 ".8<6�P�
��<&(0��2Q 3�)���A2:.�<6�B.�>�2�$6�)�%�c���7>�������<&�7�)�o4H���
9:�%432��

�D�����8� �$� �?$6��.8<6� 
 ���)��( �T>-2����Q2�$6���7.������)�%5&.8<&(84"<6�i 3.@���'2%43.�<04H�Q9:�A4"2�2���<
�%�*��¢ ���74H(+��<+U&��16, � � ,#.����B2�$&��<02%9Q4H�7�=4"<�(84���������<P2:��5Z.@��$&�

����$6��,#�
�*���:4+�:� �?$6��.8<6� 
 ���)��( 4_>O��<&(e.�<+ 3/g4_>h432;4p��<6.�2 �D���������$�}�%�?�8¢
�%�*��¢ ���74H(+��<+U&��16, � �

����$6��,#�
¡�� �D�:E�¡����;�@�7¢=� 2%43,#�)�%27��,#56*-U&���%�)( 9:�%432�� 4_>O��<&(e.�<+ 3/g4_>h432=$&���Q<6.f�%1&���7���)(843<6�09:�A4"2��

���*�H¡-� ����$6��,#� 2�.D2�$6������,#�= 3.@���'2%43.�<g43<¤2�$6�
����,#�B��5Z.@��$
���N���D��E ���� ���B � 2%43,#�)�%27��,#56*-U&���%�)( 9:�%432�� 4_>O��<&(e.�<+ 3/g4_>¦2�$6�����B4H�:��2Q 3�)���A2:.�<6�

���*�H¡-� ����$6��,#� �%1&���7���)(843<6�0���)��(g���7>-������<&�7�c2�.D2�$6�����',#�
 3.@����2A4".8<043<`2�$6�
����,#�=43<&�%2���<&�7�

¡�� �D�:E�¡����;�@�7¢=� 2%43,#�)�%27��,#56*-U&���%�)( ���)��( 4_>O��<&(e.�<+ 3/g4_>h432=$&���Q<6.#56���)�7�)(843<6�09:�A4"2��
�%�*��¢ ����$6��,#� 2�.D2�$6������,#�= 3.@���'2%43.�<g43<¤2�$6�
����,#�B��5Z.@��$

���N���D��E ���� ���B � 2%43,#�)�%27��,#56*-U&���%�)( ���)��( 4_>O��<&(e.�<+ 3/g4_>¦2�$6�����B4H�:��2Q 3�)���A2:.�<6�
�%�*��¢ ����$6��,#� 56���)�7�)(843<6�f���7>�������<&�7�c2�.#2�$6�
����,#�

 3.@����2A4".8<043<`2�$6�
����,#�=43<&�%2���<&�7�
¡�� �D�:E�¡����;�@�7¢=� 2%43,#�)�%27��,#56*-U&���%�)( ���)��( 4_>O��<&(e.�<+ 3/g4_>h432=$&���Q<6.f�%1&���7���)(843<6�09:�A4"2��

BC�D��¢��H  2 ����$6��,#� 2�.D2�$6������,#�= 3.@���'2%43.�<g43<¤2�$6�
����,#�B��5Z.@��$
���N���D��E ���� ���B � 2%43,#�)�%27��,#56*-U&���%�)( ���)��( 4_>O��<&(e.�<+ 3/g4_>¦2�$6�����B4H�:��2Q 3�)���A2:.�<6�
BC�D��¢��H  2 ����$6��,#� �%1&���7���)(843<6�0���)��(g���7>-������<&�7�c2�.D2�$6�����',#�

 3.@����2A4".8<043<`2�$6�
����,#�=43<&�%2���<&�7�
���%�?�7��¢8��¢ 2%43,#�)�%27��,#56*-U&���%�)( ���)��( 4_>O��<&(e.�<+ 3/g4_>¦2�$6�����B4H�:��2Q 3�)���A2:.�<6�

����$6��,#� 56���)�7�)(843<6�f9;�%432��
���7>-������<&�7�c2�.D2�$6�
����,#�
 3.@����2A4".8<043<`2�$6�
����,#�B��5&.6��$

�� ".6��R 2%43,#�)�%27��,#56*-U&���%�)( ���)��(�
 2�$6�BS!�! "16�c.�>�2�$6�������%.@��4H��2��)(0�� ".6��R
S��T 316� ����$6��,#� 9:�%432�� ������4H�%2����

uh��U+ 3�c­�
��?���%43.�1&�;��2�2��%43U6162��)��.�>¦���7>�������<&�7�)�;�P��2�$6�����)(0(+16�%43<6�f2�$6�B56����56��.6�7�)���X43<6�`�%2���5

­Zt



�������',#��2���� �;��<6���
ªP��$6��,#� �\����a��o$6��.�<6�f��<&( ���74p(+��<+U&��16,`aZ2%43,#�)�%27��,#56*-U&���%�)(

ªP��$6�)(+1+ _43<6�`5Z.� _4p�7/ 56����*�����$6�)(\a&���'<&(+.�,#*�����$6�)(
u��7���7�B2%/P5Z� 16< )6 32������)(\aG)6 32������)(

�;16,DU&���=.�>¦56��.@�7�)���A.���� t
©D­#�0t)�#K8©#��­
�Q����$6�
�}4 � �)� t)©��#©8M��DM6t)©gt�9y© 9 ­ 9��D9�t)�D9�K8©D9

�
|-43< )&<+432��#������$6���:|-43<09Q.���(6�7�

uh�'U+ "�DM<
��:��<6���c.�>�5&������,#��2������o1&�%�)(g43<`2�$6�B�7{@5Z���%43,#��<P2

E:� � 2�����E*E � 4P¢
16< )6 32������)( )6 32������)( 16< )6 32������)( )6 32������)( 16< )6 32������)( )6 "2������)(

<+16,DU&���=.�>h43<&�%2���1&�72%43.�<&� § �+§!K�K8�+§ § �@§!K�K��+§ ­�­6§!«8M+§)­ ­8­6§!«�M+§T­ M���©8��«�K�� M���©���«8K��
2������7�)(

<+16,DU&���:.'>O(6��27� M���M�M��@§�§ t)«¬t)«�«6t�­ ­�­ ���8©�«�M ©8«����6t�­+� t)M�K8K�M���© �'­P«������
���7>-������<&�7�)�

<+16,DU&���=.�>¦(6��27�D���)��(6� ­P�����+§+t)K §!«+§!©��8M K+§ ��©8©+§!� t�­P«���«+§8§ t)«��@§!©�©6t K8��M�K+§!�
<P16,DU&���;.�>O(6�'2��c9:�%432��)� t�t)���6tT��­ K�«�©+§!©�� §!«8����©+§ ���+§!«@§Pt ­�­P��K'­&t ©8M�M�M��6t
<+16,DU&���:.'>��%�N2���EF¡-�T�3� �:B_� K�����©�­+©�� « ©�K���K8©�«6t « §!«6t)�'­PK «

���)��(6�
<+16,DU&���:.'>��%�N2���EF¡-�T�3� �:B_� ����K'­PK�M « tD���8M�� « tD��«+§�M�« «

9:�%432��)�
<+16,DU&���=.�>¦��5Z.@��$&� ��­&t ��­Zt ©�«6t ©8«6t §!K §�K
<+16,DU&���:.�>?�%���%4H�T t)�6t t)�¬t t)«�© tT«�© t)K tTK

��5&.6��$&�
<P16,DUZ���:.�>�5&�����T _ 3�7 ­P��« ­P�8« ��� ��� ��« �8«

��5&.6��$&�
<P16,DUZ���:.�>�5&�����T _ 3�7 ©8��«���« ©8��«���« M8«�­ � M�«�­ � ©6t�­P� ©6t�­P�

4"<&�A2���<&�7�)�
<+16,�UZ����.'>O�%$&�'���)( t)M��8K�M6t t)M���K�M¬t ���@§!«�«�� ���+§!«8«�� tD��������� t$���������

S��T 316�)�
<+16,DU&���:.�>����)��(6� M6t)�'­P��© ©�M6t)M���� ©�K�M�­8­P«�© tTK�K��6t)M'­ §!«�­PM8��­ K8��M6tD��M
2�.g�%$&�����)(gS��T 316�)�

uh��U+ 3�D�<
o�?$&�������72����%4H�%2%4H���Q.�>�2�$6�B2����8�7�)�Q1&�%�)(g43<V2�$6�B�7{@5Z���%43,#��<+2

­+©


